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E4)] BERH fd 10/30-11/1 f*’, é e
BT | B 0 7 ikles
ERCPHE) =28 JAL _|[JTA/RAC| HNDOKA|OKAMMY| 26,700 63% | H:27,400, H:25500
B JTA/RAC| JAL _|MMYOKA| OKAHND | 26,000 64% 126,400, H:28,400
FR(CPHE)=HE |[RRCAA) JAL _|JTA/RAC| HNDOKA | OKAISG 27,400 65% | H:27,500
JAL JTA | HNDKIX | KIXISG 34,000 61% | H:34,600, H:33,700
REHR [ JTA/RAC| JAL | ISGOKA | OKAHND| 27,700 65% | B.28,000. H:28,700
KR () =% B | KR (1) [ JAL JAL | ITMHND [HNDMMB| 25900 67% | H:25,700, H:27,100
JAL JAL | ITMSPK [SPKMMB| 21,000 73% | H:26,100
ESSAES JAL JAL | MMBHND| HNDITM 26,500 66% | H:26,200, H:27,100
JAL JAL | MMBSPK]| SPKITM 21,000 73% A
KB (B#8) =i Al | KR (B ) % JAL JAL | KIXHND [HNDMMB| 24,600 69% B
ESES JAL JAL _[MMBHND| HNDKIX 24,400 69% A
KR () =he)Il [ KBR () % JAL JAL | ITMHND | HNDAKJ 25,700 66% | H:
JAL JAL | AKJHND | HNDITM 25,400 67% | H
K (B8d8) =H)Il JAL JAL | KIXHND | HNDAKJ | 23,000 70% |8
JAL JAL | AKJHND | HNDKIX 24,200 68% | H-
KR (7 =8I JAL JAL | ITMHND | HNDKUH| 26,100 66% |HB:
JAL JAL | KUHHND | HNDITM 24,800 67% |AB:
KPR (B7E) =8I JAL JAL | KIXHND | HNDKUH| 23,600 69% |H:
JAL JAL | KUHHND | HNDKIX 24,400 68% | H-
KR () =HI5 JAL JAL | ITMHND [HNDOBO| 26,800 64% |B:
JAL JAL | OBOHND| HNDITM 25,500 66% | HB:
KR (B#8) =HI5 JAL JAL | KIXHND [HNDOBO| 22,600 70% |B:
JAL JAL | OBOHND| HNDKIX 23,100 69% A
KR (77} =EfE JAL JAL | ITMHND [ HNDHKD| 24,500 63% | H:22,900, H:24,600
JAL JAL | HKDHND | HNDITM 25,800 61% | H.25,700. H:26,500
PNACGEIEET JAL JAL | KIXHND [ HNDHKD | 23,300 65% | B:22,200, H:23,900
JAL JAL | HKDHND | HNDKIX 24,500 63% | H.26,400
KR () ==iR JAL JAL | ITMHND [ HNDMSJ| 23,900 63% | H:22,400, H:22,100
JAL JAL | MSJHND | HNDITM 23,000 64% | H:19,600
K (B8) ==iR JAL JAL | KIXHND [HNDMSJ| 19,700 69% | H:21,600, H:21,400
JAL JAL | MSJHND | HNDKIX 21,800 66% | H:19,500
K () =F21% JAL JAL | ITMIZO [ 1ZOOKI 15,900 59% |H:15,500
JAL JAL | OKIZO | 1ZOITM 16,100 59%
KR () =¥ 8B JAL JAL | ITMKOJ | KOJTNE 23,600 52%
JAL JAL | TNEKOJ | KOJITM 23,300 52% :
KR (B =24 JAL _[JTA/RAC[ ITMOKA [OKAMMY| 23,400 63% 3,300
JTA/RAC|  JAL |MMYOKA| OKAITM 24,600 61% 125,000, H:27,600
KR (B =28 JTA [JTA/RAC| KIXOKA [OKAMMY| 31,800 50%
JTA/RAC|  JTA |MMYOKA| OKAKIX 30,400 52% | H:31,200
KR (D) =F1E JAL _|JTA/RAC| ITMOKA | OKAISG 25,300 64% | H:25.800
JTA/RAC|  JAL | ISGOKA | OKAITM 25,100 64%
K (B8d8) =R1E JTA _[JTA/RAC| KIXOKA | OKAISG 28,500 60%
JTA/RAC|  JTA | ISGOKA | OKAKIX 31,000 56%
2 HE (hEf) =&l JAL JAL | NGOSPK|SPKMMB| 20,200 72%
Al [ARETFR | JAL JAL | MMBSPK| SPKNGO| 20,400 72%
Z2EE (D) =25 [2aEGH X[ PEGFT)| JTA [IJTA/RAC[NGOOKA|OKAMMY| 32,300 53%
BEH%E JTA/RAC| JTA |MMYOKA|OKANGO| 34,300 51%
ZEE(PE) =HE4HE (PR JTA _[JTA/RAC|NGOOKA| OKAISG 30,300 60%
aiEE | JTA/RAC| JTA | ISGOKA |OKANGO| 35,400 53%
ALIE BT ) = /MR [ 4LIR T 2%) % 2 JAL JAL | SPKHND [HNDKMQ| 24,900 64%
IMAFE JAL JAL _[KMQHND [ HNDSPK [ 24,200 65%
AL GBT %) = ) L [ LR G T %) % 2 JAL JAL | SPKHND [ HNDOKJ | 32,200 59%
FE L% JAL JAL | OKJHND [ HNDSPK | 31,400 60%
ALIE BT %) =[5 8 | 4L0R (G T %) % [ R JAL JAL | SPKHND | HNDHIJ 33,600 58%
L% JAL JAL | HIJHND | HNDSPK| 33,600 58%
AR (BT =IO T ALIE G T l) % JAL JAL | SPKHND | HNDUBJ| 29,700 65% | H:31,500, H:33,000
WA FERE JAL JAL | UBJHND | HNDSPK | 29,400 65% | A:30,300. H:30,600
ALIRE BT Fm) = HE LR FTR) %[ JAL JAL | SPKHND | HNDIZO 31,500 59%
HER = JAL JAL [ IZOHND [ HNDSPK| 31,500 59%
AL BT %) = K5 [HLIR T %) %2 JAL JAL | SPKHND | HNDOIT 33,000 61% |H:32,400, B
AR%E JAL JAL | OITHND | HNDSPK| 33,000 61% | A.33,400.
ALIE BT F %) = R LR G T 2%) % 2 JAL JAL | SPKHND [ HNDNGS| 34,700 61% | H:35500,
RIGS JAL JAL | NGSHND | HNDSPK | 33,000 63% | A:34,300.
ALIE BT %) = REA LR G T %) %[ 2 JAL JAL | SPKHND [ HNDKMJ| 32,900 62% | F:33,300,
A% JAL JAL | KMJHND | HNDSPK | 32,700 62% | A.31,800.
ALIR BT %) = B LR G T %) % 2 JAL JAL | SPKHND | HNDKMI | 32,600 62% | H:31,700,
LS JAL JAL | KMIHND | HNDSPK| 30,700 65% | B:29,800.
HIEFFH) =ERS ARG TR R JAL JAL | SPKHND | HNDKOJ| 33,800 62% | H:33,000,
EREXE JAL JAL | KOJHND [ HNDSPK | 32,300 64% | B:33,400.
HLIRGRTR) =4 (BE) | ALIE (BT F5%) % [ JAL JAL | SPKHND [ HNDOKA | 34,500 62% |B:
JAL JTA | SPKFUK | FUKOKA| 32,100 67% | H
EEAE BT JAL JAL | OKAHND [ HNDSPK 32,200 65% |B:
x JTA JAL | OKAKIX | KIXSPK 31,200 67% | B-
JTA JAL | OKAFUK | FUKSPK | 32,100 67% |A-
IR EFH TR =FEEFTD R[S JAL JAL | SPKHND | HNDISG 43,800 62% | H:
AEE JAL JAL | ISGHND | HNDSPK | 43,800 62% |A-
ke =% &5l wEX [Em JAL JAL | FUKHND [HNDMMB| 33,800 65% | A- H:36,600
JAL JAL | FUKSPK [ SPKMMB| 23,100 74% |A:
ESES JAL JAL _|MMBHND| HNDFUK | 33,300 65% A
JAL JAL | MMBSPK| SPKFUK | 21,800 75% |A:
EEES ] FEEES JAL JAL | FUKHND | HNDAKJ | 31,800 66% | A-
ENIE:S JAL JAL | AKJHND [ HNDFUK | 31,800 66% | H:
[T FEEES JAL JAL | FUKHND | HNDKUH| 34,000 64% | A-
SR 3 JAL JAL | KUHHND [ HNDFUK | 30,500 67% |A:
B ="%I5 FERES JAL JAL | FUKHND [HNDOBO| 34,200 63% |H:
HILEE JAL JAL | OBOHND| HNDFUK| 31,800 66% |H-
R F=EES JAL JAL | FUKHND [ HNDHKD [ 31,400 63% |H:
JAL JAL | FUKITM | ITMHKD 21,400 71% 8-
HEER JAL JAL | HKDHND | HNDFUK | 31,100 63% A H:35,200
JAL JAL | HKDITM | ITMFUK 23,200 69% |H
EE=F% EEEES JAL JAL | FUKHND [ HNDAOJ| 23,000 72%
JAL JAL | FUKITM | ITMAOJ 20,500 72%
ERE JAL JAL | AOJHND | HNDFUK | 23,000 72%
JAL JAL | AOJITM | ITMFUK 20,500 72%




=kl )| uAL JAL | FUKHND | HNDMSJ| 21,000 74% |A:
[ JAL JAL | MSJUHND [ HNDFUK | 21,000 74% B
)| JAL JAL | MSJITM [ ITMFUK 21,800 70% |H
= =% [ JAL JAL | FUKHND [ HNDAXT [ 31,700 58% | A- . B:28,000
) JAL JAL | AXTHND [ HNDFUK | 31,200 50% |HB: . H:28,200
[ JAL JAL [ AXTITM [ ITMFUK 23,300 66% | H-
&=Lk wER  |[ERCEE)| JAL JAL | FUKHND | HNDGAJ 24,800 62% B . B:27,600
ABR (D[ JAL JAL [ FUKITM [ ITMGAJ 25,800 61% |A-
I FRECRE) [ JAL JAL | GAJHND | HNDFUK | 25,900 61% [AB: . H:24,300
R (FFH | JAL JAL [ GAJITM [ ITMFUK 25,200 62% A
ke = /M fakE 5 RCHE)|  JAL JAL | FUKHND [HNDKMQ| 25,900 64% | H:25,800, H:27,200
IMRFE RCRE)|  JAL JAL _|KMQHND [ HNDFUK [ 27,200 62% | H:.27,000
EE==4 EER  [PEGBE)| JTA [JTA/RAC| FUKOKA [OKAMMY| 26,800 52%
Eo%  [P#8(R%) [JTA/RAC] JTA [MMYOKA[ OKAFUK 26,800 52%
EE=H1E =% [FEGBEM) | JTA [JTA/RAC| FUKOKA | OKAISG 27,000 57%
GiE% |48 (RE) [JTA/RAC| JTA | ISGOKA | OKAFUK| 27,100 57%
ESS TRV f RCRE) [ JAL JAL | MMBHND|HNDKMQ| 23,400 70%
)| JAL JAL _|KMQHND [HNDMMB| 24,200 69%
iR =Rl V[ JAL JAL _|MMBHND| HNDOKJ| 29,600 66%
[ JAL JAL | OKJHND [HNDMMB| 31,400 64%
ESCRIRDNCY ) JAL JAL _|MMBHND| HNDHIJ 32,500 63%
[ JAL JAL | HIUHND [HNDMMB| 33,300 62% | H
iRl =HE ) JAL JAL _|MMBHND] HNDIZO 32,200 63% |H: . H:34,400
[ JAL JAL [ IZOHND [HNDMMB| 33,800 61% |A- . H:36,300
iR =#l ) JAL JAL _|MMBHND|HNDMYJ| 34,700 62% | H
[ JAL JAL [ MYJHND [HNDMMB| 35,600 61% | H
TR =i ) JAL JAL _|MMBHND]| HNDISG | 44,100 64% |- . H:46,600
[ JAL JAL [ ISGHND [HNDMMB| 44,900 64% | B.45,000. H:47,300
FEI=/1Mg Y[ JAL JAL | AKJHND [HNDKMQ| 23,200 69% |H
)| JAL JAL _|KMQHND [ HNDAKJ [ 22,600 70% B
Bl =it EE ) JAL JAL | AKJHND [HNDSHM| 24,400 71% 8-
[ JAL JAL [ SHMHND [ HNDAKJ [ 31,000 63% |H:
JENN=FE0 Y[ JAL JAL | AKJHND [ HNDOKJ| 29,500 66% | H
[ JAL JAL | OKJHND [ HNDAKJ [ 29,800 65% | H
TBINI=HZE V[ JAL JAL | AKJHND | HNDIZO 29,000 66% | H-
[ JAL JAL | IZOHND [ HNDAKJ [ 32,700 61% |H:
JENI=4210 Y[ JAL JAL | AKJHND [ HNDMYJ| 34,500 61% [H:
[ JAL JAL [ MYJHND [ HNDAKJ [ 34,400 61% |H:
JBIN=F1E ) JAL JAL | AKJHND | HNDISG | 43,900 64% |H-
[ JAL JAL | ISGHND [ HNDAKJ [ 43,300 64% |B:
FIER =/ ) JAL JAL | KUHHND [HNDKMQ| 23,400 69% |H
)| JAL JAL _[KMQHND [ HNDKUH| 23,600 69% | H-
SIEE =m0 ) JAL JAL | KUHHND [ HNDOKJ| 29,600 65%
[ JAL JAL | OKJHND [ HNDKUH| 30,800 64% | H.31,700
SR =158 ) JAL JAL | KUHHND | HNDHIJ 32,500 62% 2,700
[ JAL JAL | HIJHND [HNDKUH| 32,700 62% | H:33,600
FIEE=HE ) JAL JAL | KUHHND | HNDIZO 30,500 63% | H:30,600, H:33,000
[ JAL JAL [ IZOHND [ HNDKUH| 34,000 59% | A.34,200. H:33,800
SgE=#x0 V[ JAL JAL | KUHHND [ HNDMYJ| 34,600 60% |H-
[ JAL JAL [ MYJHND [ HNDKUH| 35,700 50% |H:
SR =518 V[ JAL JAL | KUHHND | HNDISG | 44,100 64% |B-
[ JAL JAL | ISGHND [ HNDKUH| 43,900 64% | B:
IR =/ ) JAL JAL | OBOHND|HNDKMQ| 22,400 70% [A:
[ JAL JAL _|KMQHND[HNDOBO| 23,700 68% | H:
IR =R ) JAL JAL | OBOHND| HNDOKJ| 29,600 65% | A
[ JAL JAL | OKJHND [HNDOBO| 30,900 63% |H:
wh=HE ) JAL JAL [ OBOHND| HNDIZO 30,700 63% |HB:
[ JAL JAL [ IZOHND [HNDOBO| 34,100 5% |H:
HIL=H#0 ) JAL JAL | OBOHND | HNDMYJ 34,200 61% [H:
[ JAL JAL [ MYJHND [HNDOBO| 35,800 59% |H:
HIL=Fh18 V[ JAL JAL | OBOHND| HNDISG | 42,800 64% |B-
[ JAL JAL | ISGHND [HNDOBO| 42,200 65% | HB:
EEE=/Ma V[ JAL JAL | HKDHND [HNDKMQ| 23,500 64% A
FME) [ JAL JAL _[KMQHND [ HNDHKD [ 22,900 65% B H:23,700
EfE=Ml S B)| JAL JAL | HKDHND | HNDOKJ 29,900 61% [H:
] LLI 58 RCRE)| JAL JAL | OKJHND [ HNDHKD| 30,100 60% |A- H:30,500
HE=IL8 EE FCRE) | JAL JAL | HKDHND | HNDHIJ 32,600 58% |H:
LB% RCAE)|[ JAL JAL | HIJHND | HNDHKD| 32,000 58% | B H:32,400
HE=HE EES FCRE)|[  JAL JAL | HKDHND | HNDIZO 29,300 61% |H
R (FFH | JAL JAL [ HKDITM [ ITMIZO 23,000 68% | H-
HEHX [RECEHE)|] JAL JAL | IZOHND [ HNDHKD| 31,400 58% |HB: H:32,700
ABR(FD | JAL JAL [ 1ZOITM [ ITMHKD 21,200 70% |A-
EfE=#A0 EiER [EZECEE)| JAL JAL | HKDHND [ HNDMYJ 34,800 55%
ABR(FD | JAL JAL [ HKDITM [ ITMMYJ 24,300 65%
W% [FERCEE)| JAL JAL | MYJHND [ HNDHKD | 34,300 56% H:35,100
EEE=dt M HEER  [EECHE)| JAL JAL | HKDHND [ HNDKKJ [ 28,600 66%
HH)|  JAL JAL | KKJHND [ HNDHKD | 27,300 68%
HEE=K% [RAECRE) [ JAL JAL [ HKDHND | HNDOIT 21,900 73%
AIRFFD[  JAL JAL | HKDITM | ITMOIT 23,900 67%
Aa% [RECHA)| JAL JAL | OITHND [HNDHKD| 21,900 73%
KERFFD | JAL JAL | OITITM [ ITMHKD 22,100 69%
HiE=RIE HEER |[EEGIH)| JAL JAL | HKDHND | HNDNGS| 22,400 74%
KRR JAL JAL | HKDITM [ ITMNGS | 24,700 69%
R [RRCHA)| JAL JAL | NGSHND | HNDHKD | 22,400 74%
KRR JAL JAL | NGSITM [ ITMHKD 22,900 71%
BEE=REK HEER |[EEGH)| JAL JAL | HKDHND | HNDKMJ 22,400 73%
KRR JAL JAL | HKDITM [ ITMKMJ 26,100 66%
A% ([RR(CHH)| JAL JAL | KMJHND | HNDHKD | 22,400 73%
KRR | JAL JAL | KMJITM [ ITMHKD 21,600 72%
HEE=2 HEER |[EEGHE)| JAL JAL | HKDHND | HNDKMI 22,400 73%
KRR | JAL JAL | HKDITM [ ITMKMI 23,400 70%
BB ([RRCHAE)| JAL JAL | KMIHND | HNDHKD | 22,400 73% | H
ABR(FFD[  JAL JAL | KMITM [ ITMHKD 21,600 72% |8
HE=ERS HEER |[EEGH)| JAL JAL | HKDHND | HNDKOJ 22,400 74% | H
ABR(FFD[  JAL JAL | HKDITM | ITMKOJ 25,800 68% | H
ERGF [EE(HH)| JAL JAL | KOJHND | HNDHKD | 22,400 74% 8-
B (FFD | JAL JAL | KOJITM [ ITMHKD 24,100 70% | H:25,800
HfE=H1E BEEER |HEGEE)| JAL JAL [ HKDHND | HNDISG 44,200 60% | H:44,500, B:45,400
AEE [ERGHA][ JAL JAL | ISGHND [ HNDHKD| 43,600 61% | H:42,200, H:44,800




EH=Ma JAL JAL | AOJHND | HNDKMQ| 14,800 77% [A:
JAL JAL _|KMQHND[HNDAOJ| 15,300 76% | H
EH=EiEE JAL JAL | AOJHND [HNDSHM| 27,700 62% | H
JAL JAL | SHMHND | HNDAOJ| 28,600 61% |H:
EH=RW JAL JAL | AOJHND [ HNDOKJ| 28,400 62% |A:
JAL JAL | OKJHND [ HNDAOJ| 28,400 62% A
EH=L8 JAL JAL | AOJHND | HNDHIJ 30,300 60% |8
JAL JAL | HIJHND [HNDAOJ| 30,300 60% | A-
EH=LOFH JAL JAL [ AOJHND | HNDUBJ 26,400 67% |B:
JAL JAL | UBJHND [ HNDAOJ| 26,800 66% | HB-
EH=HE JAL JAL [ AOJHND | HNDIZO 28,700 61% [H:
JAL JAL | AOJITM | ITMIZO 18,100 74% A
JAL JAL | 1ZOHND [ HNDAOJ| 30,100 59%
JAL JAL | 1ZOITM | ITMAOJ 18,900 73%
EH=HE JAL JAL [ AOJHND [ HNDTKS 20,300 72%
JAL JAL | TKSHND [ HNDAOJ| 20,300 72%
EH=mik JAL JAL [ AOJHND [ HNDTAK| 20,200 73%
JAL JAL | TAKHND [ HNDAOJ| 20,200 73%
EH=mA B JAL JAL | AOJHND | HNDKCZ 20,300 73%
JAL JAL | KCZHND [ HNDAOJ| 20,300 73%
HEH=tul JAL JAL [ AOJHND [ HNDMYJ 20,000 74%
F JAL JAL [ AOJITM [ ITMMYJ 19,400 71%
HE)|  JAL JAL | MYJHND [ HNDAOJ| 20,000 74%
| JAL JAL [ MYJITM [ ITMAOJ 19,400 71%
EHE=LAM BRL:: JAL JAL [ AOJHND | HNDKKJ 21,800 74%
JAL JAL | KKJHND [ HNDAOJ| 21,800 74%
BEH=KS JAL JAL [ AOJHND | HNDOIT 21,700 73%
JAL JAL | AOJITM | ITMOIT 19,000 72%
JAL JAL | OITHND | HNDAOJ| 21,700 73%
JAL JAL | OITITM | ITMAOJ 19,000 72%
EH=R&K JAL JAL | AOJHND [ HNDNGS| 23200 73%
JAL JAL | AOJITM | ITMNGS 19,800 74%
JAL JAL | NGSHND [ HNDAOJ| 23,200 73%
JAL JAL | NGSITM | ITMAOJ 19,800 74%
EHR=EX JAL JAL | AOJHND | HNDKMJ 21,800 74%
JAL JAL | AOJITM | ITMKMJ 21,200 71%
JAL JAL | KMJHND [ HNDAOJ| 21,800 74%
JAL JAL [ KMJITM [ ITMAOJ 18,500 75% |H
EH=EK JAL JAL [ AOJHND | HNDKMI 21,800 74% |H
JAL JAL | AOJITM | ITMKMI 18,500 75% B
JAL JAL | KMIHND [ HNDAOJ| 21,800 74% B
JAL JAL | KMIITM | ITMAOJ 18,500 75% B
ER=-ERE JAL JAL [ AOJHND | HNDKOJ 23,200 73% |H
JAL JAL | AOJITM | ITMKOJ 21,300 73% B
JAL JAL | KOJHND [ HNDAOJ| 23,200 73% A
JAL JAL [ KOJITM [ ITMAOJ 21,000 73%  |A:
EH=HE JAL JAL [ AOJHND [ HNDISG 41,000 63% | B:
JAL JAL | ISGHND | HNDAOJ| 40,900 63% |H:
ZiR=/IA JAL JAL | MSJHND [HNDKMQ| 14,800 77% 8-
JAL JAL _|KMQHND[HNDMSJ| 15,300 76% | H
ZR=FEW JAL JAL | MSJHND [ HNDOKJ| 27,000 63% A
JAL JAL | OKJHND [ HNDMSJ| 28,000 62%
ZIR=E5 JAL JAL | MSJUHND | HNDHIJ 29,900 60% |H:
JAL JAL | HIJHND [HNDMSJ| 29,900 60%
ZR=OF JAL JAL | MSJHND [ HNDUBJ| 26,000 67%
JAL JAL | UBJHND [ HNDMSJ| 26,400 67%
ZR=HE JAL JAL | MSJHND | HNDIZO 26,600 63%
JAL JAL | IZOHND | HNDMSJ| 29,600 59%
JAL JAL | 1ZOITM | ITMMSJ 22,400 68%
SR=@E JAL JAL | MSJHND [ HNDTKS | 19,300 73%
JAL JAL | TKSHND [ HNDMSJ| 19,300 73%
SR=&#H JAL JAL | MSJHND [ HNDTAK | 19,200 74%
JAL JAL | TAKHND [ HNDMSJ| 19,200 74%
ZR=&4H JAL JAL | MSJHND [ HNDKCZ| 19,300 74%
JAL JAL | KCZHND [ HNDMSJ| 19,300 74%
=iR=#l JAL JAL [ MSJHND [HNDMYJ | 19,000 75%
JAL JAL | MYJHND [ HNDMSJ| 19,000 75%
JAL JAL | MYJITM | ITMMSJ 22,900 66%
ZR=dtAM JAL JAL | MSJHND [ HNDKKJ | 19,800 76%
JAL JAL | KKJHND [ HNDMSJ| 19,800 76%
ZR=X% JAL JAL | MSJHND | HNDOIT 19,700 75%
JAL JAL | OITHND | HNDMSJ| 19,700 75%
JAL JAL | OITITM [ ITMMSJ 22,500 68%
ZR=FH JAL JAL | MSJUHND [ HNDNGS| 21,200 75%
JAL JAL | NGSHND | HNDMSJ| 21,200 75%
JAL JAL | NGSITM | ITMMSJ 23,300 70%
ZiR=8&X JAL JAL | MSJHND [ HNDKMJ| 19,800 76%
JAL JAL | KMJHND [ HNDMSJ| 19,800 76%
JAL JAL | KMJITM | ITTMMSJ 22,000 71%
ZR=821 JAL JAL [ MSJUHND | HNDKMI 19,800 76%
JAL JAL | MSJITM | ITMKMI 22,000 71%
JAL JAL | KMIHND [ HNDMSJ| 19,800 76%
JAL JAL | KMITM [ ITMMSJ 22,000 71%
SR=ERE JAL JAL | MSJHND | HNDKOJ| 21,200 75%
JAL JAL | MSJITM | ITMKOJ 24,400 69%
JAL JAL | KOJHND [ HNDMSJ| 21,200 75%
JAL JAL | KOJITM [ ITMMSJ 24,400 69%
ZR=FA1E JAL JAL | MSJUHND [ HNDISG | 41,500 62%
JAL JAL | ISGHND | HNDMSJ| 38,200 65%
FE =/ JAL JAL | AXTHND [HNDKMQ[ 17,200 70%
JAL JAL | KMQHND| HNDAXT| 17,100 70%
ME=FmHE JAL JAL | AXTHND [HNDSHM| 26,800 59%
JAL JAL | SHMHND | HNDAXT | 26,800 59%
FE=RW JAL JAL | AXTHND [ HNDOKJ| 26,800 60%
JAL JAL | OKJHND [ HNDAXT | 26,800 60%
ME=L5 JAL JAL [ AXTHND | HNDHIJ 28,500 58%
JAL JAL | HIJHND [ HNDAXT| 28,500 58% |H-




#E=LOF )| JAL JAL | AXTHND | HNDUBJ 26,900 63% | H:28,000, H:22,400
[ JAL JAL | UBJHND | HNDAXT | 28,100 62% | B.27,500. H:22,800
MHE=HE ) JAL JAL | AXTHND | HNDIZO 26,800 59% | H
[ JAL JAL [ AXTITM [ ITMIZO 20,900 68% | H
) JAL JAL | IZOHND [ HNDAXT| 26,800 59%
[ JAL JAL [ 1ZOITM [ ITMAXT 21,700 66% | H:.23.200
ME=E5 ) JAL JAL | AXTHND [ HNDTKS 20,200 70%
[ JAL JAL | TKSHND [ HNDAXT [ 20,200 70% B
MHE=2% ) JAL JAL | AXTHND [ HNDTAK| 20,200 70% [A:
[ JAL JAL | TAKHND [ HNDAXT [ 20,200 70% B
ME=5H ) JAL JAL | AXTHND | HNDKCZ 20,300 71% [H
[ JAL JAL | KCZHND [ HNDAXT [ 20,300 71% B
#E=4#0 ) JAL JAL | AXTHND [ HNDMYJ| 20,400 71% 8-
[ JAL JAL [ AXTITM [ ITMMYJ 21,000 66% | H
)| JAL JAL | MYJHND [ HNDAXT | 20,400 71% |8
[ JAL JAL [ MYJITM [ ITMAXT 21,000 66% | H-
FE=JAM )| JAL JAL | AXTHND | HNDKKJ | 28,500 62% |A:
[ JAL JAL | KKJHND | HNDAXT | 27,200 64% |HB.
ME=X% B[ JAL JAL | AXTHND | HNDOIT 30,200 50% |HB:
[ JAL JAL [ AXTITM [ ITMOIT 20,600 68% | H-
)| JAL JAL | OITHND | HNDAXT | 30,900 58% B H:26,400
[ JAL JAL [ OITITM [ ITMAXT 21,800 66% | H
MHE=R&K ) JAL JAL | AXTHND [ HNDNGS| 29,500 62% |H: H:28,100
)| JAL JAL [ AXTITM [ ITMNGS [ 22,600 69% | H:26,900
R [RRCHAA)| JAL JAL | NGSHND | HNDAXT | 30,600 61% |H
ABR (D[ JAL JAL | NGSITM | ITMAXT 22,600 69% |H
HE=FEX MEX [ERERCHH)| JAL JAL | AXTHND | HNDKMJ| 29,300 61% |A- H:28,700
ABR(FFD[  JAL JAL | AXTITM | ITMKMJ 24,000 66% | H
A% [RECHEHA)| JAL JAL | KMJHND [ HNDAXT [ 30,600 60% B H:25,600
ABR(FFD[  JAL JAL | KMJITM | ITMAXT 21,300 69% |H
HE==i MEX [ERERCHH)| JAL JAL | AXTHND | HNDKMI | 29,000 62% | A- H:25,700
ABR(FFD[  JAL JAL | AXTITM | ITMKMI 21,300 69% |H
BER [RECHA)| JAL JAL | KMIHND [ HNDAXT [ 29,400 61% B H:25,600
ABR(FFD[  JAL JAL | KMITM | ITMAXT 20,100 71% 8-
ME=ERS MER |[EERCEH)| JAL JAL | AXTHND | HNDKOJ 19,700 75% |A:
B (FFD | JAL JAL | AXTITM | ITMKOJ 24,100 67% |H
ERGF [EE(HH)| JAL JAL | KOJHND | HNDAXT 19,700 75% |H
B (FFD | JAL JAL | KOJITM | ITMAXT 23,700 68% |H-
ME=FH1E BEX [ERERCHHEH)| JAL JAL | AXTHND | HNDISG | 40,200 61% | H:40,500. H:38,800
AEE [ERCEA)|[ JAL JAL | ISGHND [ HNDAXT | 40,200 61% | H:40,300, H:38,700
TEE=HE eExE [ RREFFD| JAL JAL [ HNAITM [ ITMIZO 29,600 56% | H.28,100
HEZE [ KBREFFD] JAL JAL | IZOITM | ITMHNA [ 29,600 56% | H:28,100
TEE =l EExE [ RREFFD|  JAL JAL [ HNAITM [ ITMMYJ 30,500 53% | H.28,200
% [ KREEF] JAL JAL | MYJITM [ ITMHNA 30,500 53%
EE=K7 EeBExE [ RREFFD|[ JAL JAL [ HNAITM [ ITMOIT 31,400 53% | H
A% [KBREFFD] JAL JAL | OITITM | ITMHNA [ 30,500 55% | H:31,400
EBE=RIA EER | KRGEFD| JAL JAL | HNAITM | ITMNGS 32,200 57% | H:
Rig%E [ AREF|  JAL JAL | NGSITM [ ITMHNA 31,300 58%
TEBE=RK EER [ KREFFD][ JAL JAL [ HNAITM [ ITMKMJ 33,400 54%
AR [KIRUEM)| JAL JAL | KMJITM [ ITMHNA 30,000 59%
EBE=2K EER | XRUEFD| JAL JAL | HNAITM | ITMKMI 30,900 57%
12 JAL JAL | HNAFUK | FUKKMI 29,000 64%
=ERE  [XEREFEFD|[ JAL JAL | KMITM [ ITMHNA [ 30,000 59%
12 JAL JAL | KMIFUK | FUKHNA | 29,000 64%
EBE=ERE e | XRGEFD| JAL JAL | HNAITM | ITMKOJ 33,700 56%
BERE% [KERMFEFD| JAL JAL | KOJITM [ ITMHNA 32,500 57%
LLifg = /v 1L 5 HCHE)|[ JAL JAL | GAJHND [HNDKMQ| 16,800 65%
IMAFE FCRE)|  JAL JAL | KMQHND|HNDGAJ| 16,800 65%
WL =Tl I3 B)| JAL JAL | GAJHND [ HNDOKJ | 24,000 58%
el L% B)| JAL JAL | OKJHND [ HNDGAJ| 24,000 58%
Wiz =155 1L 5 B)| JAL JAL [ GAJHND | HNDHIJ 25,900 56%
LE% B[ JAL JAL | HIJHND [ HNDGAJ| 25,900 56%
I = E 23 FE) | JAL JAL | GAJHND | HNDUBJ| 21,600 66% | H:22,100
WIAFER% | B)| JAL JAL | UBJHND [ HNDGAJ| 22,000 65% | H:23,800
ILf=HE %3 HCHE)|[ JAL JAL [ GAJHND [ HNDIZO 22,600 60%
KR (FFD]  JAL JAL | GAJITM | ITMIZO 22,800 64% |H:28,100
HERX [RECHEA)| JAL JAL | IZOHND [HNDGAJ| 22,600 60%
KERFFD | JAL JAL | 1ZOITM [ ITMGAJ 24,200 62%
Wi =185 W% |[RECRAE)| JAL JAL | GAJHND | HNDTKS 24,900 56% | B 0:23.200
BmE% |[RRECRHE)| JAL JAL | TKSHND | HNDGAJ 26,400 54% | B H:26,300
L == WIfg%e  [RRCRE)|  JAL JAL | GAJHND [ HNDTAK| 26,000 54%
B [EERCHHE)| JAL JAL | TAKHND [ HNDGAJ| 23,900 58%
g =420 Wifsse [RECRE)]  JAL JAL | GAJHND [ HNDMYJ| 26,800 55%
ABR (D[ JAL JAL [ GAJITM [ ITMMYJ 23,600 61%
i [ERCEHE)| JAL JAL | MYJHND [ HNDGAJ 26,800 55%
ABR(FD | JAL JAL [ MYJITM [ ITMGAJ 22,700 62%
WW=X% Ws [RRCRA)| JAL JAL | GAJHND | HNDOIT 24,900 61%
ABR(FD | JAL JAL [ GAJITM [ ITMOIT 23,200 63%
An%  [RECEA)| JAL JAL | OITHND | HNDGAJ 25,200 61%
ABR(FD | JAL JAL [ OITITM [ ITMGAJ 24,300 62%
L =R W% [RECRE)|[  JAL JAL | GAJHND [ HNDNGS| 24,200 65%
ABR(FD | JAL JAL | GAJITM [ ITMNGS | 24,500 66%
RIE% [ERCEHEH)| JAL JAL | NGSHND [ HNDGAJ 26,000 62%
ABR(FD | JAL JAL [ NGSITM [ ITMGAJ 25,100 65%
s =HER W% [RECRE)|  JAL JAL | GAJHND [ HNDKMJ | 24,000 63%
ABR(FD | JAL JAL [ GAJITM [ ITMKMJ 25,900 62% | H-
AR [RECEEA)| JAL JAL | KMJHND [ HNDGAJ 24,100 63% |H:
ABR(FD | JAL JAL [ KMJITM [ ITMGAJ 23,800 65% | H-
=2k W% [ERCRA)| JAL JAL | GAJHND | HNDKMI 23,700 64% B
ABR(FD | JAL JAL [ GAJITM [ ITMKMI 23,200 66% | H-
B [RECHEA)| JAL JAL | KMIHND | HNDGAJ 23,700 64% |HB:
ABR(FD | JAL JAL [ KMITM [ ITMGAJ 23,800 65% | H-
IW=ERE W% [RRCRAE)| JAL JAL | GAJHND | HNDKOJ 24,900 64% B
ABR(FD | JAL JAL [ GAJITM [ ITMKOJ 26,000 64% A
ERER [ER(HH)| JAL JAL | KOJHND | HNDGAJ 25,300 63% | H:
BRCEFH[ JAL JAL [ KOJITM [ ITMGAJ 26,200 64% | H:26,000
s =H1E W% [RECRE)|[  JAL JAL | GAJHND | HNDISG 37,500 60% | H:37,800, H:38,400
AEX [ERGEE|[ JAL JAL | ISGHND | HNDGAJ| 37,500 60% | A:37,600. H:38,300




E=HE = JAL JAL | SDJITM | ITMIZO 24,100 61%
R JAL JAL | 1ZOITM | ITMSDJ 22,700 63%
& =#x0 H JAL JAL | SDJITM [ ITMMYJ 20,300 66%
A JAL JAL | MYJITM | ITMSDJ 21,600 63%
E=X% = JAL JAL | SDJITM | ITMOIT 22,600 63%
A JAL JAL | OITITM | ITMSDJ 22,100 64%
& =R = JAL JAL | SDJITM [ ITMNGS 23,400 66%
A JAL JAL | NGSITM | ITMSDJ 24,300 65%
e =%x = JAL JAL | SDJITM [ ITMKMJ 24,800 63%
A JAL JAL | KMJITM | ITMSDJ 22,900 66%
& =52 = JAL JAL | SDJITM | ITMKMI 22,100 67%
R JAL JAL | KMITM | ITMSDJ 22,500 66%
WE=ERS = JAL JAL | SDJITM | ITMKOJ 24,900 65%
R JAL JAL | KOJITM | ITMSDJ 26,100 63%
FR=HE = JAL JAL | KIJITM | ITMIZO 24,300 59%
A JAL JAL | 1ZOITM | ITMKIJ 21,200 64%
FR=tl = JAL JAL | KIJITM [ ITMMYJ 20,400 64%
A JAL JAL | MYJITM | ITMKIJ 21,700 62%
FR=K% = JAL JAL | KIJITM | ITMOIT 21,800 63%
A JAL JAL | OITITM | ITMKIJ 21,300 64%
FR=R&K = JAL JAL | KIJITM [ ITMNGS 20,800 69%
A JAL JAL | NGSITM | ITMKIJ 22,100 67%
FR=RX = JAL JAL | KIJITM [ ITMKMJ 24,000 63%
A JAL JAL | KMJITM | ITMKIJ 21,900 66%
FR=5K = JAL JAL | KIJITM | ITMKMI 19,500 70%
A JAL JAL | KMITM | ITMKIJ 20,800 68%
3 JAL JAL | KIJITM | ITMKOJ 23,700 66%
A JAL JAL | KOJITM | ITMKIJ 23,300 66%
INR=TELL BRI JAL JAL | KMQHND| HNDOKJ| 23,000 64%
B JAL JAL | OKJHND [HNDKMQ| 23,900 63% ,
ME=RE B JAL JAL | KMQHND| HNDHIJ 24,900 62% | H:26,000
JAL JAL | HIJHND [HNDKMQ[ 25,800 60% | H:24,900
MA=INOFH B JAL JAL | KMQHND| HNDUBJ| 21,000 70% _|H:22,800, H:21,400
JAL JAL [ UBJHND [HNDKMQ[ 21,400 69% | B.22,800. H:20,200
ME=HE B JAL JAL | KMQHND| HNDIZO 24,500 61% |H:22,600
HE B JAL JAL [ IZOHND [HNDKMQ[ 26,200 58% | H.26,400. H:25,000
IMNA=TES ISR B JAL JAL _|KMQHND| HNDTKS 25,500 60% | H:25,300
BEHE JAL JAL | TKSHND [HNDKMQ| 25,400 60% | A H:25300
M= IS B JAL JAL _|KMQHND| HNDTAK| 24,900 61%
BInFE B JAL JAL | TAKHND [HNDKMQ[ 24,900 61%
INR=TEH IMRFE B JAL JAL | KMQHND| HNDKCZ| 27,300 59%
EAI%E B JAL JAL | KCZHND [HNDKMQ[ 27,300 59%
INR=FL IMRFE B JAL JAL | KMQHND|HNDMYJ| 26,800 60%
[PANTIES JAL JAL | MYJHND [HNDKMQ[ 26,800 60%
INR=JERMN [ RE B JAL JAL | KMQHND| HNDKKJ | 23,100 68% |H:
JEAMFE JAL JAL | KKJHND [HNDKMQ[ 22,100 69% A
IME=KX5 IMRFE JAL JAL | KMQHND| HNDOIT 25,400 64% |H:
K% JAL JAL | OITHND [HNDKMQ[ 25,100 65% |AB:
IME=RIG | VAE JAL JAL _|KMQHND|HNDNGS| 25500 66% | H:
RIGS JAL JAL | NGSHND [ HNDKMQ| 25,000 67% |A-
IMA=EEX INEASE JAL JAL | KMQHND [ HNDKMJ 23,300 68% |H:
AR JAL JAL | KMJHND [HNDKMQ| 24,800 66% | H:
IMNE=E I N JAL JAL _|KMQHND | HNDKMI 22,700 69% |H:
BIAS JAL JAL | KMIHND [HNDKMQ| 22,700 69% | A-
IMA=EERE IMAFE JAL JAL _|KMQHND | HNDKOJ 17,500 77% [A:
EREXE F JAL JAL | KOJHND [HNDKMQ[ 18,500 75% B
IME=EH MMaE R (GRER)| JTA [JTA/RAC|KMQOKA[OKAMMY[ 30,600 57% | H:35,100
B % %8 (3% [UTA/RAC| JTA [MMYOKA[OKAKMQ[| 30,600 57% | H:30,900, B:35,100
INR=F1E INERFE RCHE) [ JAL JAL | KMQHND| HNDISG 36,500 64% | H:36,800, H:36,700
7948 (B | JTA [JTA/RAC|KMQOKA| OKAISG 30,800 61% | H:35500
RiEH U ( JAL JAL | ISGHND [HNDKMQ| 36,500 64% | H:36,600, H:37,100
JTA/RAC| JTA | ISGOKA |OKAKMQ| 31,400 60% | B:31,700. H:34,900
==& JTA _[JTA/RAC| OKJOKA |OKAMMY| 30,200 53% | B H:31,500
JTA/RAC|  JTA |[MMYOKA| OKAOKJ| 33500 48% | B:30,600. H:35,800
=R JTA _[JTA/RAC| OKJOKA | OKAISG 31,600 55% | H:31,900
JTA/RAC| JTA | ISGOKA | OKAOKJ| 34,800 51% | H.31,800. H:35400
BH=Ek JAL JAL | KCZFUK | FUKKMI 22,500 58% | H:23,400
JAL JAL | KMIFUK | FUKKCZ | 22,500 58%
PHEGRER) =& ) JAL JAL | OKAHND [ HNDAOJ 29,600 66% | H:32,
[ JAL JAL [ OKAITM [ ITMAOJ 21,600 75% B
) JAL JAL | AOJHND [ HNDOKA| 29,400 66% | H:29,
[ JAL JAL | AOJITM [ ITMOKA [ 21,600 75% | H:28,400
R (RE) ==iR ) JAL JAL | OKAHND [ HNDMSJ 26,600 69% | H:29,200, H:31,600
[ JAL JAL | MSJUHND [HNDOKA| 26,500 69% | H:24,600
SR GIR®) =] | ) JAL JAL | OKAHND | HNDAXT | 28,900 64% |H:27,
[ JAL JAL [ OKAITM [ ITMAXT 24,400 71% | H.25,700
V[ JAL JAL | AXTHND [ HNDOKA| 30,900 62% | 7:28,
x [ JAL JAL | AXTITM | ITMOKA | 24,400 71% | H.25,
SRR (RE) =7E% | HhHE (GRER) R AR(BFD | AL JAL | OKAITM [ ITMHNA 33,100 61%
el JTA JAL | OKAFUK [ FUKHNA [ 38,000 58%
BR[| AREFD] JAL JAL | HNAITM | ITMOKA 33,100 61%
el JAL JTA [ HNAFUK [ FUKOKA [ 38,000 58%
SR G =1Lz | PR GRER) R (CRE) | JAL JAL | OKAHND [ HNDGAJ 25,200 64%
ABR(FD | JAL JAL [ OKAITM [ ITMGAJ 26,900 67%
Wi [RECRE)|  JAL JAL | GAJUHND [ HNDOKA| 26,200 63%
ABR (FD | JAL JAL | GAJITM [ ITMOKA [ 26,300 68%
SRR (B =(LE [HREGRE) | EE JTA JAL | OKAFUK | FUKSDJ 31,000 65%
ABR (FFD | JAL JAL [ OKAITM [ ITMSDJ 24,700 69%
&5 2k JAL JTA | SDJFUK [ FUKOKA [ 31,500 64%
REFRD|[  JAL JAL | SDJITM [ ITMOKA [ 25,200 69%
PR G E) =/Ma (B3 %[ HAECHE) [ JAL JAL | OKAHND [HNDKMQ| 25200 67%
MFE  [RFECHEA)| JAL JAL _[KMQHND[HNDOKA| 25,200 67%
PR RH) =2 RGBT | B JTA JAL | OKAFUK | FUKKCZ 26,400 58%
EFE el JAL JTA [ KGZFUK | FUKOKA [ 26,400 58% | H:26,300
SRARGIRE) =il [PRECGRE) |  EE JTA JAL | OKAFUK | FUKMYJ 24,600 59%
PSS =l JAL JTA [ MYJFUK | FUKOKA [ 24,500 59%




ERCHE) =EZXB[RRCAE) %] ERS JAL JAL | HNDKOJ | KOJASJ | 29,600 61% |F:27,100, H:28,500
BR(EFH[ JAL JAL [ HNDITM [ ITMASJ 25,500 65% | H:30,300
BEXER | BRE JAL JAL | ASJUKOJ | KOJHND 29,600 61% | H:30,300.
KER(FEFD] JAL JAL | ASJITM | ITMHND 27,100 63% | B.27,000.
RRCPHE) =EfB(RRCHE)%| ERS JAL JAL | HNDKOJ | KOJKKX 30,300 61% |H:28,200, B:
BEAE [ JAL JAL | HNDASJ | ASUKKX | 28,600 58%
ERER ERE JAL JAL | KKXKOJ | KOJHND 30,700 61% | H:30,900, H:35,100
BEKRS | JAL JAL | KKXASJ | ASJHND | 28,600 58% | A H:29.000
RRCPHE) =@zB(RRCHE) | ERS JAL JAL | HNDKOJ | KOJTKN 31,600 61% | H:30,000, H:33,200
BEKRS | JAL JAL | HNDASJ [ ASJTKN | 31,000 58%
BB ERE JAL JAL | TKNKOJ [ KOJHND 31,600 61% |H:32,300, B
RR(HE) =/mXkRBRZ (AR X| ERS JAL JAL | HNDKOJ | KOJOKE | 32,400 62% | B:31,200.
TKBREE | BRES JAL JAL | OKEKOJ | KOJHND 32,800 61% |H:33,500.
RRCPB) =5%# [ERPR %] BRS JAL JAL | HNDKOJ | KOJRNJ 32,500 62% | H:30,400,
5% BERS JAL JAL | RNJKOJ | KOJHND 32,900 62% | H:
KR (B =BEAB| AR (FFHE| EES JAL JAL | ITMKOJ | KOJASJ| 23,500 62% |AB:
BEAER | BRE JAL JAL | ASJUKOJ | KOJITM 24,700 60% | H:
KR () =BRB| KR (G %|_ERS JAL JAL [ ITMKOJ [ KOJKKX [ 24,600 61%
EERE [ JAL JAL | ITMASJ | ASJKKX 23,500 58%
EREBXE ERE JAL JAL [ KKXKOJ | KOJITM 25,300 60%
EERE [ JAL JAL | KKXASJ | ASJITM 23,500 58%
KB (D) =@z B[ KIR(F | ERES JAL JAL [ ITMKOJ [ KOJTKN 25,900 61%
BmeER BERS JAL JAL | TKNKOJ | KOJITM 26,700 60%
BEKRS | JAL JAL | TKNASJ | ASJITM 25,900 58%
KR () =ik BRE| KR (R R| BRES JAL JAL | ITMKOJ | KOJOKE 27,100 61%
hKBEE | BRES JAL JAL | OKEKOJ | KOJITM 27,900 60%
KR () =55k JAL JAL | ITMKOJ | KOJRNJ 26,800 62% | H
JAL JAL | RNJKOJ | KOJITM 28,000 61% | H-
BE=EXXE JAL JAL | FUKKOJ | KOJASJ 18,400 64% |H:
JAL JAL | ASJKOJ | KOJFUK | 21,300 59% |H.
EE=ERE JAL JAL | FUKASJ | ASJKKX 19,800 61% [H:
ERGR | BEXS | JAL JAL | KKXASJ | ASJFUK 19,800 61% | H:
EE=EzE EHEES BERE JAL JAL | FUKKOJ | KOJTKN 22,200 60% | H
BEKRS | JAL JAL | FUKASJ [ ASJTKN | 22,200 60% | H
BmeER BERS JAL JAL | TKNKOJ | KOJFUK 23,300 58% | B
BEKRS | JAL JAL | TKNASJ | ASJFUK | 22,200 60% | H
RRCPHE) =5RERRCAB) % _HIE JAL RAC [ HNDISG [ ISGOGN 36,800 57% |8
SRR (ARER) | JAL RAC [ HNDOKA [OKAOGN| 32,600 62% |H:
SMEFK 4GB RAC JAL | OGNOKA[ OKAHND | 32,600 62% | H:35000
Al RAC JAL | OGNISG [ ISGHND 36,800 57% | H.36,900. H:37,700
KR (B =5ME| SHEFEK [ EEGEH)| RAC JAL | OGNOKA| OKAITM 39,400 50%
KBR () F[i9#8 GBER) | JAL RAC | ITMOKA [OKAOGN| 39,400 50%
KR (B#8) =5 3E | KR (Bd) % HiE JTA RAC [ KIXISG [ ISGOGN 35,800 51% | H H:36,500
SRAR (AR | JTA RAC [ KIXOKA [OKAOGN| 39,400 50%
SHER [PHEGREH) | RAC JTA [OGNOKA[ OKAKIX 39,400 50%
Al RAC JTA | OGNISG | ISGKIX 35,800 51% |H H:36,500
BEE (P —5E| ZAE (PR AiE JTA RAC | NGOISG [ ISGOGN | 40,400 49%
SRAR(ARER) | JTA RAC _[NGOOKA[OKAOGN| 40,400 52%
SHER [PHEGREH) | RAC JTA [OGNOKA[OKANGO| 40,400 52%
Al RAC JTA | OGNISG [ ISGNGO | 40,400 49%
il L= 5 3RE FELZE  [REERE| JTA RAC | OKJOKA [ OKAOGN| 37,600 52%
SHBEFE [#EGEREH)|[ RAC JTA [ OGNOKA[ OKAOKJ| 39,300 50%
EE=51E w|EFE [PEGERE®)| JTA RAC | FUKOKA [ OKAOGN| 32,500 53%
SHEFE [(#EGRE) | RAC JTA [ OGNOKA[ OKAFUK | 32,500 53%
SPE(REH) =5ME[ (M E] HE [ITA/RAC] RAC | OKAISG | ISGOGN 12,900 69%
SHBEFE AiE RAC _|JTA/RAC| OGNISG | ISGOKA 13,500 68% H:13,100
HR(PH) =AXS[EZHE) Z[ @B @F)| JAL [JTA/RAC| HNDOKA| OKAUEO| 25,000 61%
AKESF |48 (FBF) [avvtarac]  JAL | UEOOKA|OKAHND| 24,700 61%
KR () =AX B[ X FFD Z[PEGRF | JAL [JTA/RAC| ITMOKA [ OKAUEO| 22,900 59%
ARER %8 (BBF) [savutarac]  JAL [ UEOOKA | OKAITM 22,900 59%
KBx (BA78) = A KB | A0k (BEE) 048 (A8 | JTA [JTA/RAC| KIXOKA [ OKAUEO| 31,700 43%
AXKEFE |48 (P [savutarac] JTA | UEOOKA | OKAKIX 30,900 44% H:32,600
ZHE (P =AKB[AEE PE) K JTA_|JTA/RAC|NGOOKA| OKAUEO| 32,200 47%
ARER savutarac]  JTA | UEOOKA [ OKANGO| 33,600 45%
wBE=AXE BERE JTA [JTA/RAC| FUKOKA | OKAUEO| 27,900 41%
ARER sautarac]  JTA | UEOOKA | OKAFUK| 25,800 45% H:26,200
RRCHE) =R [ERCIE) R JAL JAL | HNDITM | ITMOKI 21,000 62%
JAL JAL | HNDIZO | 1ZOOKI 22,400 56%
[E0E3 JAL JAL | OKIITM [ ITMHND 20,400 63%
JAL JAL | OKIIZO | IZOHND 21,500 58%
SRR (BRE) =3k R GRE) % JAL JAL | OKAITM | ITMKIJ 23,900 69% [H:
B [ JAL JAL | KIJITM [ITMOKA [ 22,600 71% 8-
R =FIE ) 18k B JAL JAL | FUKHND | HNDSPK 33,800 61% | H:
IR TR 5 B JAL JAL | SPKHND | HNDFUK | 36,900 57% |AB:
Z2HE (P =FE[2EE (R X[ B JAL JAL _|NGOHND|HNDOBO| 21,800 69% | H:
I % B JAL JAL | OBOHND[HNDNGO| 20,000 71% A
ZHE(PED) =hJI| [ AHE (PE) % B JAL JAL | NGOHND | HNDAKJ 20,700 71% [A:
FENIE B JAL JAL | AKJHND [HNDNGO| 20,000 72% |A- H:22,400
B =% BN F B JAL JAL | TAKHND [HNDMMB| 33,400 62% |H: H:35,700
ESES B JAL JAL _[MMBHND| HNDTAK | 33,300 62% A
BE=%H5 EER B JAL JAL | TKSHND [HNDMMB| 33,800 61% |H: . H:35,300
ESVIES B JAL JAL _|MMBHND| HNDTKS | 31,500 64% A . H:33,800
A=K ADHE B JAL JAL | OITHND [HNDMMB| 23,400 75% |H
ESTES B JAL JAL _[MMBHND]| HNDOIT 23,400 75% B
R =% Rig% B JAL JAL | NGSHND [HNDMMB| 23,900 76% [A:
ESES B JAL JAL _|MMBHND|HNDNGS| 23,900 76% B
REAR=%m5] RERE B JAL JAL | KMJHND [HNDMMB| 23,900 75%
ESES JAL JAL _[MMBHND|HNDKMJ | 23,900 75%
BB =25l =I5 5 JAL JAL | KMIHND [HNDMMB| 23,900 75%
ESE JAL JAL _|MMBHND| HNDKMI [ 23,900 75%
BRE=%XiH5 BRERE JAL JAL | KOJHND [HNDMMB| 23,900 76%
ESES JAL JAL _|MMBHND| HNDKOJ| 23,900 76% B
EHR=EEXXE EHR JAL JAL [ AOJHND | HNDASJ 35,000 63% |H:
EEXER JAL JAL | ASJHND [ HNDAOJ| 36,000 62% | A-
HME=8EXXE A JAL JAL | AXTHND | HNDASJ 36,900 58% |H:
EERER JAL JAL | ASJHND | HNDAXT | 35,300 60% |A- =E
IMNA=BEKXE IMAFE JAL JAL _|KMQHND| HNDASJ 30,600 64% | H:29,400
EESNETS JAL JAL | ASJHND [HNDKMQ| 30,600 64% | H.31,000. H:29,800




ai =g )| JAL JAL | TAKHND | HNDKUH| 33,600 60% | A H:33.200
[ JAL JAL | KUHHND [ HNDTAK | 33,200 61% | H.33500
EE=2% ) JAL JAL | TKSHND | HNDKUH| 32,800 61% | H:32,700, H:34,000
[ JAL JAL | KUHHND [ HNDTKS [ 31,500 63% | B.29,800. H:32,400
K=& ) JAL JAL | OITHND | HNDKUH| 22,400 76% | H:23,400
[ JAL JAL [ KUHHND [ HNDOIT 22,400 76% B
R =8I ) JAL JAL | NGSHND | HNDKUH| 22,900 76%
[ JAL JAL | KUHHND [ HNDNGS| 22,900 76% B
REAR=IE% ) JAL JAL | KMJHND [ HNDKUH| 22,900 75% [A:
[ JAL JAL | KUHHND [ HNDKMJ [ 22,900 75% B
=I5 = EIEE ) JAL JAL | KMIHND [ HNDKUH| 22,900 75% |H
[ JAL JAL | KUHHND [ HNDKMI [ 22,900 75% B
ER&=9IK ) JAL JAL | KOJHND | HNDKUH| 22,900 76% [H:
[ JAL JAL | KUHHND [ HNDKOJ| 22,900 76% | H
LEB=%h ) JAL JAL | HIJHND [HNDOBO| 32,800 62% |H: H:34,100
[ JAL JAL [ OBOHND| HNDHIJ 31,200 63% | H
BI=m%Ik ) JAL JAL | TAKHND [HNDOBO| 33,700 60% B H:34,100
[ JAL JAL | OBOHND[ HNDTAK| 31,900 62% | H
BE=%L ) JAL JAL | TKSHND [HNDOBO| 31,100 63% | H:31,600, H:34,500
[ JAL JAL | OBOHND[ HNDTKS | 30,200 64% | 529,700, H:32,300
AR=%Ik ) JAL JAL | OITHND [HNDOBO| 22,000 76% |H:23,000
[ JAL JAL | OBOHND [ HNDOIT 22,000 76%
RIBE=HIA ) JAL JAL | NGSHND [HNDOBO| 22,500 76%
[ JAL JAL | OBOHND[HNDNGS| 22,500 76%
BA=%% ) JAL JAL | KMJHND [HNDOBO| 22,500 76%
[ JAL JAL | OBOHND[HNDKMJ | 22,500 76%
BIB=%% ) JAL JAL | KMIHND [HNDOBO| 22,500 76% | H:23,
[ JAL JAL | OBOHND| HNDKMI [ 22,500 76% | H:23,500
EBR&E=%E ) JAL JAL | KOJHND [HNDOBO| 22,500 76% | H:23,500
[ JAL JAL | OBOHND[HNDKOJ| 22,500 76% | H:23,500
BI== Y[ JAL JAL | AKJHND [ HNDTAK| 33,000 61% |H:33,100, H:34,600
[ JAL JAL | TAKHND [ HNDAKJ [ 32,200 62% A
HEE=5 Y[ JAL JAL | HKDHND [ HNDTAK| 33,300 56% |H-
[ JAL JAL | TAKHND [ HNDHKD | 31,000 50% |H:
HE=E5 ) JAL JAL | HKDHND | HNDTKS 31,600 58% |H:
[ JAL JAL | TKSHND [ HNDHKD [ 32,500 57% |AB:
RRCRE) =8R JAL JAL | HNDHKD | HKDOIR 20,600 64% |B:
JAL JAL | OIRHKD | HKDHND | 20,900 63% | H-
AR () =B8R JAL JAL | OIRHKD | HKDITM 21,600 67% [A:
SRR (RE) =’ | JTA JAL | OKAFUK [ FUKTKS [ 29,300 55%
JAL JTA | TKSFUK | FUKOKA| 25,800 60%
EN=f85 JAL JAL | AKJHND | HNDTKS | 31,300 63%
JAL JAL | TKSHND [ HNDAKJ | 32,200 62%
TBII=K% JAL JAL [ AKJHND [ HNDOIT 21,400 77%
JAL JAL | OITHND | HNDAKJ | 21,400 77%
IR (EH) =RR JAL JAL | OKDHKD | HKDOIR 17,600 53%
JAL JAL | OIRHKD | HKDOKD| 17,600 53%
SR =M JAL JAL | KUHOKD | OKDHKD | 20,200 54%
JAL JAL | HKDOKD | OKDKUH| 20,200 54%
FEE==iR JAL JAL | KUHOKD | OKDMSJ| 24,200 52% | H.18,000. H:23,400
JAL JAL | MSJOKD | OKDKUH| 21,100 58% | H:24,200, H:23,400
FIR =B JAL JAL | RISOKD [ OKDHKD| 22,800 51% |H
JAL JAL | HKDOKD | OKDRIS 22,800 51% |H
FIR =8EE JAL JAL | RISOKD [ OKDKUH| 23,600 53% | A-
JAL JAL | KUHOKD | OKDRIS 19,800 61% |B: H:21,900
ZR=FFK JAL JAL [ MSJOKD | OKDRIS 19,300 64% | H
BERE=IREII JAL JAL | KOJHND [ HNDAKJ | 21,900 77% |8
JAL JAL | AKJHND | HNDKOJ| 21,900 77% |8
RIG=1He)Il JAL JAL | NGSHND | HNDAKJ | 21,900 77% |8
JAL JAL | AKJHND [ HNDNGS| 21,900 77%
REA=JBIII JAL JAL | KMJHND [ HNDAKJ | 21,900 77%
JAL JAL | AKJHND [ HNDKMJ | 21,900 77%
EEEET JAL JAL | KMIHND [ HNDAKJ | 21,900 77%
JAL JAL | AKJHND | HNDKMI | 21,900 77%
BERE=/KERE JAL JAL | ASJUTKN | TKNOKE 11,900 60%
JAL JAL | OKETKN | TKNASJ 11,900 60%
B2 B=E (5 JAL JAL | TKNOKE | OKEOKA 15,650 57%
JAL JAL | OKAOKE | OKETKN| 15,650 57%
RR(CPHE) =EF8 JAL JAL | HNDKOJ | KOJTNE 29,700 53% | H:27,600.
JAL JAL | TNEKOJ [ KOJHND | 28,700 55% | B:28,000.
RR(CRHE) =BAE JAL JAL | HNDKOJ | KOJKUM| 30,000 54% |H:27,500.
B 7 JAL JAL | KUMKOJ|KOJHND | 27,000 59% | H:28,900.
KR () =BAS D %] JAL JAL | ITMKOJ | KOJKUM| 24,000 52%
JAL JAL | KUMKOJ | KOJITM 15,100 70% | 25,100, H:25,800
[ JAL JAL | OKAASJ [ ASJKOJ | 27,300 52%
EE=EAS JAL JAL | FUKKOJ [ KOJKUM| 19,700 51% | H:.20,800
JAL JAL | KUMKOJ| KOJFUK | 20,800 48% | H:19,700
EE—TETE JAL JAL | FUKKOJ | KOJTNE | 19,800 49% | H:21,800
JAL JAL | TNEKOJ | KOJFUK| 19,900 48% |H:18,800, H:20,000
LEB=1BII JAL JAL | HIJHND [ HNDAKJ [ 31,700 63% | H:32,900
JAL JAL | AKJHND | HNDHIJ 32,300 63% | H:32,900
wil== JAL JAL [ MYJFUK | FUKKMI 18,200 64% | H:18,500
JAL JAL | KMIFUK | FUKMYJ | 18,200 64% | H:20,200
HERE) =EEXE 5k JAL _|JAL/RAC| ASURNJ [ RNJOKA | 17,550 58%
BF = ALIECEZR) [ JAL JAL | OIROKD | OKDHKD| 18,000 58% |H:15,000
ALIECEER) [ JAL JAL | HKDOKD | OKDOIR 18,000 58% | H:15,000
BM=8ZXE 448 3% [JAL/RAC] JAL [ RNJOKA | OKAASJ 15,000 68%




RRCRE) =% P R JAL JAL | TSUNGS | NGSHND| 27,900 57%
] JAL JAL | TSJFUK [ FUKHND [ 28,100 54%
ECACEE S -1 JAL JAL | HNDNGS | NGSTSJ 27,900 57%
=] JAL JAL | HNDFUK | FUKTSJ 28,100 54%
R (PE) =E8%I] AERIH R JAL JAL | FUINGS [ NGSHND| 26,300 58%
=] JAL JAL | FUJFUK [ FUKHND [ 31,000 53%
ECACEE S -1 JAL JAL | HNDNGS | NGSFUJ 26,300 58%
=] JAL JAL [ HNDFUK | FUKFUJ 31,000 53%
RR(HE) =3Ik Ri& JAL JAL | IKINGS |NGSHND| 25500 57%
& RIF JAL JAL [ HNDNGS| NGSIKI 24,200 60%
KR () =3 5% B RIG JAL JAL | TSUNGS | NGSITM 19,500 59%
=] JAL JAL [ TSUFUK | FUKITM 19,700 54%
PG -1 JAL JAL | ITMNGS | NGSTSJ 19,500 59%
=] JAL JAL [ ITMFUK [ FUKTSJ 19,700 54%
KRFR) =BT AEBRIE &k JAL JAL | FUJFUK | FUKITM 21,600 55%
RIF JAL JAL [ FUINGS [ NGSITM 17,900 61%
KR (D) %[5k JAL JAL | ITMFUK | FUKFUJ 21,600 55%
RIF JAL JAL [ ITMNGS [ NGSFUJ [ 17,900 61%
KR () =Bk K S Rk JAL JAL | IKINGS | NGSITM 17,100 61%
AER(FEMHE| R JAL JAL [ ITMNGS | NGSIKI 17,100 61%
HEE &2k JAL JAL | TSJFUK | FUKTKS | 20,900 55%
=] JAL JAL | FUJFUK [ FUKTKS [ 23,800 53%
12 JAL JAL | TSJFUK [ FUKMYJ | 20,350 51%
=] JAL JAL | FUJFUK [ FUKMYJ [ 22,550 51%
12 JAL JAL | TSJFUK | FUKKGZ | 22,150 51%
=] JAL JAL | FUJFUK [ FUKKGZ | 24,400 51%

[ JAL JAL | TSJFUK [ FUKHNA| 32,500 55% | H

=] JAL JAL | FUJFUK [ FUKHNA [ 35,400 53% | H-

[ JAL JAL | TSJFUK | FUKKOJ 16,800 57% |H

=] JAL JAL | FUJFUK | FUKKOJ 19,700 55% | H:20,800

Sl G JAL JAL | TSJFUK | FUKIZO 23,100 51%
ESREIE FE] JAL JAL | FUJFUK [ FUKIZO 25,300 51%




AL E 2022/10/30

BESRH =40 EEH EEH EEH EEH EEH
KR e | TR R TEEe] 2 #eE | 1 mEm | V4 asm | 1 mEw | V0 asx
BR(AE) =88 P (R ER) JTA/RAC| HNDOKA [ OKAMMY | 30,400 58% 35,400 51% 29,200 59% 28,500 60% 25,100 65%
SR ETE ) JAL_|MMYOKA | OKAHND | 26,400 63% 27,300 62% 27,500 62% 28,700 60% 35,600 51%
FRCPE)=FRE [RRCHE) R HEGRR) JTA/RAC| HNDOKA | OKAISG | 31,100 61% 35,700 55% 29,400 63% 28,800 63% 25,300 68%
x JTA__ | HNDKIX | KIXISG | 37,800 57% 37,800 57% 37,800 57% 38,000 57% 37,300 57%
HiEg [ JAL | ISGOKA | OKAHND | 28,000 64% 28,600 64% 28,700 64% 29,600 62% 37,000 53%
KBR () =%l | KBR () $E | R JAL [ ITMHND [HNDMMB]| 27,800 65% 30,300 61% 27.400 65% 26,700 66% 29,300 63%
JAL | ITMSPK | SPKMMB| 26,600 65% 35,700 54% 29,300 62% 25,800 66% 21,800 72%
ESFIES JAL__|MMBHND | HNDITM | 27,300 65% 30,700 61% 28,800 63% 26,200 67% 29,300 63%
EX JAL__|MMBSPK| SPKITM | 23,000 70% 26,800 65% 27,800 64% 24,600 68% 30,200 61%
KR (B878) =% 5l | KRR (BI75) % | K5 ) JAL | KIXHND [HNDMMB| 26,900 66% 26,700 66% 26,200 67% 25,200 68% 28,400 64%
ES-VIES ) JAL__|MMBHND | HNDKIX | 25,200 68% 29,100 63% 26,900 66% 26,000 67% 29,200 63%
KR (7 =heJIl [ KRR (75T %3 ) JAL | ITMHND | HNDAKJ | 20,300 73% 28,500 63% 28,500 63% 27,100 65% 24,300 68%
BJI ) JAL__| AKJHND | HNDITM | 25,800 66% 27,600 64% 26,600 65% 24,700 68% 28,500 63%
KRR (R87) =heJIl | KR (BS7E) | ) JAL | KIXHND | HNDAKJ | 20,300 73% 27,100 65% 25,400 67% 25,000 67% 23,400 69%
BJII ) JAL__| AKJHND | HNDKIX | 23,600 69% 25,100 67% 24,500 68% 24,600 68% 28,500 63%
KR (D) =88 [ KB (FFT) %3 ) JAL | ITMHND | HNDKUH | 29,500 61% 29,500 61% 26,900 64% 27,900 63% 25,100 67%
FlEES ) JAL__| KUHHND | HNDITM | 26,500 65% 28,600 62% 27,800 63% 24,400 68% 28,100 63%
PNACEIEE T ) JAL | KIXHND | HNDKUH | 25,900 66% 25,900 66% 23,800 69% 25,800 66% 24,200 68%
) JAL__| KUHHND | HNDKIX | 26,200 65% 28,000 63% 25,900 66% 24,200 68% 28,000 63%
PACGEET N ) JAL | ITMHND [HNDOBO| 26,500 65% 27,600 63% 27,300 64% 25,100 67% 27,500 63%
) JAL__| OBOHND | HNDITM | 26,800 64% 29,600 61% 27,300 64% 24,300 68% 27,400 64%
AR (Bd8) =k ) JAL | KIXHND [HNDOBO| 24,100 68% 23,900 68% 23,100 69% 23,000 69% 26,600 65%
) JAL__| OBOHND | HNDKIX | 25,600 66% 28,000 63% 25,200 66% 24,200 68% 27,100 64%
KR (77 =EfE ) JAL | ITMHND | HNDHKD | 26,100 61% 31,100 53% 26,600 60% 24,100 64% 25,000 62%
) JAL__| HKDHND | HNDITM | 26,500 60% 27,200 59% 26,700 60% 25,600 62% 30,000 55%
PACEIEET ) JAL | KIXHND | HNDHKD | 24,200 64% 27,500 59% 25,400 62% 23,300 65% 24,100 64%
) JAL | HKDHND | HNDKIX 400 3 ,800 5,000 62% 500 62 .900 55%
KR () = )| JAI JAL [ ITMHND [ HNDMSJ .900 3 .900 0,600 68% .500 71 100 65%
R%E )_JA JAL _| MSJHND | HNDITM ,000 4 ,900 4,600 62% .100 64 .600 69%
K (B§#a) = ABx (B§78) %[ A CHE) [ JAL JAL [ KIXHND [ HNDMSJ ,700 69 ,700 69 7.900 72% ,900 72 ,200 67%
=R CHE)| JAL JAL | MSJHND | HNDKIX .800 66% .800 66% 700 65% .800 66 .500 70%
KR (271 I | KRR (P FE| HE JAL JAL [ ITMIZO | IZOOKI .900 59% .900 51% .900 59% ,500 60% 500 60%
= JAL JAL | OKIIZO | 1ZOITM .100 59% ,800 49% .100 59% ,300 58% .300 58%
AR (75 =18F B | KRR % JA JAI ITMKOJ | KOJTNE .600 52 .300 44% 600 2 400 44% 400 44
BYERE | JA TNEKOJ | KOJITM ,500 52 ,300 46% ,800 3 500 41% 500 41
KR (R =88 |XBRFH) | ITMOKA [ OKAMMY .400 57 .500 1 400 4 .900 59% .100 7
E MMYOKA | OKAITM .300 59 ,200 1 .200 59 ,800 58% .100 1
KR (B&@) ==& KIXOKA | OKAMMY .400 48% .800 47 .800 47% .800 47 .900 48
MMYOKA | OKAKIX 400 48% 400 48 .700 47% .700 47 ,800 47
KR () =F1E ITMOKA [ OKAISG 100 0 .800 55% 700 58% .200 ,000 70
ISGOKA | OKAITM 600 500 400 .700 ,300 4
KB (B9d8) =F1E JTA/RAC[ KIXOKA | OKAISG .100 .100 .300 4,300 .200 3
JTA | ISGOKA | OKAKIX 500 500 .700 3,700 52 ,300 1
2 E (P E) =KE5] JAL | NGOSPK | SPKMMB| 24,600 6 0,200 58 .600 7,800 75% .700 5%
JAL _|MMBSPK | SPKNGO | 21,000 1% 4,200 66% ,800 4 2,700 68% 0,100 58%
AEER(PH)=Bd JTA/RAG[ NGOOKA [ OKAMMY .900 51% 4,300 51% .300 1 4,700 50% 4,700 50%
JTA__|MMYOKA| OKANGO| 35,300 49% 35,300 49% 35,700 48 35,800 48% 35,800 48%
AEE (P =FE JTA/RAC[ NGOOKA [ OKAISG | 34.600 55% 34,600 55% 34,600 55% 35,000 4 35,000 54
JTA__| ISGOKA |OKANGO| 36,000 53 36,000 53 36,000 36,000 36,000 53
ALIR G FR) =/Ma ) JAL [ SPKHND [HNDKMQ .400 63 5,100 63 ,700 ,300 7.800 50% |
)| JAL JAL _|KMQHND | HNDSPK | 21,300 69 7,800 59 .800 ,200 7,100 60°
ALIR G F %) =Rl )| JAL JAL [ SPKHND [ HNDOKJ ,600 58 .700 60 .100 0 1400 0 800 58
] )| JAL JAL _| OKJHND | HNDSPK | 32,000 59% 500 58 .500 0 1400 0 .100 60%
ALIR (BT T #%) =I5 5 [ #L0R (3 )| JAL JAL PKHND | HNDHIJ .600 58% .600 58% .600 58 .600 58 600 58%
LS )| JAL JAL | HIJHND | HNDSPK | 33,600 58% ,600 58% ,600 58% ,300 58% ,000 58%
AR T #) = IO 86| ALIR (3 )| JAL JAL PKHND | HNDUBJ | 30600 64 ,200 60% 500 60 ,800 61 35,200 58%
[IT]s] )| JAL JAL BJHND | HNDSPK | 30,600 64 35,200 58% 700 61 400 60° 00 60%
ALIR G %) = Hi 2R [4LIR (37 ) JAL JAL PKHND | HNDIZO .500 59 .500 59 .500 59 ,500 59 500 50% |
HER )| JAL JAL OHND | HNDSP .500 59 .500 59 .500 59 .500 59 .500 59% |
ALIR G F %) =K% [ 4L (37 )| JAL JAL PKHND | HNDOIT 00 1 00 60 .600 59 00 60 35,200 50% |
X5 )| JAL JAL _| OITHND | HNDSP 00 0 35,200 59% | 35.200 59% | 35200 59% | 35200 59% |
ALIR G T %) =R 4L (37 FHE)|  JAL JAL [ SPKHND [HNDNGS| 35,100 36.900 59% | 36.400 59 33,300 3 36,900 50% |
AR (BE)|[ JAL JAL | NGSHND | HNDSPK 000 35,700 60 36,000 60" 35,900 0 36,900 59% |
FLIR (BT F %) = REAR AL (T3 3¢ CRE)| JAL JAL [ SPKHND [ HNDKMJ 700 35,100 59% | 35600 59% | 35,000 0 36.100 58%
REAS (BE)|[ JAL JAL _| KMJHND | HNDSPK 600 36,100 58" 35,900 58" 36,100 58 36,000 58%
ALIR T %) =S [4LIR T i%) % CRE)| JAL JAL [ SPKHND [ HNDKMI 000 39 36.900 57 000 .700 36.900 57%
EE (BE)|[ JAL JAL _| KMIHND | HNDSPK | 30.600 5% 34,100 1 400 500 33,600 61%
LREFTR —ERB[AREFTR R (BE)|[ JAL JAL _| SPKHND | HNDKOJ | 31,600 5% 38,600 7 .200 100 38,800 57%
ERB%E CRE) [ JAL JAL [ KOJHND [ HNDSPK | 33,300 3% 00 2 36.200 59% | 35.800 37.600 58%
AR TR =48 B8 | R TR % a CHE) | JAL JAL _| SPKHND | HNDOKA | 38,900 58% 00 4 38,300 58" 35,000 38,500 58%
| JAL JT) SPKFUK | FUKOKA | 35,800 3 00 6 32,600 6% 36,700 00 6%
B (ARER) ¢ [ BR (FIH) | JAL JAL [ OKAHND [ HNDSPK | 33.400 4 .600 59% 35,500 1 35,100 00 4%
KBz (B3#8) [ JTA JAL [ OKAKIX | KIXSPK | 36,000 36.400 1% .200 7 .900 39 400 6%
| JTA JAL | OKAFUK | FUKSPK | 37.400 00 6% 00 7 400 5% 400 1%
AR (BT =BEARFG TR (R CHE) | JAL JAL [ SPKHND [ HNDISG 800 00 1% 400 0 .500 59 8,000 58%
i R CHE)| JAL JAL | ISGHND | HNDSPK 100 00 0% 00 1 500 61 5,600 60"
BRE=%mA FE) [ JAL JAL _| FUKHND [HNDMMB 500 4 38,200 0% 000 1 35,700 6 38,800 60°
| JAL JAL _| FUKSPK | SPKMMB 400 68" 38,500 7 8,300 68" 500 72 26,900 70¢
)| JAL JAL _|MMBHND | HNDFUK 100 64% 39,100 59% | 39,700 59 500 64 38,200 0
| JAL JAL | MMBSPK | SPKFUK ,400 73% 9,000 7 26,600 70¢ .700 7 9,500 7
&R =18l )| JAL JAL _| FUKHND | HNDAKJ 400 4% 7,400 0 35,700 2 500 3,800 4
)| JAL JAL _| AKJHND | HNDFU 00 5% 2,400 6 37,300 0 .700 6 7,400 0
13 =8l )| JAL JAL _| FUKHND | HNDKUH | 36.900 0% 36,900 0 35,800 36,900 0% 4,600
)| JAL JAL UHHND | HNDFU 00 5% 34,100 35,400 00 6% 36,800
B =I5 )| JAL JAL _| FUKHND [HNDOBO 00 3% 35,300 36,000 00 3% 36,500
)| JAL JAL _| OBOHND | HNDFUK 00 4% 34,100 36,500 00 6% 36,100
RS )| JAL JAL [ FUKHND [ HNDHKD 000 0% 39,000 4 36.200 00 1% 34,500 59% |
)| JAL JAL | FUKI ITMHKD 900 7% 38,300 49 ,900 7 400 3% 27,700 63
)| JAL JAL _| HKDHND | HNDFUK 800 2% ,800 59 ,300 59 00 0% 38,700 54
)| JAL JAL | HKDI ITMFU 000 68% ,200 6 400 70 00 7 39,300 48
BE=5% )| JAL JAL | FUKHND [ HNDAOJ ,000 7 .000 7 00 7 ,800 1 ,800 71
)| JAL JAL | FUKI ITMAOJ | 20,500 7 ,300 5 0,500 7 600 54! ,600 54
)| JAL JAL | AOJHND | HNDFUK | 23,000 7 ,000 7 3,800 7 00 71 ,800 71
)| JAL JAL | AoJr ITMFUK | 20,500 7 700 56 0,500 7 500 48 500 48
)| JAL JAL _| FUKHND | HNDMSJ 000 74 000 74% 00 7 1,800 7 1,800 7
)| JAL JAL _| MSJHND | HNDFUK 000 74 000 74% 00 7 1,800 7 1,800 7
)| JAL JAL | MSJr ITMFUK 800 70 100 56% 00 70° 7,300 4 7,300 4
B =B )| JAL JAL | FUKHND [ HNDAXT 700 58 700 58% .300 55% .600 6 000
)| JAL JAL | AXTHND | HNDFUK | 31,200 59% ,800 4 35,500 3% ,200 3% ,200
)| JAL JAL | AXTI ITMFUK ,300 6% 900 1 ,300 6% .700 0% 700 0
faR =L )| JAL JAL _| FUKHND | HNDGAJ ,800 ,000 2 ,000 7% .200 62% 600 58"
)| JAL JAL | FUKI ITMGAJ ,800 ,000 53 ,800 1% ,600 55% 9,600 55%
)| JAL JAL _| GAJHND | HNDFUK | 25,900 ,500 55% ,800 58% ,800 58% 4,300 63%
[ JAL JAL | GAJI ITMFUK ,200 ,000 53% 5,200 62% 1,000 53% 1,000 53%




fahE =/ B |HEER(CHE)| JAL JAL | FUKHND | HNDKMQ| 25.900 4 4
MAF [ERRCRE)| JAL JAL _|KMQHND | HNDFUK | 27.200 2 0
BE=2% H #(AF [ JTA [JTA/RAC| FUKOKA [ OKAMMY| 26.800 2 2
#8 (JB) [JTA/RAC| _JTA | MMYOKA| OKAFUK | 26,900 52 52
BE=FRiE ()| JTA |JTA/RAC| FUKOKA | OKAISG | 27,000 57 X 57 [
Ei8% |58 (8% [JTA/RAC| JTA | ISGOKA | OKAFUK | 27,100 57 A 7 A
ESSTIETRA AR RCRE) [ JAL JAL _|MMBHND |HNDKMQ| 24,200 69 8, 4 4,
INARE FIE) [ JAL JAL _|KMQHND [HNDMMB| 26.500 6% 7, Y 4,
iR =RW ES Yk CHE)|  JAL JAL _|MMBHND | HNDOKJ | 30.400 5% 0,
i LLI 5 CRE) [ JAL JAL [ OKJHND [HNDMMB]| 33.700 2 0,
ES RN B Yk CHE) | JAL JAL _|MMBHND| HNDHIJ | 33,300 2 2,
NEES CRE) [ JAL JAL [ HIJHND [HNDMMB]| 35,600 0 2,
TR =HE ZHAIF CHE)|  JAL JAL _|MMBHND| HNDIZO | 33,000 2 36,
HE CHE) | JAL JAL | IZOHND [HNDMMB| 34.400 0 36,
iR =10 ZHAIF CHE)| JAL JAL _|MMBHND | HNDMYJ | 35,500 1 39,
PN CHE)|  JAL JAL _| MYJHND [HNDMMB| 37.900 58 39,
ESCRIEE= ESERIES (HE)| JAL JAL _[MMBHND]| HNDISG | 44,900 64
hHER (RE)[ JAL JAL | ISGHND [HNDMMB| 47.200 62
TBIT=/M JCIES (BE)|[ JAL JAL _| AKJHND [HNDKMQ| 22,700 70
INAFE (RE)[ JAL JAL _|KMQHND | HNDAKJ | 24,200 68
BI=rRaE BIIZE (RE)[ JAL JAL__| AKJHND [HNDSHM| 24,800 71%
FE) [ JAL JAL | SHMHND | HNDAKJ | 31,400 3%
JeIT=FEW0 )| JAL JAL | AKJHND | HNDOKJ | 29,900 5% .
)| JAL JAL | OKJHND | HNDAKJ | 31,400 3% 0.
JEN=HE )| JAL JAL _| AKJHND | HNDIZO .100 5% 35,
)| JAL JAL | 1IZOHND | HNDAKJ | 33.400 0% 35,
JENT=#10 )| JAL JAL _| AKJHND | HNDMYJ | 33,900 2% 7,
)| JAL JAL | MYJHND | HNDAKJ | 35,800 59% 7.
JI=H1E )| JAL JAL _| AKJHND | HNDISG 00 2%
)| JAL JAL | ISGHND | HNDAKJ | 43,700 2%
SR =/ )| JAL JAL _| KUHHND [HNDKMQ| 25,200 6%
)| JAL JAL _|KMQHND | HNDKUH 000 4
SgE=FE0 )| JAL JAL | KUHHND | HNDOKJ 400 3
)| JAL JAL _| OKJHND | HNDKUH 00 0
fIE=1L55 )| JAL JAL [ KUHHND [ HNDHIJ 00 0
)| JAL JAL | HIJHND | HNDKUH | 36.100 58 0
flE=HE )| JAL JAL [ KUHHND [ HNDIZO | 32,200 61% 6 ]
)| JAL JAL | IZOHND | HNDKUH | 36.400 56% 6% 36.
HIER =430 )| JAL JAL [ KUHHND [ HNDMYJ | 36.400 58% 53% 35,
[ JAL JAL YJHND | HNDKUH | 39,100 55% 55% 39,
SIE=hE )| JAL JAL | KUHHND | HNDISG 900 2
)| JAL JAL _| ISGHND | HNDKUH 700 4
HHE=/M )| JAL JAL [ OBOHND [HNDKMQ 600 7 4
[ JAL JAL _|KMQHND [HNDOBO| 23,700 68
HLE=FEW0 )| JAL JAL _| OBOHND | HNDOKJ | 30.900 2
)| JAL JAL _| OKJHND [HNDOBO| 30.900 6 X
HE=HE ) JAL JAL [OBOHND][ HNDIZO | 32,500 6% 35, ’
)| JAL JAL | 1IZOHND |HNDOBO| 33,800 59% | 6% 35, %
HE=H0 )| JAL JAL | OBOHND | HNDMYJ | 35,900 59% | 6% 37, %
)| JAL JAL _| MYJHND [HNDOBO| 35,500 59 7 36,
FL=RE )| JAL JAL | OBOHND | HNDISG 00 2 0
)| JAL JAL | ISGHND [HNDOBO 400 3
AR =/ )| JAL JAL [ HKDHND [HNDKMQ 400 4 4
)| JAL JAL _|KMQHND | HNDHKD 00 Y 7
EEE =Rl )| JAL JAL [ HKDHND [ HNDOKJ ,600 0 1
[ JAL JAL _| OKJHND | HNDHKD | 31,000 59 55%
EHiE=LEE )| JAL JAL [ HKDHND [ HNDHIJ 500 58
)| JAL JAL | HIJHND | HNDHKD | 32,900 57%
EHEE=HE )| JAL JAL [ HKDHND [ HNDIZO .800 0%
)| JAL JAL | HKDITM | ITMIZO ,800 7% 5
)| JAL JAL | 1IZOHND | HNDHKD | 34,000 4% 3
)| JAL JAL | 1ZOI ITMHKD ,700 6% 4
EEE=#a0 )| JAL JAL [ HKDHND [ HNDMYJ | 35,200 55% 1
)| JAL JAL | HKDI ITMMYJ | 25,100 2% , 0
[ JAL JAL 'YJHND | HNDHKD | 35,700 2% 7, 2
EfE=d M )| JAL JAL [ HKDHND | HNDKKJ 00 6% 64
)| JAL JAL _| KKJHND | HNDHKD 00 6% 6%
EHEE=K% )| JAL JAL [ HKDHND [ HNDOIT .900 3%
)| JAL JAL _| HKDITM | ITMOIT ,700 66%
)| JAL JAL | OITHND | HNDHKD | 21,900 73%
)| JAL JAL | oIl ITMHKD ,000 61%
=R )| JAL JAL [ HKDHND [ HNDNGS 400 74%
)| JAL JAL | HKDI ITMNGS ,200 65%
)| JAL JAL | NGSHND | HNDHKD | 22,400 74%
RER(FFD | JAL JAL GSITM | ITMHKD 400 67%
BEER  [EE(CRHE)| JAL JAL [ HKDHND [ HNDKMJ 400 73%
RIR(EE|  JAL JAL [ HKDI ITMKMJ .900 65%
AR [EER(CEH)| JAL JAL [ KMJHND [ HNDHKD 400 7
ABR (| JAL JAL | KMJI ITMHKD 00 64 .
EHEE=H R WEER [ERERCHE)| JAL JAL [ HKDHND [ HNDKMI 400 7 3,
ABR (| JAL JAL | HKDI ITMKMI 200 6 35,
ECEEVAC NN JAL [ KMIHND [ HNDHKD 400 7
R |  JAL JAL [ KMIT ITMHKD 00 6.
HE=ERE WEER [ERERCHE)| JAL JAL | HKDHND [ HNDKOJ 400 74
RIR(EE|  JAL JAL [ HKDI ITMKOJ 00 6
BRBE [EER(CHHE)| JAL JAL _| KOJHND | HNDHKD 400 74
RIR(EE|  JAL JAL [ KOJITM [ ITMHKD 00 64
HfE=h1E AR RCHEA) [ JAL JAL [ HKDHND [ HNDISG 00 1%
aLER (RE)[ JAL JAL _| ISGHND | HNDHKD 00 0%
BEHE=/I HHR (BE)| JAL JAL [ AOJHND [HNDKMQ 00 7%
INAFE (RE) [ JAL JAL__|KMQHND | HNDAOJ 00 76% )
EHR=ARAE HEHRE CHE)|[  JAL JAL [ AOJHND [ HNDSHM 00 0, .
EREEER CHE)|  JAL JAL _| SHMHND | HNDAOJ 00 0, 0,
HEH=REWL EHRE CRE) [ JAL JAL [ AOJHND | HNDOKJ 400 7.
] LLI 5 CRE) [ JAL JAL [ OKJHND [ HNDAOJ 400 8,
EH=LE HHR CHE)|[  JAL JAL [ AOJHND | HNDHIJ | 30.300 0 0,
LE&% CRE) [ JAL JAL [ HIJH HNDAOJ [ 30.300 04 9,
HEF=LOFH HHR CHE)|[  JAL JAL [ AOJHND [ HNDUBJ 400 7% . 0,
WO RS CHE)| JAL JAL _| UBJHND | HNDAOJ 00 6% 7, 1,
EH=-HE EHRE  [EmRCEE)| JAL JAL [ AOJHND [ HNDIZO 00 0 0, 0,
ARME | JAL JAL [ AOJr ITMIZO .100 4 0. 0,
HER  [RRCHEHE)| JAL JAL [ IZOHND [ HNDAOJ| 30.100 59 0. 0,
RIR(EE|  JAL JAL [ 1ZOITM [ ITMAOJ | 18,900 73
EH=1E BHE (ERCHE)| JAL JAL [ AOJHND [ HNDTKS | 20.300 72
#mex [EERE@EH)| JAL JAL [ TKSHND [ HNDAOJ| 20.300 72




EHh=mhk HHERE |[ERCRE)| JAL JAL | AOJHND | HNDTAK | 20.200 7 0.200 7 0.500 72% 0,500 72% 0,500 72%
Bi%  [ERCEE)| JAL JAL [ TAKHND [ HNDAOJ| 20.200 7 0,200 7 0,500 72% 0,500 72% 0.500 72%
EH=mH A% (ERCHE)| JAL JAL [ AOJHND [ HNDKCZ | 20.300 7 0,300 7 1,300 72% 4,100 68% 4,100 68%
BE% [ERCRE)] JAL JAL [ KCZHND [ HNDAOJ| 20.300 7 0,300 7 4,000 68% 4,000 68% 4,000 68%
HH=m BERE  [EER@E@EHR)| JAL JAL [ AOJHND [ HNDMYJ| 20.000 74 0,000 74 0,500 7 0,500 7 0,500 7
RER(FFD [ JAL JAL [ AOJr ITMMYJ | 19.400 71 9,700 55% 9.400 7 2,700 5 2,700 5
BIN%  [ERCEE)|[ JAL JAL _| MYJHND | HNDAOJ| 20,000 74 0,000 74% 0,500 7 0,500 7 0,500 7
KRR JAL JAL | MYJI ITMAOJ 400 71 00 55% ,400 7 7,700 58 7,700 58
BEF=IAM HEHRE RCHE) [ JAL JAL [ AOJHND [ HNDKKJ .800 74 00 74 600 7 00 7 00 7
JEAMFE RCRE) [ JAL JAL | KKJHND | HNDAOJ| 21,800 74 00 74 600 7 00 7 00 7
EHR=KS HHR SFCRE)[ JAL JAL [ AOJHND [ HNDOIT .700 7 .700 7 500 7 500 7 500 7
RER(FFD [ JAL JAL [ AOJITM | ITMOIT ,000 7 .800 5 ,000 7 .600 5 .600 5
K% [HEERCHHEH)| JAL JAL [ OITHND [ HNDAOJ .700 7 .700 7 500 7 500 7 .500 7
RER(FFD [ JAL JAL [ oI ITMAOJ .400 69 .900 5 ,000 7 .100 5 .100 5
EHR=RK FHX  [ERCEE)| JAL JAL [ AOJHND [ HNDNGS .200 73 .200 7 .000 7 ,000 7 ,000 7
RER(FFD [ JAL JAL [ AOJr ITMNGS .500 71 .200 56! .500 7 36.400 5 36.400 5
RIGE [EERCHEH)| JAL JAL [ NGSHND [ HNDAOJ .200 73 ,200 73% ,000 7 .000 7 ,000 7
RER(FFD [ JAL JAL [ NGSI ITMAOJ .800 74 .600 56% .800 74 .800 56 .800 56
EFHX  |[ERCEE)|[ JAL JAL | AOJHND | HNDKMJ | 21,800 74 .800 74% ,600 73 ,600 73% 600 73%
RER(FFD [ JAL JAL [ AOJr ITMKMJ .200 71 .700 57% .200 71 .700 53% .700 53%
AR [EER(CRH)| JAL JAL [ KMJHND [ HNDAOJ .800 74 .800 74% ,600 73 600 73% 600 73%
PNACI I JAL | KMJITM | ITMAOJ | 21,200 71% 31,900 57% 21,200 71% 31,700 57% 31,700 57%
EH =T EHER [EER@H)| JAL JAL [ AOJHND | HNDKMI | 21,800 74% 21,800 74% 22,600 73% 22,600 73% 22,600 73%
AR (B[ JAL JAL__| AOJITM | ITMKMI | 23,500 68% 34,100 54% 23,500 68% 36,400 51% 36,400 51%
BkRE [ERCRE)|] JAL JAL | KMIHND | HNDAOJ| 21,800 74% 21,800 74% 22,600 73% 22,600 73% 22,600 73%
AR (B[ JAL JAL | KMITM | ITMAOJ | 22,900 69% 36,400 51% 22,900 69% 36,200 51% 36,200 51%
EH=-ERE EHER [EE@H)| JAL JAL [ AOJHND | HNDKOJ | 23,200 73% 23,200 73% 24,000 72% 24,000 72% 24,000 72%
RO [ JAL JAL__| AOJITM | ITMKOJ | 21,900 72% 33,100 58% 21,400 73% 37,600 52% 37,600 52%
BEREE [EZCRE)|[ JAL JAL__| KOJHND | HNDAOJ | 23,200 73% 23,200 73% 24,000 72% 24,000 72% 24,000 72%
AR ([ AL JAL | KOJITM | ITMAOJ | 21,000 73% 36,300 54% 21,000 73% 34,900 55% 34,900 55%
(BE)| JAL JAL | AOJHND | HNDISG | 41,000 63% 41,100 63% 42,000 62% 42,700 61% 42,500 61%
CHE)| JAL JAL | ISGHND | HNDAOJ| 40,900 63% 41,000 63% 41,000 63% 41,500 62% 43,200 61%
=R% (BE)| JAL JAL__| MSJHND |HNDKMQ| 14,800 77% 14,800 77% 15,500 76% 15,500 76% 15,500 76%
IS CHE)| JAL JAL__|KMQHND | HNDMSJ | 15,300 76% 15,300 76% 16,500 74% 16,500 74% 16,500 74%
ZR% CHE) | JAL JAL__| MSJHND | HNDOKJ | 27,000 63% 26,300 64% 26,100 64% 25,600 65% 22,800 69%
TE)|[ JAL JAL | OKJHND | HNDMSJ | 28,000 62% 24,800 66% 22,100 70% 22,800 69% 26,800 63%
AE) | JAL JAL__| MSJHND | HNDHIJ | 29,900 60% 26,400 64% 28,500 62% 26,400 64% 25,400 66%
AE) | JAL JAL | HIJHND | HNDMSJ| 29,900 60% 25,900 65% 23,200 69% 23,600 68% 26,900 64%
AE) | JAL JAL__| MSJHND | HNDUBJ | 26,000 67% 29,600 63% 28,900 63% 27,100 66% 26,000 67%
AE) | JAL JAL__| UBJHND | HNDMSJ | 26,400 67% 27,500 65% 25,600 68% 24,200 69% 30,000 62%
AE) | JAL JAL__| MSJHND | HNDIZO | 26,800 63% 30,100 58% 30,100 58% 30,100 58% 29,400 59%
AE) | JAL JAL | IZOHND | HNDMSJ| 29,600 59% 29,700 59% 29,100 59% 29,100 59% 30,100 58%
| JAL JAL | IZOITM | ITMMSJ | 22,400 68% 30,100 57% 22,400 68% 30,100 57% 30,100 57%
AE) | JAL JAL__| MSJHND | HNDTKS | 19,300 73% 19,300 73% 20,300 72% 20,300 72% 20,300 72%
AE) | JAL JAL | TKSHND | HNDMSJ| 19,300 73% 19,300 73% 20,300 72% 20,300 72% 20,300 72%
AE) | JAL JAL__| MSJHND | HNDTAK | 19,200 74% 19,200 74% 19,500 73% 19,500 73% 19,500 73%
AE) | JAL JAL | TAKHND | HNDMSJ | 19,200 74% 19,200 74% 19,500 73% 19,500 73% 19,500 73%
AE) | JAL JAL__| MSJHND | HNDKCZ | 19,300 74% 19,300 74% 20,300 73% 23,100 69% 23,100 69%
AE) | JAL JAL__| KGZHND | HNDMSJ | 19,300 74% 19,300 74% 23,000 69% 23,000 69% 23,000 69%
AE) | JAL JAL__| MSJHND | HNDMYJ | 19,000 75% 19,000 75% 19,500 74% 19,500 74% 19,500 74%
ME) | JAL JAL__| MYJHND | HNDMSJ | 19,000 75% 19,000 75% 19,500 74% 19,500 74% 19,500 74%
V| JAL JAL | MYJITM | ITMMSJ | 22,900 66% 31,700 53% 22,900 66% 32,500 52% 32,500 52%
AE) | JAL JAL__| MSJHND | HNDKKJ | 19,800 76% 19,800 76% 20,600 75% 20,600 75% 20,600 75%
)| JAL JAL__| KKJHND | HNDMSJ | 19,800 76% 19,800 76% 20,600 75% 20,600 75% 20,600 75%
)| JAL JAL__| MSJHND | HNDOIT | 19,700 75% 19,700 75% 20,500 74% 20,500 74% 20,500 74%
ME) | JAL JAL | OITHND | HNDMSJ| 19,700 75% 19,700 75% 20,500 74% 20,500 74% 20,500 74%
V| JAL JAL | OITITM | ITMMSJ | 24,900 65% 34,600 51% 22,500 68% 34,600 51% 34,600 51%
| JAL JAL__| MSJHND | HNDNGS | 21,200 75% 21,200 75% 22,000 74% 22,000 74% 22,000 74%
)| JAL JAL__|NGSHND | HNDMSJ | 21,200 75% 21,200 75% 22,000 74% 22,000 74% 22,000 74%
| JAL JAL | NGSITM | ITMMSJ | 23,300 70% 34,600 56% 23,300 70% 36,400 54% 36,400 54%
)| JAL JAL__| MSJHND | HNDKMJ | 19,800 76% 19,800 76% 20,600 75% 20,600 75% 20,600 75%
)| JAL JAL__| KMJHND | HNDMSJ | 19,800 76% 19,800 76% 20,600 75% 20,600 75% 20,600 75%
| JAL JAL | KMJITM | ITMMSJ | 24,700 67% 33,700 55% 24,700 67% 34,500 54% 34,500 54%
)| JAL JAL__| MSJHND | HNDKMI | 19,800 76% 19,800 76% 22,600 72% 22,600 72% 22,600 72%
| JAL JAL | MSJITM | ITMKMI | 26,400 65% 34,400 54% 22,000 71% 36,400 52% 36,400 52%
)| JAL JAL | KMIHND | HNDMSJ| 19,800 76% 19,800 76% 22,600 72% 22,600 72% 22,600 72%
[ JAL JAL | KMITM | ITMMSJ | 22,000 71% 36,400 52% 22,000 71% 36,400 52% 36,400 52%
=ERS | JAL JAL__| MSJHND | HNDKOJ | 21,200 75% 21,200 75% 22,000 74% 22,000 74% 22,000 74%
| JAL JAL | MSJITM | ITMKOJ | 24,400 69% 33,500 58% 24,400 69% 37,600 53% 37,600 53%
| JAL JAL__| KOJHND | HNDMSJ | 21,200 75% 21,200 75% 22,000 74% 22,000 74% 22,000 74%
| JAL JAL__| KOJITM | ITMMSJ | 24,500 69% 37,200 53% 24,400 69% 36,800 54% 36,800 54%
=FHiE FE) | JAL JAL__| MSJHND | HNDISG | 41,500 62% 41,600 62% 41,600 62% 42,300 61% 39,100 64%
AE) | JAL JAL | ISGHND | HNDMSJ| 38,200 65% 38,300 65% 38,300 65% 38,800 65% 42,000 62%
A=/ FMED | JAL JAL | AXTHND |HNDKMQ| 17,200 70% 17,200 70% 18,300 68% 18,300 68% 18,300 68%
AE) | JAL JAL__|KMQHND | HNDAXT | 17,100 70% 17,100 70% 17,500 70% 17,500 70% 17,500 70%
ME=mitaE FE) | JAL JAL [ AXTHND [ HNDSHM| 26,800 59% 26,800 59% 26,800 59% 26,800 59% 26,800 59%
AE) | JAL JAL__| SHMHND | HNDAXT | 26,800 59% 26,800 59% 26,800 59% 26,800 59% 26,800 59%
FE=FEL FMED | JAL JAL__| AXTHND | HNDOKJ | 26,800 60% 26,000 61% 26,700 60% 22,500 67% 22,500 67%
AE) | JAL JAL__| OKJHND | HNDAXT | 26,800 60% 26,500 61% 26,800 60% 22,500 67% 23,200 66%
MEA=L5 AE) | JAL JAL__| AXTHND | HNDHIJ | 28,500 58% 28,500 58% 28,500 58% 25,500 63% 25,500 63%
AE) | JAL JAL | HIJHND | HNDAXT | 28,500 58% 28,500 58% 28,500 58% 25,100 63% 25,100 63%
ME=LOFH FMED | JAL JAL__| AXTHND | HNDUBJ | 26,900 63% 30,900 58% 29,500 60% 23,500 68% 25,400 65%
AE) | JAL JAL__| UBJHND | HNDAXT | 28,100 62% 29,200 60% 30,600 58% 23,900 67% 26,400 64%
ME=HE FMED | JAL JAL__| AXTHND | HNDIZO | 26,800 59% 26,800 59% 26,800 59% 26,800 59% 26,800 59%
V| JAL JAL | AXTITM | ITMIZO | 20,900 68% 27,800 57% 20,900 68% 25,800 60% 25,800 60%
)| JAL JAL | IZOHND | HNDAXT | 26,800 59% 26,800 59% 26,800 59% 26,800 59% 26,800 59%
| JAL JAL | IZOITM | ITMAXT | 21,700 66% 26,800 58% 21,700 66% 27,300 58% 27,300 58%
HEA=1E5 | JAL JAL__| AXTHND | HNDTKS | 20,200 70% 20,200 70% 20,700 69% 20,700 69% 20,700 69%
)| JAL JAL | TKSHND | HNDAXT | 20,200 70% 20,200 70% 20,700 69% 20,700 69% 20,700 69%
HREA=51 )| JAL JAL | AXTHND | HNDTAK | 20,200 70% 20,200 70% 20,700 69% 20,700 69% 20,700 69%
)| JAL JAL | TAKHND | HNDAXT | 20,200 70% 20,200 70% 20,700 69% 20,700 69% 20,700 69%
ME=FA | JAL JAL__| AXTHND | HNDKCZ | 20,300 71% 20,300 71% 20,800 70% 20,800 70% 20,800 70%
RCHE)|[ JAL JAL | KGZHND | HNDAXT | 20,300 71% 20,300 71% 20,800 70% 20,800 70% 20,800 70%
FRE=HL kBF% [RECHE)| JAL JAL__| AXTHND | HNDMYJ | 20,400 71% 20,400 71% 20,900 70% 20,900 70% 20,900 70%
AR (B[ JAL JAL | AXTITM | ITMMYJ | 21,000 66% 24,100 61% 21,000 66% 24,900 60% 24,900 60%
mil%E  [ERCEE)|[ JAL JAL | MYJHND | HNDAXT | 20,400 71% 20,400 71% 20,900 70% 20,900 70% 20,900 70%
ABR (| JAL JAL | MYJITM | ITMAXT | 21,000 66% 24,500 60% 21,000 66% 24,700 60% 24,700 60%
BEA=4tAm U FE FCRHE) [ JAL JAL [ AXTHND | HNDKKJ | 28,500 62% 28,500 62% 30.100 60% 23,300 69% 26,600 65%
JE A RCRE)|[ JAL JAL__| KKJHND | HNDAXT | 27,200 64% 27,200 64% 31,000 59% 23,000 70% 28,200 63%
MEA=X% EX [EZCHE)| JAL JAL [ AXTHND [ HNDOIT | 29,700 60% 31,000 58% 31,000 58% 26,400 64% 28,000 62%
KR (B | JAL JAL | AXTITM | ITMOIT | 20,600 68% 27,200 58% 20,600 68% 30,600 53% 30,600 53%
AH%E  [ERCEE)|[ JAL JAL | OITHND | HNDAXT | 30,100 59% 30,400 59% 30,700 59% 26,000 65% 26,400 64%
R JAL JAL | OITITM | ITMAXT | 23,000 64% 28,500 56% 21,800 66% 31,000 52% 31,000 52%




PEEST EFE [ERERCEHE)| JAL JAL | AXTHND | HNDNGS | 29,500 62% 31,300 60% 30.700 61% 25,000 68%
KER (R | JAL JAL | AXTITM | ITMNGS | 24,100 67% 32,700 55% 24,100 67% 30,900 57%
)| JAL JAL | NGSHND | HNDAXT | 29,700 62% 0,100 ,600 58% ,400 66%
[ JAL JAL | NGST ITMAXT ,600 69% ,200 ,600 69% ,700 55%
FE=RX )| JAL JAL [ AXTHND [ HNDKMJ 700 61% ,700 .600 58% ,700 6%
[ JAL JAL | AXTI ITMKMJ ,000 66% ,700 ,000 6% ,900
)| JAL JAL | KMJHND | HNDAXT | 31,300 59% .300 59 ,500 7% ,600
)| JAL JAL | KMJI ITMAXT ,000 6% 500 ,600 6% ,500
ME=5k )| JAL JAL [ AXTHND [ HNDKMI .700 3 .300 .900 2 .200 69
)| JAL JAL | AXTITM | ITMKMI | 25,100 4 700 00 4 00 53%
)| JAL JAL _| KMIHND | HNDAXT | 28,100 3 100 63 ,300 1 00 68%
)| JAL JAL | KMIT ITMAXT | 20.100 1 ,700 57% 0,100 1 ,200 55%
HE=ERE )| JAL JAL [ AXTHND | HNDKOJ .700 75% ,700 75% 0.800 73 0,800 73%
)| JAL JAL | AXTI ITMKOJ ,700 67% .900 54% 4,200 67% 0,100 59%
[ JAL JAL | KOJHND | HNDAXT | 19,700 75% ,700 75% 0,800 73% 0,800 7
)| JAL JAL | KOJI ITMAXT ,800 68% 0,000 59% 3,700 68% 3,900 4
ME=RE )| JAL JAL | AXTHND | HNDISG | 40.200 61% 0,300 0,300 1% 38,700
)| JAL JAL | ISGHND | HNDAXT | 40.200 61% 0,300 0,300 1% 38,500
EE=HE )| JAL JAL [ HNAITM [ ITMIZO 7,500 59% 1.900 9,600 6% 35,100 48
)| JAL JAL | IZOITM | ITMHNA | 27.500 59% 1,900 9,600 6% 31,900 2%
fEE=Hl )| JAL JAL [ HNAI ITMMYJ | 30.500 0.000 0.500 3% 35,100 45% 4
)| JAL JAL Y] ITMHNA | 30,500 0,500 0,500 3% 31,900 0%
EE=KS )| JAL JAL [ HNAI ITMOIT .400 35,100 48 1.400 53% 35,100 48%
)| JAL JAL ITIT MHNA ,200 52 32,200 2 0,500 55% 32,200 2
EE=RiE )| JAL JAL [ HNAL MNGS ,000 55% 35,100 3 000 55% 35,100 3
)| JAL JAL GSITM | ITMHNA .300 58% 34,600 4 300 58% 34,600 4
TEE=RX )| JAL JAL [ HNAI MKMJ .400 54% 35,100 1 .400 54% 35,100 1
)| JAL JAL MJ MHNA ,700 55% 33,400 4 700 55% 33,400 4
EE=Hk )| JAL JAL [ HNAI ITMKMI .400 4% 35,100 1 400 4 35,100 1
JAL JAL | HNAFUK | FUKKMI ,000 2% 000 0 ,000 ,900 59
JAL JAL_| KMITM | ITMHNA ,400 2% 400 4 ,400 4 400 54%
JAL JAL__| KMIFUK | FUKHNA 00 5% 00 59 000 Y 000 60%
TEE=ERE )| JAL JAL [ HNAITM [ ITMKOJ 00 55% 35,100 54% 00 6 35,100 54%
[ JAL JAL | KOJI ITMHNA 00 7% 00 55% 00 7% ,600 55%
IS )| JAL JAL _| GAJHND [HNDKMQ 00 5% 00 5% 500 3% ,400 6%
)| JAL JAL _|KMQHND | HNDGAJ 00 5% 00 5% 6,800 5% ,600 7
Wiz =RW )| JAL JAL _| GAJHND | HNDOKJ 000 58% 00 0% 0,800 4 ,800 4
)| JAL JAL _| OKJHND | HNDGAJ 000 58% .300 63% 400 00 2
=55 )| JAL JAL _| GAJHND | HNDHIJ 00 6% ,900 57 00 00 59
)| JAL JAL | HIJHND | HNDGAJ 00 6% 00 61 00 00 1
\ILfz =L O )| JAL JAL _| GAJHND | HNDUBJ 00 6% 00 59 00 00 4
)| JAL JAL | UBJHND | HNDGAJ 00 5% ,200 63 00 00 3
I =HE [ JAL JAL _| GAJHND | HNDIZO 00 59 400 49 400 4 400 49
)| JAL JAL | GAJI ITMIZO 00 4 400 55% 00 4 400 55%
)| JAL JAL | 1IZOHND | HNDGAJ 00 0 400 49% 400 49 ,400 49%
)| JAL JAL | 1IZOITM | ITMGAJ 00 2 400 55% 200 2 ,200 7%
L =%5 )| JAL JAL _| GAJHND | HNDTKS 00 6 ,300 56% 200 6 5,300 6%
)| JAL JAL | TKSHND | HNDGAJ 400 54% ,000 56% 700 53% 700
=5 )| JAL JAL _| GAJHND | HNDTAK 000 54% 000 54% 000 54% 000 4
) JAL JAL _| TAKHND | HNDGAJ 00 58% 000 54% 000 54% 000 4
I T )| JAL JAL _| GAJHND | HNDMYJ 00 55% 00 55% 00 55% 00 4
)| JAL JAL | GAJI ITMMYJ ,600 61% ,800 56% ,600 61% 7,600 4
[ JAL JAL__| MYJHND [ HNDGAJ | 26,800 55% ,900 55% ,800 55% ,300 %
)| JAL JAL | MYJr ITMGAJ 00 ,800 56% 00 00 6 %
=K% [ JAL JAL _| GAJHND | HNDOIT 400 ,500 59 00 00 0
)| JAL JAL | GAJITM | ITMOIT 200 0,100 00 0,100
)| JAL JAL _| OITHND | HNDGAJ 000 4,000 00 4,200
)| JAL JAL | OITITM | ITMGAJ 700 0,100 ,300 0,100
i =KiE [ JAL JAL _| GAJHND | HNDNGS 200 5% 000 ,600 4 00 4
)| JAL JAL | GAJI ITMNGS 700 2% 700 4 ,700 2 00 4
)| JAL JAL | NGSHND | HNDGAJ 000 2% 000 62 ,900 1 000 62
)| JAL JAL | NGST ITMGAJ 100 5% 900 55% 100 5% 600 57
IEASF )| JAL JAL _| GAJHND | HNDKMJ 000 000 63% 400 300 63
)| JAL JAL | GAJI ITMKMJ 900 000 55% 900 000 55%
)| JAL JAL | KMJHND | HNDGAJ 00 000 63% 700 000 63%
)| JAL JAL | KMJI ITMGAJ 500 200 56% 100 2 300 57%
WL ==5 )| JAL JAL _| GAJHND | HNDKMI 400 6 ,000 63% ,800 5% 800 65%
)| JAL JAL | GAJITM | ITMKMI ,700 59% ,000 55% ,700 59% 000 55%
)| JAL JAL _| KMIHND | HNDGAJ | 22,400 66% 400 66% ,800 5% 400 66%
)| JAL JAL | KMIT ITMGAJ .200 62% ,000 55% ,200 2 000 55%
L =ER& )| JAL JAL _| GAJHND | HNDKOJ | 22,000 68% ,000 62% 500 4 700 65%
)| JAL JAL | GAJI ITMKOJ 00 ,600 55% 00 4 700 55%
)| JAL JAL _| KOJHND | HNDGAJ 00 000 68% 00 400 64
[ JAL JAL | KOJI ITMGAJ 00 4 700 55% 00 4 0,900 57
i =%a1E )| JAL JAL _| GAJHND | HNDISG 500 0 00 0% ,600 0 38,300 59% |
AE) | JAL JAL | ISGHND | HNDGAJ| 37.500 0 7,600 0% 7,600 0 38,100 59% |
le=HE A JAL JAL [ SDJITM | ITMIZO 4,100 1 7.300 6% 4,100 1 00 58
M| JAL JAL | 1IZOITM | ITMSDJ | 23,200 2 00 7% 2,700 3 00 57%
flhE =zl | JAL JAL [ SDJIT ITMMYJ | 20,800 5% 00 1% 0.800 5% 00 61%
| JAL JAL [ MYJITM [ ITMSDJ 00 .900 58% 00 00 58%
WE=X% | JAL JAL | SDJITM | ITMOIT 00 100 00 ,900 3% X
)| JAL JAL [ oImiT TMSDJ 00 00 00 4 0.100 1% 0.
e =Rk A JAL JAL [ SDJIT TMNGS 400 6 00 400 6 0,700 6% 0.
M| JAL JAL | NGSITM | ITMSDJ 00 600 59 00 5% 700 3%
s =fex | JAL JAL [ SDJIT TMKMJ 00 ,700 6 00 00 0%
)| JAL JAL [ KMJITI TMSDJ 00 700 6% 00 4 00 58%
=2k | JAL JAL [ SDJIT TMKMI 00 700 1% 00 00 54%
)| JAL JAL [ KMIT MSDJ 00 ,700 1% 00 3 00 51%
We=ERE FH|  JAL JAL [ SDJITI MKOJ 00 4 ,700 4% 000 5% 00 58%
)| JAL JAL [ KOJIT MSDJ ,300 2 00 55% 00 3 00 54
HE | JAL JAL | KIJIT ITMIZO | 24,300 59 00 59 00 59 00 59
)| JAL JAL [ 1ZOITl ITMKIJ 1.200 4 .100 59 .200 4 00 59
)| JAL JAL [ KIJIT ITMMYJ | 20.400 4 ,200 400 4 00 1
)| JAL JAL [ MYJIT ITMKIJ .700 .600 .700 2 .700 6
| JAL JAL [ KIJIT ITMOIT .800 .900 .800 .900 3
)| JAL JAL [ oImiT ITMKIJ ,100 4,800 58 00 4 8,500 2
M| JAL JAL | KIJITM | ITMNGS .800 69 7,400 59 ,800 69 7,400 59
M| JAL JAL | NGSITM | ITMKIJ ,600 5% 500 4 ,100 7 000 54
M| JAL JAL | KIJITM | ITMKMJ ,000 ,000 0 ,000 3 200 63
M| JAL JAL | KMJITM | ITMKIJ ,500 4 00 4 00 4 700 59
EHE | JAL JAL | KIJITM | ITMKMI ,600 4 00 58" 00 0 900 54
M| JAL JAL | KMITM | ITMKIJ ,600 4 7,600 57% 00 4 0,100 53
HR=ERE FH|  JAL JAL [ KIJITM [ ITMKOJ .100 4 0,000 6% .100 4 7.400 60
[ JAL JAL | KOJITM | ITMKIJ ,300 6 ,800 1% ,300 6 1,000 55%
Ay =RE BERCHA)| JAL JAL _[KMQHND [ HNDOKJ ,000 4% 000 6% 000 6% 9,900 69%
FELFE [RRCHE)| JAL JAL [ OKJHND [HNDKMQ .900 3% 000 7% 900 6% 1.800 66%




INE=IREE JAL JA D| HNDHIJ 62% 63% 65%
JAL JAL D _[HNDKMQ 60% 64% 65%
MA=1LOFE JAL JAL _[K D [ HNDUBJ 70% 65% 70%
JAL JAL_|U D [HNDKMQ 69% 68% 68%
IMA=HE JAL JAL _[K D[ HNDIZO 61% 58% 58%
JAL JAL [ 1 HNDKMQ 58% 58% 58%
IME=TEE JAL JAL _[K D [ HNDTKS 0 0 1
JAL JAL_ [T D [HNDKMQ 0 0 0
A= JAL JAL K D[ HNDTAK 1 1 1
JAL JAL_| TAKHND |HNDKMQ 1 1 1
IMNA=T JAL JAL _|KMQHND | HNDKCZ 59 . 59 59 , 59
JAL JAL_| KGZHND |HNDKMQ 59% 7, 59% , 59% 7, 59%
ME=F0 JAL JAL _|KMQHND | HNDMYJ 60% 7, 58% 7, 59% 7, 59%
JAL JAL D [ HNDKMQ 60% 60% 8, 57% 57
IME=IEAM JAL JAL D[ HNDKKJ 68% 68% 0, 1% 1
JAL JAL D [HNDKMQ 69% 69% 68% 3
IME=K% JAL JAL D[ HNDOIT 4% 1% 63% 0
JAL JAL HNDKMQ 5% 5% 63% 59
M= JAL JAL D | HNDNGS 6% 1% 69% 4
JAL JAL D [HNDKMQ 7% 7% 68%
INR=FER JAL JAL D | HNDKMJ 6% 5% % 66%
JAL JAL D [ HNDKMQ 7% 7% % 62
IMNR=TF IR JAL JAL D [ HNDKMI 0% 2% % 71 68
JAL JAI D [HNDKMQ 70% 0% % 71 66%
IMA=ERE JAL JAI D [ HNDKOJ . 77% 77% 74 74
JAL AL D [ HNDKMQ| 18, 75% 75% 73 73
IMA=FEH TA A] OKAMMY| 30, 7 7 49 52
JTA/RAC A OKAKMQ |30, 7 7 2 49
IMNA=F1E JAL D[ HNDISG | 36. 4 4
JTA A| OKAISG | 30, 1 7
JAL D [HNDKMQ| 36, 4 4
JTA/RAC A | OKAKMQ | 31,4 0 0 6
AL == JTA A [ OKAMMY| 30. 3 2 43%
JTA/RAC A OKAOKJ |33, 48 3 2%
EL=%1E JTA OKAISG | 30, 56% 6 48%
/RAC OKAOKJ 51% 55% 55%
EEI=E AL Al FUKKMI 58% 52% 55%
JAL JA| FUKKCZ 58% 55% 6%
PR RE) =FH JAL JA HNDAOJ 66% 4
JAL JAL ITMAOJ 75% 4
JAL JAL HNDOKA 70 7
JAL JAL ITMOKA 74 7 6
() = JAL JAL D [ HNDMSJ 69 5% 68%
JAL JAL D [ HNDOKA 71 2 68%
i (A E) =B JAL JAL D [ HNDAXT 64 1 5%
JAL JAL ITMAXT 7 69 0%
JAL JAL D [ HNDOKA 69 53 5%
JAL JAL ITMOKA 69 55% 69
iR () =TEE JAL JAL ITMHNA 61 59% 57
JT, JAL K | FUKHNA 58 57% 57
JAL JAL ITMOKA 60% 55% 62
JAL JT, K | FUKOKA 58% 7 57
i (A =1Lk JAL JAL D [ HNDGAJ 4 1 1
JAL JAL ITMGAJ 7 0 6
JAL JAL D [ HNDOKA 7 1 1%
JAL JAL ITMOKA 6 4 6%
R (RER) =lE JT, JAL FUKSDJ 5% 58 7%
JAL JAL ITMSDJ 68% 66% 4%
JAL JT, FUKOKA 4 61% 55%
JAL JAL ITMOKA 7 55% 68%
8 GBER) =/ JAL JAL D [HNDKMQ 7 66% 66%
JAL JAL D[ HNDOKA 6 57% 67%
B (FRE) =m0 JTA JAL FUKKCZ 58% 58% 58%
JAL JTA FUKOKA 58% 58% 58%
i (A =4l JTA JAL FUKMYJ 59% 59 59
JAL JTA FUKOKA 59% X 59 59
RRCHA) =BEXR JAL JAL KOJASJ 64% 35, 4 0
JAL JAL ITMASJ 55% 2 6
JAL JAL_| AS KOJHND 0% 5% 1%
JAL JAL_| A ITMHND 6% , 6% 1%
RR(PH) =E/85 JAL JAL _[H KOJKKX 4 35, 4% 58%
JAL JAL_[H ASJUK] 59 58% 58%
JAL JAL_| KI KOJHND 61 63% 60%
JAL JAL_[ K ASJHND 58" 58% 58%
HRCHA) =Ez8 JAL JAL _[H KOJT 65% 53% 57
JAL JAL_|H ASJTI 58% 58% 57
JAL JAL | Ti KOJHND |31, 1% 63% 60
WA CRIA) =Hk R & JAL JAL_[H KOJOKE |30, 2% 55% 59
JAL JAL_| O KOJHND |32, 1% 3% 60
RRCRB) =5# JAL JAL _[H KOJRNJ | 30. 5% 1% 59
JAL JAL_| R KOJHND 5% 2% 59% |
KIR (R =BEXR JAL JAL KOJASJ 1 55% 57
JAL JAL_| A KOJITM 59 6% 52
AR (B =BRE JAL JAL [T KOJKKX 59 4% 57
JAL JAL [T ASJKKX 49 45% 49
JAL JAL_| Kl KOJITM 59 4% 0
JAL JAL_[ K ASJITM 49 49% 42
Rz (B =828 JAL JAL [T KOJTKN 60 4% 55%
JAL JAL | Ti KOJITM 59 55% 1%
JAL JAL [Tl ASJITM 49 49% . 43% .
RIR (5 =3k R & JAL JAL KOJOKE 59 I 4% 0, 6% 0,
JAL JAL KOJIT| 59 0, 6% 3, 2% 3,
AR (BFH =53 JAL JAL KOJRNJ 0 36. 49 9, 58% 9,
JAL JAL KOJIT| 0 0, 7 7, 47 7.
BR=EXXE JAL JAL KOJASJ 4 9, 2 0. 59 0.
JAL JAL KOJFUK 59 1, 59 1, 59 1,
BHR=ER85 JAL JAL ASJ 1 7. 46¢ 2, 57 2,
JAL JAL ASJFU 1 2, 7% 7. 469 7.
BHE=@z8 JAL JAL KOJT 0 4, 7% 0 7%
JAL JAL ASJTI 0 0, 46% 0 6%
JAL JAL KOJFUK 0 4, 7% 0 7%
JAL JAI ASJFUI 0 4, 6% 0 46%




RR(CPB) =5E|"RRCIEF|  Hi\E JAL RAC | HNDISG | ISGOGN | 36.800 7 37.800 56% 7.800 6% 38,600 55% 38,400 6%
SPEE(BRER) | JAL RAC | HNDOKA | OKAOGN| 33,500 1 35,600 59% 2,800 2% 35,100 59% 41,000 2%
SMEFR |EEGRE)| RAC JAL [ OGNOKA[ OKAHND | 33,500 1 35,600 59% 2,800 2% 35,100 59% 41,000 2%
AiE RAC JAL | OGNISG | ISGHND | 36.800 7 37,600 6% 7,600 6% 38,300 6% 38,100 6%
AR () =5ME| SHMER RAC JAL [ OGNOKA [ OKAIT] 39.400 0 39.400 0 39,400 0 39,400 0 39,400 0
AR ($753) | JAL RAC | ITMOKA | OKAOGN| 39.400 0 39.400 0 39,400 0 39,400 0 39,400 0
AR (B#E) =53E | Xk (BE) % HiE JTA RAC | KIXISG | ISGOGN | 35.800 1 35,800 1 35,800 1 36.400 0 36.300 0
SR (BRE) | JTA RAC | KIXOKA | OKAOGN| 39.400 0 39.400 0 39,400 0 39,400 0 39,400 0
SMEFR | EEGREH)| RAC JTA [ OGNOKA| OKAKIX | 39.400 0 39.400 0 39,400 0 39,400 0 39,400 0
AiE RAC JTA__| OGNISG | ISGKIX | 35,800 35,800 35,800 36,400 0 36,600 0
AHE(PE)=50E| SHEFK [HEEGREH)| RAC JTA [ OGNOKA[OKANGO| 40.400 40.400 40.400 40,400 2 40.400
BEE (R E) PR (RE) | JTA RAC__| NGOOKA | OKAOGN | 40,400 40,400 40,400 40,400 2 40,400
fElll=53E L%  [PEOERE) | JTA RAC | OKJOKA | OKAOGN| 38,200 38,200 39,300 39,300 0 38,200
SMEFE |EERE) | RAC JTA [ OGNOKA[ OKAOKJ | 39,300 0 38,200 7.600 38,200 39,300 0
BE=58E [h#8 (&) | RAC JTA [ OGNOKA| OKAFUK .200 2 ,200 700 .000 500 1
= JTA RAC | FUKOKA | OKAOGN| 33,200 2 ,200 ,700 ,000 500 1
(T =50 JTA/RAC|_RAC | OKAISG | ISGOGN ,900 69 ,900 69 ,900 69 00 69 00 69
RAC__|JTA/RAC| OGNISG | ISGOKA ,500 68% ,500 68% ,800 7 500 68% ,800 67%
RR(CPB) =AXE JAL _[JTA/RAG| HNDOKA | OKAUEO .800 55% .500 47% .500 7 .600 58% .500 63%
savatamac] JAL | UEOOKA | OKAHND | 25,100 1% ,800 59% 5,500 0 00 58% 00 47%
AR (B =AKE JAL _[JTA/RAG]| ITMOKA | OKAUEO .800 4% .600 47 7.400 1 000 57% 00 5%
savaTa] JAL | UEOOKA | OKAITM ,700 6% ,700 7 200 6 00 55% 00 47%
AR (B#E) =A KB | Xk JTA__[JTA/RAG]| KIXOKA | OKAUEO .800 43% .900 43 ,300 42% 400 42% 00 44%
3 saviarac] JTA | UEOOKA | OKAKIX .100 44% 1400 43 ,000 44% ,300 44% 00 43%
BHE (PE) =AKB[AEE JTA__|JTA/RAC|NGOOKA | OKAUEO | 32,300 47% ,400 47% ,300 47% ,800 46% ,800 46%
Ak saustarac]  JTA | UEOOKA | OKANGO | 33,700 45% ,800 45% ,700 45% ,200 44% .200 44
BRE=AXE 1 JTA__[JTA/RAG| FUKOKA | OKAUEO .900 41% .900 41% .900 41% .800 41% .900 41
AXEH [FHEBARF) [mvtarac] JTA | UEOOKA | OKAFUI ,900 45% 6.000 45% ,900 45% ,200 45% ,300 44
R CRE) =/ [3RCHE) | AR EF | JAL JAL [ HNDITM [ ITMOKI ,000 2% 0.100 46% 00 0% 00 1% 00 4
HE JAL JAL _| HNDIZO | IZOOKI 500 6% 6,600 48% 00 48% 00 48% 00 48
fRigs [ KBR(EFH| JAL JAL [ OKIITM [ ITMHND ,100 4% 0,300 3 0.400 63% 00 0% .300 49%
HE JAL JAL | OKIIZO | IZOHND .500 58% 8,200 44 7,300 46% 7,300 46% ,300 46%
R (RER) =R [ GRS R ARURR) | JAL JAL [ OKAITM | ITMKIJ .900 69% 5,700 7 3,900 69% 7.100 5% 600 58%
R [ARGEEF| JAL JAL [ KIJITM [ ITMOKA .700 70% 0.900 0 2,600 7% 4,600 68% 400 6%
BE=EFFTR [ __EBEE FCRE) [ JAL JAL [ FUKHND | HNDSPK .200 60% 38,500 55% 35,600 59% 36.600 58% 00 0%
AR TR R (RE) [ JAL JAL__| SPKHND | HNDFUK | 37,300 57% 39,100 55% ,300 2 35,200 59% ,400 3%
BEE (P =HE[2EE (R % CRE) | JAL JAL _[NGOHND [HNDOBO ,300 68% 3.400 6% .100 7 ,000 67% .200 7%
EIR CHE)|  JAL JAL | OBOHND [HNDNGO| 23,300 67% 3,800 6% 00 7 300 68% 000 6%
AHE (R =) & EE (F#) % CRE)| JAL JAL [ NGOHND [ HNDAKJ .100 67% 7.100 2% 400 4 .000 65% 500 68%
JEIES (BE)|[ JAL JAL | AKJHND [HNDNGO| 22,200 69% 2,100 69% ,200 69 ,700 68% ,000 3%
BR=%iE5 BiASE CRE) [ JAL JAL [ TAKHND [HNDMMB ,000 61% 7.800 57% 35,800 59% 35,900 59% 38,000 6%
ESivES CHE) | JAL JAL _|MMBHND | HNDTAK | 34,100 61% 7,600 57% 34,800 60 800 0 7,800 7
=% [ CRE) [ JAL JAL [ TKSHND [HNDMMB]| 36.100 59% 4,400 61% 35,700 59 700 0 7.400 7
AR CHE) | JAL JAL _|MMBHND | HNDTKS | 32,300 63% | 36,600 58% .700 60 ,500 2 7,100 7
K =%iwE5 ¥ CRE) [ JAL JAL [ OITHND [HNDMMB .400 75% .400 75% 400 74 400 4 .400 4
ZiHAIF CHE)|  JAL JAL _|MMBHND| HNDOIT 400 75% 400 75% 400 74 ,400 74 ,400 74
R =255 R 5 CRE) [ JAL JAL [ NGSHND [HNDMMB .900 76% .900 76% ,000 75% .000 75% ,000 75%
B AR CHE)|  JAL JAL _|MMBHND | HNDNGS | 23,900 76% ,900 76% ,000 75% ,000 75% ,000 75%
BA=%iE5 REAF CRE) [ JAL JAL [ KMJHND [HNDMMB .900 75% .900 75% ,000 74 .000 74 ,000 74
ESiES CHE)|  JAL JAL _|MMBHND | HNDKMJ | 23,900 75% .900 75% ,000 74 ,000 74 ,000 74
B =255 IR 5 CRE) [ JAL JAL [ KMIHND [HNDMMB .900 75% .900 75% .000 74 .000 74 .000 74
ESihES CHE)|  JAL JAL _|MMBHND | HNDKMI ,900 75% .900 75% ,000 74 ,000 74 ,000 74
ERB=%5 ERB%E CRE) [ JAL JAL [ KOJHND [HNDMMB .900 76% .900 76% ,000 75% .000 75% .000 75%
ES vk (RE)[ JAL JAL _|MMBHND | HNDKOJ | 23,900 76% ,900 76% ,000 75% ,000 75% ,000 75%
EH=ExZKE | FHH CRE) [ JAL JAL [ AOJHND | HNDASJ | 35,500 62% 35,000 63% 36,400 1% 36,400 ,100 4
BEEAER CHE)|  JAL JAL | ASJHND | HNDAOJ| 36,000 62% 36,000 62% 36,800 1% 36,000 200 0
HME=EXXE KER 5 CRE) [ JAL JAL [ AXTHND [ HNDASJ | 36.900 58% 36.900 58% 38,100 6% 400 000 3
BEREHR CHE)| JAL JAL | ASJHND | HNDAXT | 35,300 0 35,700 59 7,300 7% ,000 3 400 3
MA=BEXE INAFE CHE)|  JAL JAL _|KMQHND | HNDASJ | 30.600 4 0,600 4 9,800 5% 800 5% 400 5%
EEPNCES CRE) [ JAL JAL [ ASJHND [HNDKMQ| 30,600 4 0.600 4 0,600 4 400 5% 00 5%
ER=8IF Eiage (HE)| JAL JAL | TAKHND [ HNDKUH | 37.000 6 7.000 67 .500 59 100 6% ,800 0%
IR T CRE)| JAL JAL [ KUHHND [ HNDTAK | 35,000 59% | 36.500 7% ,000 0 .000 1% 36.600 7%
EE=8I% [ (HE)| JAL JAL | TKSHND | HNDKUH 200 61 33,500 0% .300 1 400 0% 33,200 1%
SR T CRE)| JAL JAL [ KUHHND [ HNDTKS 00 61 35,500 58% .700 04 .700 62% | 35.900 7%
R =8k ADHE CRE)|  JAL JAL [ OITHI HNDKUH 400 76! 400 76% .400 5% 400 75% 400 5%
FEZ (BE)| JAL JAL _| KUHHND | HNDOIT 400 76% 400 76% 400 75% 400 75% 400 75%
RIG=HIE RIGF CRE)|  JAL JAL GSHND | HNDKUH 00 76% 00 76% .900 75% 00 75% 00 75%
R T CRE)| JAL JAL UHHND | HNDNGS 00 76% 00 76% .900 75% 00 75% 00 75%
A=K AR CRE) |  JAL JAL JJHND | HNDKUH 00 75% 00 75% 00 74 00 74 00 74
SR T CRE) | JAL JAL UHHND | HNDKMJ 00 75% 00 75% 00 74 00 74 00 74
B =4I B 5 CRE) |  JAL JAL [ KMIHI HNDKUH 00 75% 00 75% 00 74 00 74 00 74
FEES CRE) | JAL JAL [ KUHHND [ HNDKMI 00 75% 00 75% .900 74 00 74 00 74
BERE=HI% ERB% (HE)| JAL JAL | KOJHND [ HNDKUH 00 76% 00 76% .900 75% 00 75% 00 75%
EEE (HE)| JAL JAL [ KUHHND [ HNDKOJ 00 76% 00 76% .900 75% 00 75% 00 75%
EB=%IK LB CHE)|[  JAL JAL | HIJHND [HNDOBO 00 2 00 62 ,300 66% 00 63 00 2
BT CHE)| JAL JAL | OBOHND | HNDHIJ 00 1 00 62 .000 64 00 63 000 1
BR=FK BIFE CHE)|[  JAL JAL | TAKHND [HNDOBO 400 0 00 59 .300 59 00 59% | 36,200 7
EIR CHE) | JAL JAL _| OBOHND | HNDTAK 400 59% | 36,500 56 ,000 59 ,000 61 35,700 7
EE=%IK [ CRE) [ JAL JAL [ TKSHND [HNDOBO 00 60 31,700 62% 600 61 .600 62 35,600 58
L% CHE) | JAL JAL_| OBOHND | HNDTKS 00 61 35,500 58% ,000 61 ,400 63 35,000 58%
Ao =Wk ASHE CRE) [ JAL JAL [ OITHI HNDOBO 000 76! 000 76% ,000 75% 000 75% 000 75%
HIh%E CHE) | JAL JAL | OBOHND | HNDOIT 00 76% 00 76% ,000 75% 00 75% 00 75%
RIE=FL RIG%E CRE) [ JAL JAL [ NGSHND [HNDOBO 00 76% 00 76% 00 75% 00 75% 00 75%
HIh%E CHE)| JAL JAL _| OBOHND | HNDNGS 00 76% 00 76% 00 75% 00 75% 00 75%
BA=FL EA%E CRE) [ JAL JAL [ KMJHND [HNDOBO 00 76% 00 76% .500 75% 00 75% 00 75%
EIR CHE)| JAL JAL _| OBOHND | HNDKMJ 00 76% 00 76% 500 75% 00 75% 00 75%
BBR=%k BIFE CRE) [ JAL JAL [ KMIHI HNDOBO 00 76% 00 76% .500 75% 00 75% 00 75%
HIh% CHE)| JAL JAL _| OBOHND | HNDKMI 00 76% 00 76% 500 75% 00 75% 00 75%
ERB=%EK ERB%E CHE)|[  JAL JAL | KOJHND [HNDOBO 00 76% 00 76% .500 75% 00 75% 00 75%
HIh%E (BE)| JAL JAL__| OBOHND | HNDKOJ 00 76% 00 76% ,500 75% 00 75% 00 75%
TBl=& JENIES (RE)[ JAL JAL _| AKJHND | HNDTAK 400 1% 00 1% ,000 61% 00 61% 00 55%
B (BE)|[ JAL JAL | TAKHND | HNDAKJ 00 0% 00 6% 36,100 58% 35,900 58% 3,000 61%
EiE=E ERAER CRE) [ JAL JAL [ HKDHND [ HNDTAK .300 6% 3,300 6% 33,800 55% .300 4% 38,500 49%
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K () =%5% EHR | EB JAL JAL | TSINGS 00 4 00 48 00 4 00 48
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JTA/RAC|  JAL |MMYOKA| OKAITM 24,600 61% £:25,000, £:27,700. H:26,700
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aiEE | JTA/RAC| JTA | ISGOKA |OKANGO| 33,700 56%
AR (BT /) = /MR ALIE BT ) % 3 JAL JAL | SPKHND [HNDKMQ| 24,900 64% | B A:25,200, £:26,700. £:24,800, H:26,100
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WA FERE JAL JAL | UBJHND | HNDSPK | 29,400 65% | 5:30,300, 7kA%:29,800, £:34,300, H:30,600
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SR =158 ) JAL JAL | KUHHND | HNDHIJ 32,500 62%
[ JAL JAL | HIJHND [HNDKUH| 32,700 62%
FIEE=HE ) JAL JAL | KUHHND | HNDIZO 33,100 60%
[ JAL JAL [ IZOHND [ HNDKUH| 34,000 59%
#lEE =430 V[ JAL JAL | KUHHND [ HNDMYJ| 34,600 60% X
)| JAL JAL [ MYJHND [ HNDKUH| 35,700 59% H:36.100. 1:36.800
fIEE=51E V[ JAL JAL | KUHHND | HNDISG | 44,100 64% 2,600, £:55,300, +:57,300, H:44,500
[ JAL JAL | ISGHND [ HNDKUH| 43,900 64% 2,300 £:54,300, +:53,800, H:45,600
WL =M ) JAL JAL | OBOHND|HNDKMQ| 22,400 70% 4,200, H:23.200
)| JAL JAL _|KMQHND[HNDOBO| 23,700 68% | B A% H:24,200, £:22,900
IR =R ) JAL JAL | OBOHND| HNDOKJ| 29,600 65% | 431,400, +:31,800, H:30,600
[ JAL JAL | OKJHND [HNDOBO| 30,900 63% | B A%£:31,400, £:31,300, H:31,700
wh=HE ) JAL JAL [ OBOHND| HNDIZO 32,500 61% > £:36,200. H:34.400
[ JAL JAL [ IZOHND [HNDOBO| 34,100 59% | H H:34,600, K:36,200, & +:36,400
L= V[ JAL JAL | OBOHND|HNDMYJ| 34,200 61% |%:35,500, +:37,000, H:36.300
[ JAL JAL [ MYJHND [HNDOBO| 35,800 59% |[A A% H:36,300
®h=RiE V[ JAL JAL | OBOHND| HNDISG | 42,800 64% | A:51,300, £:55,300, £:56,700, H:44,200
[ JAL JAL | ISGHND [HNDOBO| 42,200 65% 2,800, 450,600, £:53,600. £:52,400. H:44,800
EEE=/Ma V[ JAL JAL | HKDHND [HNDKMQ| 23,500 64% 4,000, 1:23,600
)| JAL JAL _[KMQHND[HNDHKD | 21,600 67% 2,000, £:25,100, +:21,900, H:25,000
EEE=RE Y[ JAL JAL | HKDHND [ HNDOKJ| 30,700 59% 1,200, H:31.900
[ JAL JAL | OKJHND [ HNDHKD | 28,800 62% 200, £:32,300, £:30,300, H:31,800
HE=IL8 ) JAL JAL | HKDHND | HNDHIJ 32,600 58% 3,100, H:33.800
[ JAL JAL | HIJHND [HNDHKD| 30,700 60% :34,200. £:33,100. H:33,700
HE=HE ) JAL JAL | HKDHND | HNDIZO 29,500 60% 35,300, H:31,100
[ JAL JAL [ HKDITM [ ITMIZO 23,000 68% 26,200
Y[ JAL JAL | IZOHND [ HNDHKD| 31,400 58% 35,300, H:32,500
[ JAL JAL [ 1ZOITM [ ITMHKD 21,200 70% 4,600, T:25,100. H:22,600
EEE=40 Y[ JAL JAL | HKDHND [ HNDMYJ| 34,800 55% 6,400, H:37,600
[ JAL JAL [ HKDITM [ ITMMYJ 24,300 65% 5,100, £:26,500. H:27.600
V[ JAL JAL | MYJHND [ HNDHKD| 33,100 58% 7,300, £:36,700, H:36,300
BEE=1t M )| JAL JAL | HKDHND [ HNDKKJ [ 28,600 66%
) JAL JAL | KKJHND [ HNDHKD | 27,300 68% :27,700, £ 1 H:28,600
HEE=K% [ JAL JAL [ HKDHND | HNDOIT 21,900 73% £ H.22,500
V[ JAL JAL | HKDITM [ ITMOIT 23,900 67% 6,000, %:24,700, H:30,300
[ JAL JAL | OITHND [HNDHKD| 21,900 73% :22,500
V[ JAL JAL | OITITM [ ITMHKD 22,100 69% 4,300, & +:27,900. B:25,900
=Rk [ JAL JAL | HKDHND [ HNDNGS| 22,400 74% £ H.23,000
V[ JAL JAL | HKDITM [ ITMNGS | 24,700 69% 6,800, %:25,500, H:27,900
[ JAL JAL | NGSHND [ HNDHKD [ 22,400 74% :23,000
V[ JAL JAL | NGSITM [ ITMHKD 22,900 71% 5,100, £:26,300, £:29,000, H:24,300
HEE=AEA [ JAL JAL | HKDHND [ HNDKMJ [ 22,400 73% :23,000
)| JAL JAL | HKDITM | ITMKMJ 26,100 66% | AT:28200, £:26,900, H:29,300
[ JAL JAL [ KMJHND [ HNDHKD [ 22,400 73% :23,000
V[ JAL JAL | KMJITM [ ITMHKD 21,600 72% 3,800, £:25,000, +:27,700, H:23,000
EHEE=HFk [ JAL JAL | HKDHND [ HNDKMI [ 22,400 73% :23,000
V[ JAL JAL | HKDITM [ ITMKMI 23,400 70% 5,500, %:24,200, H:26,600
[ JAL JAL | KMIHND [ HNDHKD [ 22,400 73% F H.23,000
V[ JAL JAL | KMITM [ ITMHKD 21,600 72% 3,800, £:29.400, +:25,000, H:23,000
HE=ERS [ JAL JAL | HKDHND [ HNDKOJ| 22,400 74% :23,000
V[ JAL JAL | HKDITM | ITMKOJ 25,800 68% 7,900, %:26,600, H:29,000
)| JAL JAL | KOJHND [ HNDHKD [ 22,400 74% £ B:23,000
[ JAL JAL [ KOJITM [ ITMHKD 24,100 70% 126,300, £ +:27,500. H:25,500




HEE=H1E BEEH )| uAL JAL | HKDHND | HNDISG | 44,200 60% | AK#:50,300, +:50,600. H:45,100
REH [ JAL JAL | ISGHND [ HNDHKD | 42,300 62% | A% 1:50,300. H:45,800
HH=/IM2 ERR ) JAL JAL [ AOJHND [HNDKMQ| 14,800 77%
IR )| JAL JAL _|KMQHND[HNDAOJ| 15,300 76%
EH=mikaE |__EHF% ) JAL JAL | AOJHND [HNDSHM| 27,700 62% K-
BfcEER )| JAL JAL [ SHMHND [ HNDAOJ| 28,600 61% |H% H:30,100, A:28,800, +:29.400
HEHR=ML BEaRE ) JAL JAL | AOJHND [ HNDOKJ 28,400 62% | H:26,500., & H:29.200
FE L% FE) | JAL JAL | OKJHND [ HNDAOJ| 28,400 62% |% H:29.200
EH=L8 EHR FHE) | JAL JAL | AOJHND | HNDHIJ 30,300 60% |H:29,100, £+ H:31,000
LS% HCHE)|[ JAL JAL | HIJHND [HNDAOJ| 30,300 60% | H:31,000
EH=LOFH EHR RCHE)|  JAL JAL [ AOJHND | HNDUBJ 26,400 67% | H:26,300, £:27,200, £:28,800
B)| JAL JAL | UBJHND [ HNDAOJ| 26,800 66% | 528,200, £:27,200, £:28,800. H:27.300
EH=HE HH) | JAL JAL [ AOJHND | HNDIZO 28,800 60% &
FH| JAL JAL | AOJITM | ITMIZO 18,100 74% K
HHE)|  JAL JAL | IZOHND [ HNDAOJ| 30,100 59%
| JAL JAL [ 1ZOITM [ ITMAOJ 18,900 73%
EH=HE PHE) | JAL JAL [ AOJHND [ HNDTKS 20,300 72%
B)| JAL JAL | TKSHND [ HNDAOJ| 20,300 72%
EH=mik ) JAL JAL [ AOJHND [ HNDTAK| 20,200 73%
[ JAL JAL | TAKHND [ HNDAOJ| 20,200 73%
EH=mA ) JAL JAL [ AOJHND | HNDKCZ 20,300 73% 00, £ H:24.100
FED [ JAL JAL | KCZHND [ HNDAOJ| 20,300 73% :24,000
HEH=tul HH) | JAL JAL [ AOJHND [ HNDMYJ 20,000 74% :20,500
| JAL JAL | AOJITM | ITMMYJ 19,400 71% 9,800, £:19,900, H:19,500
HHE)|  JAL JAL | MYJHND [ HNDAOJ| 20,000 74% :20,500
[ JAL JAL | MYJITM | ITMAOJ 19,400 71% 00, £:19,900
EHE =AM EHER  |HZRCEE)| JAL JAL [ AOJHND | HNDKKJ 21,800 74% 2,600
dtAme [RECHA)| JAL JAL | KKJHND [ HNDAOJ| 21,800 74% 2,600
EHR=XH EHER |[EEGHE)| JAL JAL [ AOJHND | HNDOIT 21,700 73% 2,500
KB (D] JAL JAL | AOJITM | ITMOIT 19,000 72% 9,400, H:22,200
An%  [RECEEA)| JAL JAL | OITHND [ HNDAOJ 21,700 73% 122,500
KBR(FFD [ JAL JAL | OITITM [ ITMAOJ 19,000 72% 00. £ H:21,400. £:21,800
EH=R& EHER |[EERGHE)| JAL JAL | AOJHND [ HNDNGS| 23200 73%
ABR (D[ JAL JAL [ AOJITM [ ITMNGS 19,800 74%
R [ERCEHE)| JAL JAL | NGSHND [ HNDAOJ 23,200 73%
ABR(FD | JAL JAL [ NGSITM [ ITMAOJ 19,800 74%
EHR=EX EHER |[EERGHE)| JAL JAL | AOJHND [ HNDKMJ 21,800 74%
ABR (D[ JAL JAL [ AOJITM [ ITMKMJ 21,200 71%
AR [RERCEHA)| JAL JAL | KMJHND [ HNDAOJ 21,800 74%
KRR JAL JAL | KMJITM [ ITMAOJ 18,500 75%
EH=5K EHER |[EEGHE)| JAL JAL [ AOJHND | HNDKMI 21,800 74%
ABR(FD | JAL JAL [ AOJITM [ ITMKMI 18,500 75%
B [RECHEA)| JAL JAL | KMIHND [ HNDAOJ 21,800 74%
ABR ()| JAL JAL [ KMITM [ ITMAOJ 18,500 75%
ER=-ERE EHER |[EERGEHE)| JAL JAL [ AOJHND | HNDKOJ 23,200 73%
RUERD|[  JAL JAL [ AOJITM [ ITMKOJ 21,300 73%
ERER [ER(CHH)| JAL JAL | KOJHND [ HNDAOJ 23,200 73%
KER ()| JAL JAL [ KOJITM [ ITMAOJ 21,000 73%
Ex=AE EHE ([EERGH)| JAL JAL [ AOJHND [ HNDISG | 41,000 63% | 5:40,000, A%:49,000, £:50,600, H:42,500
RIEH HCHE)|[ JAL JAL | ISGHND [HNDAOJ| 40,900 63% | A% 1:49,000. B:43,200
ZiR=/IA ZR% RCHE) [ JAL JAL | MSJHND [HNDKMQ| 14,800 77%
IMAFE RCRE)|  JAL JAL _|KMQHND[HNDMSJ| 15,300 76%
ZR=FEW ZiR% RCHE) [ JAL JAL | MSJHND [ HNDOKJ| 28,000 62%
FE L% = )| JAL JAL | OKJHND [HNDMSJ| 28,000 62% |&+:24.700
ZR=IL5 ZR%E HCHE)[ JAL JAL | MSJHND | HNDHIJ 29,900 60%
LS% [ JAL JAL | HIJHND [HNDMSJ| 29,900 60% | & 126,600
ZR=OF p ) JAL JAL | MSJHND [ HNDUBJ| 26,000 67% 8,400
F [ JAL JAL [ UBJHND [HNDMSJ| 26,400 67% 3,100, £:25,100
= ) JAL JAL | MSJHND | HNDIZO 28,100 61% 30,100, H:28,500
)| JAL JAL [ IZOHND [HNDMSJ| 29,600 59% £:29,700, £:29,100
V[ JAL JAL [ 1ZOITM [ ITMMSJ 22,400 68%
[ JAL JAL | MSJUHND [ HNDTKS [ 19,300 73%
) JAL JAL | TKSHND [ HNDMSJ| 19,300 73%
[ JAL JAL | MSJUHND [ HNDTAK | 19,200 74%
) JAL JAL | TAKHND [ HNDMSJ| 19,200 74% 9,500
[ JAL JAL | MSJUHND [ HNDKCZ| 19,300 74% 00, £ H:23,100
) JAL JAL | KCZHND [ HNDMSJ| 19,300 74%
[ JAL JAL [ MSJHND [HNDMYJ | 19,000 75%
) JAL JAL | MYJHND [ HNDMSJ| 19,000 75%
[ JAL JAL [ MYJITM [ ITMMSJ 22,900 66%
) JAL JAL | MSJHND [ HNDKKJ | 19,800 76%
[ JAL JAL | KKJHND [HNDMSJ| 19,800 76%
) JAL JAL | MSJHND | HNDOIT 19,700 75%
[ JAL JAL | OITHND [HNDMSJ| 19,700 75%
V[ JAL JAL | OITITM [ ITMMSJ 22,500 68%
FED [ JAL JAL | MSJUHND [ HNDNGS| 21,200 75%
V[ JAL JAL | NGSHND [ HNDMSJ| 21,200 75%
[ JAL JAL [ NGSITM [ ITMMSJ 23,300 70%
ZIR=HX ZR% [RR(CEEA)| JAL JAL | MSJHND | HNDKMJ 19,800 76%
AR ([RR(CEH)| JAL JAL | KMJHND [ HNDMSJ 19,800 76%
KRR JAL JAL | KMJITM [ ITMMSJ 22,000 71%
ZR% [RECHEEA)| JAL JAL [ MSJUHND | HNDKMI 19,800 76%
KERFFD | JAL JAL | MSJITM [ ITMKMI 22,000 71%
=ERE  [EREHR)| JAL JAL | KMIHND [ HNDMSJ| 19,800 76% &+ H:22,600
KERFFD|  JAL JAL | KMITM [ ITMMSJ 22,000 71%
ZIR=ERS ZR% [RECEEA)| JAL JAL | MSJHND | HNDKOJ| 21,200 75% &+ H:22,000
ABR(FFD[  JAL JAL | MSJITM | ITMKOJ 24,400 69% | H:24,500
ERGF [EE(HH)| JAL JAL | KOJHND [HNDMSJ| 21,200 75% | & T H:22,000
x V[ JAL JAL | KOJITM [ ITMMSJ 24,400 69% :24,500
ZR=FA1E =R% B)| JAL JAL | MSJUHND [ HNDISG | 41,500 62% 9,000, £:50,600
5 5% B)| JAL JAL | ISGHND [ HNDMSJ| 38,200 65% | H:41,500, AK:46,600, £:48,400, +:48,200, H:42,000
BE=/R FREFE B[ JAL JAL | AXTHND [HNDKMQ[ 17,200 70% |&+ H:18,300
ISR B[ JAL JAL | KMQHND| HNDAXT| 17,100 70% |&+ H:17,500
RE=FiEE TEXE [WRR(PHEH)| JAL JAL | AXTHND |HNDSHM| 26,800 59%
FiEER [ERCEE)| JAL JAL [ SHMHND|HNDAXT| 26,800 59% | +:26,400




FE=FWL JAL JAL | AXTHND | HNDOKJ | 26,800 60% | +:24,400
JAL JAL | OKJHND | HNDAXT | 26,800 60% 4,400
ME=L8 JAL JAL | AXTHND | HNDHIJ 28,500 58% 7,200
JAL JAL | HIJHND | HNDAXT | 28,500 58% 7,200
HE=LOF JAL JAL | AXTHND | HNDUBJ 26,900 63% 128,200, #:27,700, £:24,800
JAL JAL [ UBJHND [ HNDAXT [ 28,100 62% | 1:24,800
MHE=HE JAL JAL | AXTHND | HNDIZO 26,800 59%
JAL JAL | AXTITM | ITMIZO 20,900 68%
JAL JAL | 1ZOHND | HNDAXT | 26,800 59%
JAL JAL | IZOITM | ITMAXT 21,700 66%
ME=E5 JAL JAL | AXTHND | HNDTKS 20,200 70%
JAL JAL | TKSHND | HNDAXT | 20,200 70%
MHE=Fn JAL JAL | AXTHND [ HNDTAK| 20,200 70%
JAL JAL | TAKHND [ HNDAXT | 20,200 70%
MHE=7 JAL JAL | AXTHND | HNDKCZ 20,300 1%
JAL JAL | KCZHND | HNDAXT | 20,300 71%
#E=#0 JAL JAL | AXTHND [ HNDMYJ| 20,400 71%
JAL JAL | AXTITM [ ITMMYJ 21,000 66%
JAL JAL | MYJHND | HNDAXT | 20,400 71%
JAL JAL | MYJITM | ITMAXT 21,000 66%
FE=JAM JAL JAL | AXTHND | HNDKKJ | 28,500 62%
JAL JAL | KKJHND | HNDAXT | 27,200 64%
ME=X% JAL JAL | AXTHND | HNDOIT 29,400 60%
JAL JAL | AXTITM | ITMOIT 20,600 68%
JAL JAL | OITHND | HNDAXT | 30,100 59% |7K:30,400, £:30,700. £:25900
JAL JAL | OITITM | ITMAXT 21,800 66% | T:23000. H:25500
MHE=R&K JAL JAL | AXTHND [ HNDNGS| 29,300 63% 3:30,500, £:30,700, 1:24,400
JAL JAL [ AXTITM [ ITMNGS [ 22,600 69%
EBE% JAL JAL | NGSHND | HNDAXT | 29,700 62% | B 7:30,600., £:32,600. £:26,400
JAL JAL | NGSITM | ITMAXT 22,600 69% | 1:24,100, H:23,900
ME=FEX HEFE JAL JAL | AXTHND | HNDKMJ| 29,300 61% | HJKH:29,600. A:30,000. %:31,400, 1:25,600
JAL JAL | AXTITM | ITMKMJ 24,000 66%
REAFE JAL JAL [ KMJHND [ HNDAXT [ 29,700 61% 0,900, £:26,000
JAL JAL | KMJITM | ITMAXT 21,300 69% 2,800, H:22,600
HE==i HEFE JAL JAL | AXTHND | HNDKMI | 27,700 63% 8,900, £:23,200
JAL JAL | AXTITM | ITMKMI 21,300 69%
HEES JAL JAL | KMIHND | HNDAXT | 28,100 63% | £:29,300. £:24,000
JAL JAL | KMITM | ITMAXT 20,100 71%
ME=ERS ERE JAL JAL | AXTHND | HNDKOJ 19,700 75% %+ H:20,800
JAL JAL | AXTITM | ITMKOJ 24,100 67% 4,200
[FEEES JAL JAL | KOJHND [ HNDAXT [ 19,700 75% H:20,800
JAL JAL | KOJITM | ITMAXT 23,700 68% 3,800, H:25,100
ME=F1E FREFE JAL JAL | AXTHND | HNDISG | 40,200 61% |7:46,200, £:48,600. £:50,600
RIEH JAL JAL | ISGHND | HNDAXT | 40,200 61% | A:46,100, £:48,400, £:48,100
TEE=HE JAL JAL [ HNAITM [ ITMIZO 29,600 56%
JAL JAL | 1ZOITM | ITMHNA [ 29,600 56%
TEE =l JAL JAL [ HNAITM [ ITMMYJ 30,500 53%
JAL JAL | MYJITM | ITTMHNA | 30,500 53%
EE=K7 JAL JAL [ HNAITM [ ITMOIT 31,400 53% | H:32,200
JAL JAL | OITITM [ ITMHNA | 30,500 55% |& T H:32,200
EBE =R JAL JAL | HNAITM [ ITMNGS [ 32,200 57%
JAL JAL | NGSITM | ITMHNA | 31,300 58% | 1:34,000
TEBE=RA JAL JAL | HNAITM | ITMKMJ 33,400 54%
JAL JAL | KMJITM | ITMHNA [ 30,000 59% |+:32,700
EBE=2 JAL JAL [ HNAITM [ ITMKMI 30,900 57%
JAL JAL | HNAFUK | FUKKMI 29,000 64%
JAL JAL | KMITM | ITMHNA | 30,000 59%
JAL JAL | KMIFUK | FUKHNA| 29,000 64%
E=-ELRE JAL JAL | HNAITM | ITMKOJ 33,700 56%
JAL JAL | KOJITM [ ITMHNA [ 32,500 57%
LLifg = /v JAL JAL | GAJHND [HNDKMQ| 16,800 65% 7,500, £:16,400
JAL JAL | KMQHND|HNDGAJ| 16,800 65% 5,600, H:17,200
WL =Tl JAL JAL | GAJHND | HNDOKJ| 23,200 60% :23,500, H:23,600
JAL JAL | OKJHND [ HNDGAJ| 24,000 58%
L=58 JAL JAL [ GAJHND | HNDHIJ 25,900 56% | 1:26,800
JAL JAL | HIJHND [ HNDGAJ| 25,900 56%
I A= E JAL JAL | GAJHND [ HNDUBJ| 21,600 66% | 5:22,100,
JAL JAL | UBJHND [ HNDGAJ| 22,000 65% | H:23,800,
ILf=HE JAL JAL [ GAJHND [ HNDIZO 22,800 59%  |/K:22,600, &
JAL JAL | GAJITM | ITMIZO 22,800 64%
JAL JAL | IZOHND | HNDGAJ| 22,800 50% | & 128400
JAL JAL | 1ZOITM | ITMGAJ 24,200 62%
L=8 JAL JAL | GAJHND [ HNDTKS [ 24,900 56% | 1:25500
JAL JAL | TKSHND [ HNDGAJ| 26,400 54% | £:26,800, £:27,000
s =34 JAL JAL | GAJHND [ HNDTAK| 26,000 54%
JAL JAL | TAKHND [ HNDGAJ| 24,100 58% | 1:24,400
g =420 JAL JAL | GAJHND [ HNDMYJ| 26,800 55%
JAL JAL | GAJITM [ ITMMYJ 23,600 61%
PTIES JAL JAL | MYJHND [ HNDGAJ| 26,800 55%
JAL JAL | MYJITM | ITMGAJ 22,700 62%
Ifis =K% INZ 3 JAL JAL | GAJHND | HNDOIT 24,100 63%
JAL JAL | GAJITM | ITMOIT 23,200 63%
K% JAL JAL | OITHND [ HNDGAJ| 24,200 62%
JAL JAL | OITITM [ ITMGAJ 24,300 62%
L =R N2 JAL JAL | GAJHND [ HNDNGS| 24,000 65%
JAL JAL | GAJITM [ ITMNGS | 24,500 66%
RIS JAL JAL | NGSHND | HNDGAJ| 26,000 62% | H#£:26,900, A:26,500, H:29,000
JAL JAL [ NGSITM [ ITMGAJ 25,100 65% | 1:25.800
If=FEA IZ3 JAL JAL | GAJHND [ HNDKMJ | 24,000 63% | 4::24,400, £:24,300
JAL JAL | GAJITM | ITMKMJ 25,900 62%
BAK JAL JAL | KMJHND [ HNDGAJ| 24,000 63% 1600, H:25,200
JAL JAL | KMJITM | ITMGAJ 23,800 65% 00
=2 IZ3 JAL JAL | GAJHND | HNDKMI | 22,400 66% :22,800
JAL JAL | GAJITM | ITMKMI 23,200 66%
S JAL JAL | KMIHND [ HNDGAJ| 22,400 66% |4::22,800, H:23,600
JAL JAL | KMITM | ITMGAJ 23,800 65% | 2::26,200




IW=ERE W% [RRECRA)| JAL JAL | GAJHND | HNDKOJ 22,000 68% | A 1:23,700, £:24,500, H:25,100
)| JAL JAL | GAJITM | ITMKOJ 26,000 64% | 1:26,100
) JAL JAL | KOJHND [ HNDGAJ| 22,000 68% [H:25200, kKA #£:25300, 1:24,400
)| JAL JAL [ KOJITM [ ITMGAJ 26,200 64% | & H:26,300
s =H1E ) JAL JAL | GAJHND | HNDISG 37,500 60% 6,200, £::48,600, +:50,600, H:38,100
FED [ JAL JAL | ISGHND [ HNDGAJ| 37,500 60% 6,100, £:48,400, +:48,100, H:38,000
E=HZE | JAL JAL | SDJITM | ITMIZO 24,100 61% 5,700
FH|  JAL JAL [ 1ZOITM [ ITMSDJ 22,700 63% 3,200, % H:23,200. £:23,000
& =410 FH[ JAL JAL | SDJITM [ ITMMYJ 20,300 66% H:20,400
FH|  JAL JAL [ MYJITM [ ITMSDJ 21,600 63% 1,700
E=X% | JAL JAL | SDJITM | ITMOIT 22,600 63% 3,100
FH| JAL JAL [ OITITM [ ITMSDJ 22,100 64%  |7K:23,100, £ +:23,600. H:25,500
& =Rk | JAL JAL | SDJITM [ ITMNGS 23,400 66%
FH|  JAL JAL [ NGSITM [ ITMSDJ 24,300 65% |4 H:25,800, £:24,700
fie=%X | JAL JAL | SDJITM [ ITMKMJ 24,800 63%
FH|  JAL JAL [ KMJITM [ ITMSDJ 22,900 66% :23,100, £:23,400
& =52k | JAL JAL | SDJITM | ITMKMI 22,100 67% 6.500. H:24,300
[ JAL JAL | KMITM | ITMSDJ 22,500 66% | /K:23,000, £:25,100, £:22,600. H:25400
WeE=ERS | JAL JAL | SDJITM | ITMKOJ 24,900 65% | +:25000
[ JAL JAL | KOJITM | ITMSDJ 26,100 63%  |7K:26,600, £ H:27.300, £:25,500
FR=HE | JAL JAL | KIJITM | ITMIZO 24,300 59%
[ JAL JAL | 1ZOITM | ITMKIJ 21,200 64% | H:22,200
FR=tl | JAL JAL | KIJITM [ ITMMYJ 20,400 64% |+ H:20,500
[ JAL JAL | MYJITM | ITMKIJ 21,700 62% | +:21,800. B:22,700
FR=K% | JAL JAL | KIJITM | ITMOIT 21,800 63% | H:23,200
FH| JAL JAL [ OITITM [ ITMKIJ 21,300 64% & +:22,100, H:24,700
FR=R&K | JAL JAL | KIJITM [ ITMNGS 20,800 69%
FH|  JAL JAL [ NGSITM [ ITMKIJ 22,100 67% | %:23,600. H:24,800
FR=RX | JAL JAL | KIJITM [ ITMKMJ 24,000 63%
FH|  JAL JAL [ KMJITM [ ITMKIJ 21,900 66%
FR=5K | JAL JAL | KIJITM | ITMKMI 19,500 70%  |H:23,600
FH|  JAL JAL | KMITM [ ITMKIJ 20,800 68% | £:23,600. H:24,400
FR=ERE | JAL JAL | KIJITM | ITMKOJ 23,700 66% | H:24,500
[ JAL JAL | KOJITM | ITMKIJ 23,300 66% | H:25,800
INR=TE L FE)|[  JAL JAL | KMQHND| HNDOKJ| 23,000 64% 1,800, H:23,400
FE) | JAL JAL | OKJHND [HNDKMQ[ 23,900 63% 5,000
ME=TRE B[ JAL JAL | KMQHND| HNDHIJ 24,900 62% 5,800, £:24,600, H:26,000
FE)|[ JAL JAL | HIJHND [HNDKMQ[ 25,800 60% 6,000
MA=INOFH B[ JAL JAL | KMQHND| HNDUBJ| 21,000 70% :22,800, +:22,200
FE) | JAL JAL | UBJHND [HNDKMQ[ 21,400 69% 2,800, £:23,000
ME=HE B[ JAL JAL | KMQHND| HNDIZO 24,600 61%
HE FE) | JAL JAL | IZOHND [HNDKMQ| 26,200 58%
IMA=FES INEASE B)| JAL JAL _|KMQHND| HNDTKS 25,500 60%
BEHE FE)| JAL JAL | TKSHND |HNDKMQ| 25,400 60%
INR=TEH INEAEE B[ JAL JAL | KMQHND| HNDTAK| 24,900 61%
BnFE )| JAL JAL | TAKHND [HNDKMQ| 24,900 61%
INR=TE IMRFE )| JAL JAL | KMQHND| HNDKCZ| 27,300 59%
BMHE )| JAL JAL | KCZHND [HNDKMQ[ 27,300 59%
INR=FL IMRFE ) JAL JAL | KMQHND|HNDMYJ| 26,800 60% 9,700
L [ JAL JAL [ MYJHND [HNDKMQ| 26,800 60% 6,900
INR=JERN [ MRE ) JAL JAL | KMQHND| HNDKKJ | 23,100 68% 5,400, £:20,700, H:24,800
JEAMFE )| JAL JAL | KKJHND [HNDKMQ[ 22,100 69% 5,300, £ H:23,500
IME=K5 IMRFE )| JAL JAL | KMQHND| HNDOIT 25,400 64% 5,300, 7k:25,500, 7:26,400. & H:27,800. £:26,600
D% )| JAL JAL | OITHND [HNDKMQ| 24,700 65% | H:25,100, A:24,900. £:26.100. +:26,500, H:27,700
Ma=RIE [ DIRFE ) JAL JAL | KMQHND| HNDNGS| 25,500 66% | H:27,100, £:25,300
RIGS )| JAL JAL | NGSHND [ HNDKMQ| 25,000 67% | H:25,900, A:25,500. £:26,800. +:23,800, H:28,000
IME=FER INEAEE )| JAL JAL | KMQHND| HNDKMJ| 23,000 68% 123,300, £:24,200, £:23.800, H:25,200
REAH [ JAL JAL | KMJHND [HNDKMQ[ 23,900 67% 25,000
IMNE=E I N ) JAL JAL _|KMQHND | HNDKMI 21,400 70% 23,000
BIAF [ JAL JAL | KMIHND [HNDKMQ[ 21,400 70% 24,200
IMA=EERE INEASE RCHE)|  JAL JAL _|KMQHND | HNDKOJ 17,500 77%
BERE% RCEE)|[ JAL JAL | KOJHND [HNDKMQ| 18,500 75%
IME=EH MMaE R (RER)| JTA [JTA/RAC|KMQOKA[OKAMMY[ 30,600 57%
Eo% @) [JTA/RAC| JTA |MMYOKA[OKAKMQ| 30,600 57% H:34,200
IMNA=F1E / ( JAL JAL | KMQHND| HNDISG 36,500 64% 50,600
JTA _[JTA/RAC|KMQOKA| OKAISG 30,800 61%  |7/K:30,700. 35,600, H:34,100
JAL JAL | ISGHND [HNDKMQ| 36,500 64% | A:46,100, :48,400, £:48,100. H:36,800
JTA/RAC| JTA | ISGOKA |OKAKMQ| 31,400 60% | H:31,700, H:35,000
==& JTA_|JTA/RAG| OKJOKA [OKAMMY| 30,200 53% [ H:30,600, £:35.800, £:34,500
JTA/RAC|  JTA |[MMYOKA| OKAOKJ| 30,200 53% | H 1:30,600, £:31,600. H:34,500
[T ENE I JTA _[JTA/RAC| OKJOKA | OKAISG 30,900 56% |%:34,800, £:35,900
GiE% |48 (B#) [JTA/RAC| JTA | ISGOKA | OKAOKJ| 31,500 55% | B 431,800, H:35700
BH=E FErES F=iE] JAL JAL | KCZFUK | FUKKMI 22,500 58% 2,600, H:23,200
B F 1= JAL JAL | KMIFUK | FUKKGZ 22,500 58% 3,200, £:23,500
SRR (IRE) =F & PR GRE) R (CRE) | JAL JAL | OKAHND [ HNDAOJ 29,600 66% 0,600, +:29,200, H:32,800
KB (D] JAL JAL [ OKAITM [ ITMAOJ 21,600 75% > £:22,000
EHER |[EEGHE)| JAL JAL | AOJHND [ HNDOKA| 29,400 66% |£:36,800, 1:32,000
[ JAL JAL [ AOJITM [ ITMOKA [ 21,600 75% | A% 122,000
ShEB (B ==iR ) JAL JAL | OKAHND [ HNDMSJ| 26,600 69% | F:29,200, £:26,100, £:25.900, H:31,600
[ JAL JAL | MSJHND [ HNDOKA| 26,500 69% | £:35,600. £:27,600
B (IR E) =FkE ) JAL JAL | OKAHND | HNDAXT | 28,900 64% | K:29,300, £:31,100, £:25,200
)| JAL JAL | OKAITM | ITMAXT 24,400 71% | H:25,700
) JAL JAL | AXTHND [ HNDOKA| 30,900 62% | :31,300, £:36,200. £:28,000
x )| JAL JAL | AXTITM [ ITMOKA [ 24,400 71%
SRR (IRE) =7E% | HhHE (RER) R AR(BFD | AL JAL | OKAITM [ ITMHNA 33,100 61%
el JTA JAL | OKAFUK | FUKHNA | 38,000 58% | A%+ H:38.400
EER [ AREFD] JAL JAL | HNAITM | ITMOKA 33,100 61%
el JAL JTA_| HNAFUK | FUKOKA| 38,000 58% |+ H:38,400
SR GBRER) =1Lz | PR GRER) R (CRE) | JAL JAL | OKAHND [ HNDGAJ 25,200 64%  |£:25400, H:27,600
ABR(FD | JAL JAL [ OKAITM [ ITMGAJ 26,900 67%
W% [RECRE)|[  JAL JAL | GAJHND [ HNDOKA| 26,200 63% |&1:27,600
ABR (FFD | JAL JAL | GAJITM [ ITMOKA [ 26,300 68%
SRR BB =(LE [HREGRE) B JTA JAL | OKAFUK | FUKSDJ 31,000 65% | A:31,400, £:31,600, + H:32,100
K (FFD] JAL JAL [ OKAITM [ ITMSDJ 24,700 69% 5,500, £ H:25,700
&5 G JAL JTA [ SDJFUK [ FUKOKA [ 31,500 64% |£:33,600, 1:32,400, H:34,100
ABR (D[ JAL JAL | SDJITM [ ITMOKA [ 25,200 69%




PR G E) =/Ma RHRECEE)| JAL JAL | OKAHND | HNDKMQ| 25,600 67%  |4:26,800, 1:23,000, H:26,900
R CRE)|  JAL JAL _|KMQHND[HNDOKA| 25,200 67% |£:31,500, £:25,400
R (IR ==& Gl JTA JAL | OKAFUK | FUKKCZ 26,400 58%
&l JAL JTA [ KGZFUK | FUKOKA [ 26,400 58% | 1:26,300
PR IR E) =41l 12 JTA JAL | OKAFUK | FUKMYJ 24,600 59%
=] JAL JTA [ MYJFUK [ FUKOKA [ 24,500 59%
BER(PE)=EEXXB|RRPA)X| _ERE JAL JAL | HNDKOJ | KOJASJ 27,600 64% | A:28,000, £:29,200, £:31,800, H:29,900
BR(FFD]  JAL JAL | HNDITM | ITMASJ 25,500 65% | 1:26,700
BEXER | BRE JAL JAL | ASJUKOJ [ KOJHND 27,100 65% | H:30,300, 7K A:29,600., %:31,300, 1:29,500, H:29,000
KBR(FFD [ JAL JAL | ASJITM | ITMHND 27,100 63% | JK7:26,800, £:26,500
RRCPHE) =EFfB(RR(CHE)%| ERB JAL JAL | HNDKOJ | KOJKKX 28,200 64% | A:29,100. £:30,300, £:32,200, H:29,000
BEAE [ JAL JAL | HNDASJ [ ASUKKX [ 28,600 58% £:29,000
ERER ERE JAL JAL | KKXKOJ | KOJHND 27,700 64% :30,900, 7k A:30,200. % +:31,000
BEKRS | JAL JAL | KKXASJ | ASJHND | 28,600 58% | A H:29.000
RRCPHE) =@zB(RRCHE) | ERS JAL JAL | HNDKOJ | KOJTKN 28,300 65% | H A:30,000, £:31,200, 1:31,900, H:32,300
BEKRS | JAL JAL | HNDASJ [ ASJTKN | 31,000 58% |&1:31,400
BB BERS JAL JAL | TKNKOJ [ KOJHND | 29,100 64% [H:32,300. 7kA:31,600, £:32,400, F:31,500, H:31,900
R (FE) =%kBH[ R (PHE) %] BES JAL JAL | HNDKOJ | KOJOKE | 30,300 64% | H:31,200, % 34,300, H:32,
TKBREE | BRES JAL JAL | OKEKOJ | KOJHND 30,300 64% | H:33,500, 7kK:32, £:33,600, +:32,700, H:33,100
RR(PE) =5 [RE(RA)%| BRS JAL JAL | HNDKOJ | KOJRNJ 30,400 65% | 7A:31,300, £:32,500, £:34,400, H:31,200
5% ERE JAL JAL | RNJKOJ [ KOJHND 29,800 65% |K #:33,300, H:33,200
KR (R =BERB[ AR (FHE| BRS JAL JAL | ITMKOJ | KOJASJ| 23,500 62% A 24,000, H:23,900
BEAER | BRE JAL JAL | ASJKOJ | KOJITM 24,700 60% |£:25400, +:25,100, H:24,900
KR () =BRB| KR (G %|_ERS JAL JAL | ITMKOJ | KOJKKX 24,600 61% |H:25400
EERE [ JAL JAL | ITMASJ | ASJKKX 23,500 58%
EREBXE ERE JAL JAL | KKXKOJ | KOJITM 25,300 60% |4 H:26,000, £:25,700
EERE [ JAL JAL | KKXASJ | ASJITM 23,500 58%
KB (D) =@ B[ KIR(FF | ERES JAL JAL | ITMKOJ [ KOJTKN| 25,900 61% | +:26,000, H:26,300
BmeER ERE JAL JAL | TKNKOJ | KOJITM 26,700 60% |&+H:27.100
BEKRS | JAL JAL | TKNASJ | ASJITM 25,900 58%
KR () =ik BRE| KR (R R| BES JAL JAL | ITMKOJ | KOJOKE 27,100 61% |+:27,200, H:27,500
hKBEE | BRES JAL JAL | OKEKOJ | KOJITM 27,900 60% |4 H:28,600. £:28,300
KR () =58 [KIRFED | BRE JAL JAL | ITMKOJ | KOJRNJ 26,800 62% |H:27.600
il ERS JAL JAL [ RNJKOJ [ KOJITM 28,000 61% |4 H:28,700, £:28,400
BR=EXXE EBEFE BERE JAL JAL | FUKKOJ | KOJASJ 18,400 64% |H:19,300
BEXER | BRE JAL JAL | ASJKOJ | KOJFUK | 20,200 61% |2:21,100
EE=ERE FEEES \BEAS | JAL JAL | FUKASJ | ASJKKX 19,800 61%
ERGR | BEXS | JAL JAL | KKXASJ | ASJFUK 19,800 61%
EE=EzE EHEES ERE JAL JAL | FUKKOJ | KOJTKN 22,200 60%
BEKRS | JAL JAL | FUKASJ | ASJTKN | 22,200 60%
meER BERS JAL JAL | TKNKOJ | KOJFUK 22,200 60%
BEKRS | JAL JAL | TKNASJ | ASJFUK | 22,200 60%
RROCHA) =5NE|ERCHEXE|__HE JAL RAC [ HNDISG [ ISGOGN 37,500 57% | :48,700, £+:50,100. H:38.400
SPREGIRE) [ JAL RAC | HNDOKA | OKAOGN| 32,600 62% | %::32,800. H:35,000
SHEFR [PHEGREH) | RAC JAL | OGNOKA| OKAHND| 32,600 62% 2,800, H:35,000
Al RAC JAL | OGNISG | ISGHND 37,500 57% | A% 1:43,000. B:38,100
KR (B =5ME| SHEFEK [ EEGEH)| RAC JAL | OGNOKA| OKAITM 39,400 50%
KBR () [ i9#8 GBER) | JAL RAC | ITMOKA [OKAOGN| 39,400 50%
KR (B#8) =5 3E | KR (Bg) % HiE JTA RAC [ KIXISG [ ISGOGN 35,800 51% |+:36,400, H:36,300
SRAR(ARER) | JTA RAC [ KIXOKA [OKAOGN| 39,400 50%
SHER [PHEGREH) | RAC JTA [ OGNOKA[ OKAKIX 39,400 50%
Al RAC JTA_| OGNISG | ISGKIX 35,800 51% | +:36,400. H:36,300
£HE(R =50E SBPEEX [HHEGH)| RAC JTA [OGNOKA[OKANGO| 40,400 52%
AHEChED) %P8 (&) | JTA RAC [ NGOOKA[OKAOGN| 40,400 52%
el L= 5 3RE [hiB (BB [ JTA RAC | OKJOKA [ OKAOGN| 37,600 52% | & +:39,300
h#8 (FRE) [ RAC JTA [ OGNOKA[ OKAOKJ| 37,600 52% 9,300
1B =5RE &8 (BRE) | RAC JTA [ OGNOKA[ OKAFUK 32,500 53% 3,300, H:33,800
b8 GR&R) | JTA RAC | FUKOKA | OKAOGN| 32,500 53% 3,300, H:33,800
PR (8 =5 3RE [ fiE  [JTA/RAC] RAC | OKAISG | ISGOGN 12,900 69% 4,000
Al RAC _|UTA/RAG| OGNISG [ ISGOKA 13,500 68% | H% H:13,800
R CRE) =AKB[RZECHA) $[h# (B | JAL _[JTA/RAC| HNDOKA [ OKAUEO | 25,000 61% 8,300, +:26,500
2kE% 3@ GRE) [ urarac] JAL [UEOOKA [ OKAHND| 25,000 61% 5,500, £:23,400. H:26,500
KR () = AR B[ KPR (D E [ h#8GRH) | JAL [JTA/RAC| ITMOKA | OKAUEO | 22,900 59% 3,900
AXRER #8 GIBER) [aurarac]  JAL [ UEOOKA [ OKAITM 22,900 59% :24,700, £:23,000
KPR (B87E) = Ak 5| KPR (B78) [ p#B(GRH)| JTA [JTA/RAC| KIXOKA | OKAUEO| 31,700 43% % +:32,300
AREH #8 GIBER) [aurarac]  JTA [ UEOOKA [ OKAKIX 30,900 44% % +:31,100. H:31,600
BHE (P =AKB[AEE (#5948 (P | JTA [JTA/RAC|NGOOKA| OKAUEO| 32,200 47% _|A:32,900, £:32,300, F H:32,700
AXE P48 (GBFR) [saurarac]  JTA [ UEOOKA | OKANGO| 33,600 45% 3,700, £ H:34.100
wBE=AXE BERE P (RE) | JTA [JTA/RAC| FUKOKA | OKAUEO| 27,900 41% 7,800
AKEF |48 BH) [avuarac] JTA |UEOOKA| OKAFUK| 25800 45% E H:26,200
RRCHE) =R [RRCIE) R JAL JAL | HNDITM | ITMOKI 21,000 62% 1,900, +:21,100
JAL JAL | HNDIZO | 1ZOOKI 22,500 56% | JK:22,400. A:23,700. %:26,200. T:26,600
[E0E3 JAL JAL | OKIITM [ ITMHND 20,400 63% |JK7:20,100, +:19,600
JAL JAL | OKIIZO | IZOHND 21,700 57% 7,900, £:27,300
SRR (BRE) =3k | hEE GRE) % )| JAL JAL | OKAITM | ITMKIJ 23,900 69% |H:24,900
HRE | [ JAL JAL | KIJITM [ ITMOKA 22,600 71%
EE=FIE ) __BEs RCHE)|  JAL JAL | FUKHND | HNDSPK 33,800 61% |7K:35,000, A:34,100, % H:35,400, +:36,600
IR TR 5 B)| JAL JAL | SPKHND [ HNDFUK [ 35,600 59%  |7K:35,700, A:36,800, £:41,300, +:37,200, H:37,600
ZHE(PE) =F/E[ 2B (hE) %[ B[ JAL JAL | NGOHND|HNDOBO| 22,000 68% | HA%£:22500, +:22,900, H:23,300
I % B)| JAL JAL | OBOHND[HNDNGO| 20,200 71% 120,700, H:22,200
ZHE (P =1eJII[2EE (hE)) %[ B[ JAL JAL | NGOHND | HNDAKJ 20,900 71% 24,900, H:21,400
FENIE B)| JAL JAL | AKJHND [HNDNGO| 20,200 72% E
B =% BINFE B[ JAL JAL | TAKHND [HNDMMB| 32,600 63% 5,600, H:34.800
ESES B)| JAL JAL _|MMBHND| HNDTAK| 33,300 62% 4,900, T:33,400. H:35,100
BE=%H5 BER B[ JAL JAL | TKSHND [HNDMMB| 33,500 62% 6,300, H:35,000
ESE B)| JAL JAL _|MMBHND| HNDTKS [ 31,500 64% 3,100, 1:33,700. H:33,800
A=K A% B[ JAL JAL | OITHND [HNDMMB| 23400 75%
ESES )| JAL JAL _[MMBHND]| HNDOIT 23,400 75%
R =% RIGFE ) JAL JAL | NGSHND [HNDMMB| 23,900 76%
ESES )| JAL JAL _|MMBHND|HNDNGS| 23,900 76%
REAR=%m5] REA S ) JAL JAL | KMJHND [HNDMMB| 23,900 75%
ESES B[ JAL JAL _[MMBHND|HNDKMJ | 23,900 75%
BB =25l =I5 5 B[ JAL JAL | KMIHND [HNDMMB| 23,900 75%
ESE B)| JAL JAL _|MMBHND| HNDKMI [ 23,900 75%
BRE=%i#5 BRER | B[ JAL JAL | KOJHND [HNDMMB| 23,900 76%
ESES HCEE)[ JAL JAL _[MMBHND[HNDKOJ| 23,900 76%




EHR=EEXXE )| JAL JAL | AOJHND | HNDASJ 35,000 63%  |7K:35,500, £ +:36,400
[ JAL JAL | ASJHND [ HNDAOJ| 36,000 62% | H:36,400, £:36,800. H:37,200
HME=8EXXE ) JAL JAL | AXTHND | HNDASJ 36,900 58% |4:38,100, +:32,400
)| JAL JAL | ASJHND | HNDAXT | 35,300 60% | A :37,300. £:32,000
IMA=BEKRE ) JAL JAL _|KMQHND | HNDASJ 30,600 64% &t
)| JAL JAL [ ASJHND [HNDKMQ| 30,600 64% | R:
B =g ) JAL JAL | TAKHND [ HNDKUH| 33,600 60%
[ JAL JAL | KUHHND [ HNDTAK | 33,200 61%
EE=2% ) JAL JAL | TKSHND | HNDKUH| 32,800 61%
[ JAL JAL | KUHHND [ HNDTKS [ 31,500 63% H:32,200
K=& ) JAL JAL | OITHND | HNDKUH| 22,400 76%
[ JAL JAL [ KUHHND [ HNDOIT 22,400 76%
Rk =8I ) JAL JAL | NGSHND | HNDKUH| 22,900 76%
[ JAL JAL | KUHHND [ HNDNGS| 22,900 76%
REAR=IE% ) JAL JAL | KMJHND [ HNDKUH| 22,900 75%
[ JAL JAL | KUHHND [ HNDKMJ [ 22,900 75%
=I5 = EIEE ) JAL JAL | KMIHND [ HNDKUH| 22,900 75%
[ JAL JAL | KUHHND [ HNDKMI [ 22,900 75%
ER&=9IK ) JAL JAL | KOJHND | HNDKUH| 22,900 76%
[ JAL JAL | KUHHND [ HNDKOJ| 22,900 76%
L=k ) JAL JAL | HIJHND [HNDOBO| 32,800 62% A#£:33,300, £:34.100, H:33,600
[ JAL JAL [ OBOHND| HNDHIJ 31,200 63% |£:33,300, +:33,700. H:32,500
BI=m%Ik ) JAL JAL | TAKHND [HNDOBO| 33,700 60% | H A% H:34,200, +:34,900
[ JAL JAL | OBOHND| HNDTAK| 31,900 62% | & £:34,800. H:33,500
BE=%IL ) JAL JAL | TKSHND [HNDOBO| 31,100 63% 2,700, +:33,500, H:33,100
[ JAL JAL | OBOHND[ HNDTKS | 30,200 64% 3,300, H:32,200
AR=%Ik ) JAL JAL | OITHND [HNDOBO| 22,000 76%
[ JAL JAL [ OBOHND [ HNDOIT 22,000 76%
RIB=HIL ) JAL JAL | NGSHND [HNDOBO| 22,500 76%
[ JAL JAL | OBOHND[HNDNGS| 22,500 76%
BA=%L ) JAL JAL | KMJHND [HNDOBO| 22,500 76%
[ JAL JAL | OBOHND[HNDKMJ| 22,500 76%
BIE=%% ) JAL JAL | KMIHND [HNDOBO| 22,500 76%
[ JAL JAL | OBOHND| HNDKMI [ 22,500 76%
BR&E=%k ) JAL JAL | KOJHND [HNDOBO| 22,500 76%
[ JAL JAL | OBOHND[HNDKOJ| 22,500 76%
TEN=5# Y[ JAL JAL | AKJHND [ HNDTAK | 33,000 61% |/K7K:33,300, £:33,400. £ H:33,600
)| JAL JAL | TAKHND | HNDAKJ | 32,200 62% | JK7:32,600., £:36,100, £:36,900, H:33,400
HEE=E0 ) JAL JAL | HKDHND | HNDTAK| 33,300 56% & +:34,200, H:34,800
[ JAL JAL | TAKHND [ HNDHKD | 31,000 59% |4 2,600, :33,900. H:32,100
HE=E5 ) JAL JAL | HKDHND | HNDTKS 31,600 58% 2,700, H:33,500
[ JAL JAL | TKSHND [ HNDHKD | 31,200 58% 5,100, £:34,800. H:34,100
ERCPE) =&R JAL JAL | HNDHKD | HKDOIR | 20,600 64% :20,800, £:22,300
JAL JAL | OIRHKD | HKDHND | 20,900 63% £:18,200
R (D) =BR JAL JAL | OIRHKD | HKDITM 21,600 67% | A:23700, £:22,400, £:21,900. H:23,300
SRR (B) =78 JTA JAL | OKAFUK [ FUKTKS [ 29,300 55%
JAL JTA | TKSFUK | FUKOKA| 25,800 60% :26,000, £:26,900, £ H:27,300
EN=f5 JAL JAL | AKJHND | HNDTKS | 31,300 63% 2,100
JAL JAL | TKSHND [ HNDAKJ | 32,200 62% 2,400, %::33,800, 1:34,600, H:33,300
TBII=K% JAL JAL [ AKJHND [ HNDOIT 21,400 77% :22,400
JAL JAL | OITHND | HNDAKJ | 21,400 77% E B:22,400
AR (E3) =BR JAL JAL | OKDHKD | HKDOIR 17,600 53% 4,600
JAL JAL | OIRHKD | HKDOKD| 17,600 53% 7,100, H:14,600
SR =M JAL JAL | KUHOKD | OKDHKD | 20,200 54%
JAL JAL | HKDOKD | OKDKUH| 20,200 54%
S ==iR JAL JAL | KUHOKD | OKDMSJ| 24,200 52% | 5:18,000
JAL JAL | MSJOKD | OKDKUH| 21,100 58% | H:24,200, + H:23,400
FIR =EEE JAL JAL | RISOKD [ OKDHKD| 22,800 51%
JAL JAL | HKDOKD | OKDRIS 22,800 51%
FIR =#EE JAL JAL | RISOKD [ OKDKUH| 23,600 53%
JAL JAL | KUHOKD | OKDRIS 19,800 61%
ZR=FFK JAL JAL [ MSJOKD | OKDRIS 19,300 64%
BRE=EII JAL JAL | KOJHND [ HNDAKJ | 21,900 77%
JAL JAL | AKJHND [ HNDKOJ| 21,900 77%
RIG=1HE)II JAL JAL | NGSHND [ HNDAKJ | 21,900 77%
JAL JAL | AKJHND [ HNDNGS| 21,900 77%
REA=JBIII JAL JAL | KMJHND [ HNDAKJ | 21,900 77%
JAL JAL | AKJHND [ HNDKMJ| 21,900 77%
EEEENT JAL JAL | KMIHND [ HNDAKJ | 21,900 77%
JAL JAL | AKJHND | HNDKMI | 21,900 77%
BERE=/"kERE JAL JAL | ASJUTKN | TKNOKE 11,900 60%
JAL JAL | OKETKN | TKNASJ 11,900 60%
B2 B=E (5 JAL JAL | TKNOKE | OKEOKA 15,650 57%
3 JAL JAL | OKAOKE [ OKETKN| 15,650 57%
RRCPHE) =EF8 JAL JAL | HNDKOJ | KOJTNE 25,700 60% | A:26,100, :27,300, £:29.900, H:27,900
JAL JAL | TNEKOJ [ KOJHND | 24,400 62% | H:27,100, 7kAK:27,200, %:17,600 ,000, H:27,500
RR(CRHE) =BAE JAL JAL | HNDKOJ | KOJKUM| 29,500 55% | H:28,500, 7K:30,000. A H:31,000, %:32,000, 1:32,700
B 7 JAL JAL | KUMKOJ|KOJHND | 28,000 57% |H#+:31,000, 7kA:29,000. H:32,000
KR () =BAS b %| JAL JAL | ITMKOJ | KOJKUM| 23500 53% | H:24,200
JAL JAL | KUMKOJ | KOJITM 24,600 51% |&+ H:25,000
JAL JAL | OKAASJ [ ASJKOJ | 27,300 52%
JAL JAL | FUKKOJ [ KOJKUM| 19,200 52%
JAL JAL | KUMKOJ| KOJFUK| 19,200 52%
EE—TETE JAL JAL | FUKKOJ | KOJTNE | 17,800 54%
JAL JAL | TNEKOJ | KOJFUK| 17,800 54%
LE=18JI JAL JAL | HIJHND [ HNDAKJ[ 31,700 63% | JK7:32,100. £:35,600, £:35,200, H:32,900
JAL JAL | AKJHND | HNDHIJ 32,300 63% 2,600, H:32,900
wil== JAL JAL [ MYJFUK | FUKKMI 18,200 64% H:18,900
JAL JAL | KMIFUK | FUKMYJ | 18,200 64% |£:18,900, £:19,200
(BB —BERE| BEAEH £ JAL _|JAL/RAC| ASURNJ [ RNJOKA| 17,550 58%
BF = HRFE [ARER)] JAL JAL | OIROKD | OKDHKD| 18,000 58% |+ H:15,000
HEEHF  [ALR(EER)| JAL JAL [ HKDOKD | OKDOIR 18,000 58% |+ H:15,000
B5M=8ZXE 5% [P 3BE) [AL/RAC] JAL [ RNJOKA | OKAASJ 15,000 68%




RRCRE) =% SEE R JAL JAL | TSUNGS | NGSHND| 27,900 57% |7:28,700. £:30,300, *:
] JAL JAL | TSJFUK [ FUKHND [ 28,100 54% | A:29,100. %
RRCAE) RS JAL JAL | HNDNGS | NGSTSJ| 27,900 57% |A:28,700,
=] JAL JAL | HNDFUK | FUKTSJ 28,100 54% | A:29,100.
R (PE) =E8%I] AERIH RIG JAL JAL | FUINGS [NGSHND| 27,000 57% | A H:26,300, &: £:28,000
=] JAL JAL | FUJFUK [ FUKHND [ 31,000 53% | A:32,400, &: 2,000, H:32,600
RRCAE) RS JAL JAL | HNDNGS| NGSFUJ | 27,000 57% |F H:26,300, 2 28,000
=] JAL JAL [ HNDFUK | FUKFUJ 31,000 53% | A:32,400., :32,000, H:32,600
HERCPH) =& =] JAL JAL | IKINGS [NGSHND| 25,500 57% |%:27,100, £:26,500
& RIF JAL JAL [ HNDNGS| NGSIKI 24,200 60% | H:25,100, A:25,500, £:25,900, +:25,000, H:27.200
KR () =3 5% B Rk JAL JAL | TSUNGS | NGSITM 20,300 58% | H H:19.500
&b JAL JAL | TSJFUK | FUKITM 19,700 54% | A£:21,100, £:21,500, H:20,500
PG -1 JAL JAL | ITMNGS | NGSTSJ 20,300 58% | H H:19.500
& JAL JAL | ITMFUK | FUKTSJ 19,700 54% | A£:21,100, £:21,500, H:20,500
KRFR) =BT AEBRIE 3k JAL JAL | FUJFUK | FUKITM 21,600 55% | AK£1:21,800
RIF JAL JAL [ FUINGS [ NGSITM 18,600 59% | H:17,900, £:20,100. H:19,400
KR (D) %[5k JAL JAL | ITMFUK | FUKFUJ 21,600 55% | A% +:21,800
RIF JAL JAL [ ITMNGS [ NGSFUJ [ 18,600 59% |H:17,900, £:20,100. H:19,400
KR () =Bk K S Rk JAL JAL | IKINGS | NGSITM 17,100 61%
AR(FHHE| KIF JAL JAL [ ITMNGS | NGSIKI 17,100 61% 8,600, H:17,800
HEE &2k JAL JAL | TSJFUK | FUKTKS | 20,900 55%
=] JAL JAL | FUJFUK [ FUKTKS [ 23,800 53%
12 JAL JAL | TSJFUK [ FUKMYJ | 20,350 51%
=] JAL JAL | FUJFUK [ FUKMYJ [ 22,550 51%
12 JAL JAL | TSJFUK | FUKKGZ | 22,150 51%
=] JAL JAL | FUJFUK [ FUKKGZ | 24,400 51%
[ JAL JAL | TSJFUK [ FUKHNA| 32,500 55% |4
=] JAL JAL | FUJFUK [ FUKHNA [ 35,400 53% |4
[ JAL JAL | TSJFUK | FUKKOJ 16,800 57% |4
=] JAL JAL | FUJFUK | FUKKOJ 19,700 55% |4
Sl G JAL JAL | TSJFUK | FUKIZO 23,100 51%
ESREIE FE] JAL JAL | FUJFUK [ FUKIZO 25,300 51%




SE AR E 2022/10/30

< ey
XA BERL et 11/20-11730| BEH e
TR | KB [ KD [ XD Als|%
ERCPHE) =28 JAL _|[JTA/RAC| HNDOKA|OKAMMY| 27,500 62%  |7K:26,700, A:26,800, % +:28,200, H:25,100
B JTA/RAC|_JAL _|MMYOKA| OKAHND | 26,500 63% | 7K:26,200, A%:26,600, £:25,200, H:27,800
FR(CPHE)=HE |[RRCAA) JAL _|JTA/RAC| HNDOKA | OKAISG 28,300 64% KA H:27,600. % +:28,800
JAL JTA | HNDKIX | KIXISG 34,800 60% |7K:33,800, A:33,400, £:33,800, +:34,200, H:34.100
AiEE | JTA/RAC| JAL | ISGOKA | OKAHND| 27,900 65% | H.28,300. 7K:28,000, A:28,400, 28,700, £:26,700. H:29,700
KR () =% B | KR (1) [ JAL JAL | ITMHND [HNDMMB| 25,500 68% | H:25,900, 7k K:25,200, &: :26,700, H:26,800
JAL JAL | ITMSPK [SPKMMB| 21,000 73% |1:27,500. H:22,200
ESSAES JAL JAL | MMBHND| HNDITM 26,500 66% | H:27,000, AK:27.400, £:28,800, +:26,100, H:28,100
JAL JAL | MMBSPK]| SPKITM 21,000 73%  |%:23,000, +:21,900. H:25500
KB (B#8) =i Al | KR (B ) % JAL JAL | KIXHND [HNDMMB| 24,300 69% | H:25900, 1:26,100
ESES JAL JAL | MMBHND| HNDKIX 24,400 69% | H:25,000., A:24,600. £:26,900. H:27,000
KR () =he)Il [ KBR () % JAL JAL | ITMHND | HNDAKJ 26,200 66% | H:28,000, £ 7,100, H:25.100
JAL JAL | AKJHND | HNDITM 25,400 67% |/K:25,700, &: 6,600, T:25,000. H:26,900
K (B8d8) =H)Il JAL JAL | KIXHND | HNDAKJ | 23,000 70% _[H:23600. 7kA:23,200, £:25,400, F:25,000, H:24,200
JAL JAL | AKJHND | HNDKIX 24,200 68% | 4:24,500, £:24,400, H:25,800
K () =8k JAL JAL | ITMHND [ HNDKUH| 26,100 66% | £:26,500, £:24,900. H:25700
JAL JAL | KUHHND | HNDITM 25,600 66% |H:25,500. A:26,300, £:27,400, £:25,800. H:26.500
KBx (FA78) =8I JAL JAL | KIXHND [ HNDKUH| 23,600 69% |:23,800, :23,500. H:24,800
JAL JAL | KUHHND | HNDKIX 24,400 68% |£:25500, +:25,600. H:25400
KR () =HI5 JAL JAL | ITMHND [HNDOBO| 26,800 64% |H:27,800, 7k K £:27,300, +:25,100, H:25,500
JAL JAL | OBOHND| HNDITM 25,500 66% | H:25,400. A:26,200, £:27,300, £:27,200. H:26.500
KR (B#8) =HI5 JAL JAL | KIXHND [HNDOBO| 22,600 70% B /kA£:23,100, +:23000, H:24,600
JAL JAL | OBOHND| HNDKIX 23,100 69% | B 7:23,800., £:25,200, £:27,000, H:25,400
KR (A7) =EgE JAL JAL | ITMHND | HNDHKD | 23,900 64% | F:24,800, 7K:24,500, &: 1:26,100, H:26,400
JAL JAL | HKDHND | HNDITM 25,800 61% | 5:25,700, A:26,500, & 5,200, H:27,700
PNACGEIEET JAL JAL | KIXHND [ HNDHKD [ 21,900 67% | H:23,200, 7K:23,600, A:22,400 H:25,500
JAL JAL | HKDHND | HNDKIX 24,500 63% |4 1:25000. H:27,000
KR () ==iR JAL JAL | ITMHND [ HNDMSJ| 23,900 63% | B % +:22,400, B:22,100
JAL JAL | MSJHND | HNDITM 23,000 64% | A:23900, £:24,600, £:23,100. H:20,600
K (B8) ==iR JAL JAL | KIXHND [HNDMSJ| 19,700 69% |AA% T H:21,200
JAL JAL | MSJHND | HNDKIX 21,800 66% | £:22700. H:19,500
K () =F21% JAL JAL | ITMIZO [ 1ZOOKI 15,900 59%
JAL JAL | OKIZO | 1ZOITM 16,100 59%
KR () =¥ 8B JAL JAL | ITMKOJ [ KOJTNE 21,600 56% | H:22,600, 1:24,600
JAL JAL | TNEKOJ | KOJITM 22,300 54% 3,000, £ H:22,700
KR (B =24 JAL _[JTA/RAC[ ITMOKA [OKAMMY[ 23,000 64% 3,300
JTA/RAC|  JAL |MMYOKA| OKAITM 25,400 60% K £:25,000. 7K:24,600. % H:26,700
KR (B =28 JTA [JTA/RAC| KIXOKA [OKAMMY| 31,800 50%
JTA/RAC|  JTA |MMYOKA| OKAKIX 31,000 51%
KR (D) =F1E JAL _|JTA/RAC| ITMOKA | OKAISG 26,200 63% | JKA:25,300, H:25,900
JTA/RAC|  JAL | ISGOKA | OKAITM 25,100 64%
K (B8d8) =R1E JTA _[JTA/RAC| KIXOKA | OKAISG 32,700 54% |JK7k:31,800, & 1:32,300, H:33,000
JTA/RAC|  JTA | ISGOKA | OKAKIX 32,900 53% [/K7K:32,000. £:32,100. £:31,900
2 HE (hEf) =&l JAL JAL | NGOSPK|SPKMMB| 20,200 72% 3,300, £:24,700, H:21,100
Al [ARETFR | JAL JAL | MMBSPK| SPKNGO| 20,400 72% 0,800, £:20,900, £:21,800, H:23,600
ZHE(PE)=EE[25EChE R PEEB)| JTA [JTA/RAC|NGOOKA|OKAMMY| 33500 52% A%+ H:32,300
R JTA/RAC| JTA _|MMYOKA|OKANGO| 35,700 48% :34,900, 7k A %:33,800, £:34,000, H:35,300
ZHE(PE) =HE[AEE(PH R JTA__|JTA/RAC| NGOOKA| OKAISG 35,600 53% | H:35,500, 7k K€ +:33,600. H:33,500
aER [ JTA/RAC| JTA | ISGOKA |OKANGO| 35,700 53% | HKA£+ H:35000
AR (BT /) = /MR ALIE BT ) % 3 JAL JAL | SPKHND [HNDKMQ| 24,900 64% | B A:25,200, £:26,700. £:24,800, H:26,100
IMAFE JAL JAL _[KMQHND [ HNDSPK [ 24,200 65% | %::26,800. + H:26,200
ALIR (BT %) =Fal 1L [ ALIE B T ) % [ JAL JAL | SPKHND | HNDOKJ| 31,300 60% | B 7A:31,400, £:31,800. £:32,800, H:32,200
FE L% JAL JAL | OKJHND | HNDSPK | 31,400 60% | +:32,800, H:32,200
ALIE BT %) =[5 8 | 4L0R (G T %) % [ R JAL JAL | SPKHND | HNDHIJ 33,600 58%
FNEES JAL JAL | HIJHND [ HNDSPK| 33,600 58%
AR (BT =IO T ALIE G T l) % JAL JAL | SPKHND | HNDUBJ| 29,700 65% | H:31,500, A:30,000, £:30,600. +:30,500, H:30,400
I=ESE: JAL JAL | UBJHND | HNDSPK | 29,400 65% | 5:30,300, 7kA%:29,800, £:32,700, H:30,600
ALIRE BT Fm) = HE LR FTR) %[ JAL JAL | SPKHND | HNDIZO 31,500 59%
HER JAL JAL [ IZOHND [ HNDSPK| 31,500 59%
IR FTR) =KH LR FTR R |[RR JAL JAL | SPKHND | HNDOIT 32,200 62% | H:32,500, A:32,900, £:34,600, +:33,200, H:35,000
AR%E JAL JAL | OITHND | HNDSPK| 32,700 62% | H:33,500, 7k:33,900. £:33,300, £ +:35,200, H:34,100
ALIE BT F %) = R LR G T 2%) % 2 JAL JAL | SPKHND [ HNDNGS| 34,700 61% |£:36,400, + H:36,900
g% JAL JAL | NGSHND | HNDSPK | 33,000 63% | H:34,300, A:33,900, &:
ALIE BT %) = REA LR G T %) %[ 2 JAL JAL | SPKHND [ HNDKMJ| 32,900 62% | H:33,300, A:33,500. 4
REA S JAL JAL | KMJHND | HNDSPK | 31,800 63% |/K:33,500, A: E
ALIR BT %) = B LR G T %) % 2 JAL JAL | SPKHND | HNDKMI 31,300 64% | B A:31,700, &:
e JAL JAL | KMIHND | HNDSPK | 29,400 66% | B JKA:29,800,
HIEFFH) =ERS ARG TR [ HR JAL JAL | SPKHND | HNDKOJ| 31,000 65% | H:33,000, A:31,900, &:
EREXE JAL JAL | KOJHND | HNDSPK | 29,800 67% | 5:33,400, A:32,700, &:
HLIRGRTR) =4 (BE) | ALIE (BT F5%) % [ JAL JAL | SPKHND [ HNDOKA| 34,500 62% | H:34,900, K:35,300, &:
JAL JTA | SPKFUK | FUKOKA| 32,600 66% | B /KA:32,100, £:34.000, H:34,400
hEB (B %[ R JAL JAL | OKAHND | HNDSPK | 32,200 65% | H:32,600, 7K:33,100, :32,800., #:35500, :33,500, H:35,600
x JTA JAL | OKAKIX | KIXSPK 33,300 64% | B.31,500, 7K7A:31,200, %:34,600, T:34,900. H:30,600
JTA JAL | OKAFUK | FUKSPK | 32,600 66% | A JK:32,100, A:32,500, £:34,400, H:34,000
IR FHTFR) =FEAEFTRR JAL JAL | SPKHND | HNDISG 51,900 55% | JKA:50,700
AEE JAL JAL | ISGHND | HNDSPK| 51,900 55% | JK7K:50,800
ke =% &5l EEEES JAL JAL | FUKHND [HNDMMB| 33,000 66% | H.33,300. £:37,300. £:36,200. H:36,700
JAL JAL | FUKSPK [ SPKMMB| 23,100 74% 5,400, H:25,000
ESES JAL JAL _|MMBHND| HNDFUK | 33,300 65% 3,700, %:39,700, £:33,200, H:36,100
JAL JAL | MMBSPK| SPKFUK | 21,800 75% | 1:21,900, H:23,500
EEES ] FEEES JAL JAL | FUKHND | HNDAKJ | 32,100 66% | H:33,200, 7KA:32,200. %:35,700. T H:35,300
JENIES JAL JAL | AKJHND [ HNDFUK | 31,800 66% |/K:32,400, A:32,600, £:37,300, H:35400
[T FEEES JAL JAL | FUKHND | HNDKUH| 34,000 64% |%::35,200. + H:34,900
SR 3 JAL JAL | KUHHND | HNDFUK | 30,900 67% | H:31,600, 7K:32,600, :31,300, £:35,600, +:33,000, H:34,000
B =I5 FERES JAL JAL | FUKHND [HNDOBO| 34,200 63% | A JK:34,700, A:34,900, % H:35,700, £:35,500
HILEE JAL JAL | OBOHND| HNDFUK | 31,800 66% | A:32,000, £:36,500, +:34,400, H:35,000
R wmEX [Ex JAL JAL | FUKHND | HNDHKD | 31,400 63% | H:32,200., 7K:31,600, A:31,800, £:36,900. T:34,300. H:34,500
JAL JAL | FUKITM | ITMHKD 21,400 71% :23,600, % +:24,800, H:22,800
BEER JAL JAL | HKDHND [ HNDFUK [ 31,100 63% 1,200, 7K:32,800, A&:31,500, £:34,900, 1:33,800, H:35.600)
JAL JAL | HKDITM | ITMFUK 23,200 69% ,300, H:26.400
EE=F% EEEES JAL JAL | FUKHND [ HNDAOJ 23,000 72% 3,800
JAL JAL | FUKITM | ITMAOJ 20,500 72% :21,700, 7K:20,900
ERE JAL JAL | AOJHND | HNDFUK | 23,000 72% & 00
JAL JAL | AOJITM | ITMFUK 20,500 72% kA% £:20,900. H:19,800




=kl )| JAL JAL | FUKHND | HNDMSJ| 21,000 74%  |&+H:21,800
[ JAL JAL | MSJUHND [ HNDFUK | 21,000 74% &+ H:21.800
V[ JAL JAL | MSJITM [ ITMFUK 21,800 70%
= =% [ JAL JAL | FUKHND [ HNDAXT [ 31,700 58% |%:34,600, +:31,500. H:29,100
) JAL JAL | AXTHND [ HNDFUK| 31,100 59% | A:31,300, £:35,500, £:30,700. H:28,800
[ JAL JAL [ AXTITM [ ITMFUK 23,300 66% | H.22,900. H:22,200
#akE =L wmEFE [ERCEE)| JAL JAL | FUKHND [ HNDGAJ| 25,100 62% | H:26,200, 7K:25,200, 25,600, £:28,600, +:26,000, H:28,300
KB (D] JAL JAL [ FUKITM [ ITMGAJ 25,800 61% |H:27,100. A& 1:26,600, H:27,500
It HERCHE) | JAL JAL | GAJHND | HNDFUK | 25,100 62% | 7K7K:25,400, £:26,000, +:26.400
KR (FFD]  JAL JAL [ GAJITM [ ITMFUK 25,200 62% | H.24,800. H:24,500
ke = /M fakE 5 RCHE)|  JAL JAL | FUKHND [HNDKMQ| 25,900 64% | H:26,200, 7kA:25,800, % H:27,200, £:26,000
IMRFE HCEE)|[ JAL JAL | KMQHND [ HNDFUK [ 26,800 63% | H:27,000, A#£:27,200, 1:26,600
EE==4 EER  [PEGBE)| JTA [JTA/RAC| FUKOKA [OKAMMY| 26,800 52%
Eo%  [P#8(R%) [JTA/RAC] JTA [MMYOKA[ OKAFUK 26,900 52%
EE=H1E =% [FEGBEM) | JTA [JTA/RAC| FUKOKA | OKAISG 27,000 57%
AIEFE [0 () [JTA/RAC| JTA | ISGOKA | OKAFUK| 27,100 57%
ESS TRV f FE)|  JAL JAL | MMBHND|HNDKMQ| 23,400 70% _|H:24,000, A:23,600, £:25000, +:23,000, H:23,800
)| JAL JAL _|KMQHND [HNDMMB| 23,900 69% |%:25500, +:24,500. H:25900
iR =Rl V[ JAL JAL _|MMBHND| HNDOKJ| 30,600 65% | H:31,200, A:30,800. % H:32,200
[ JAL JAL | OKJHND [HNDMMB| 31,100 65% |4 H:32,700. £:32,900
ESCRIRDNCY ) JAL JAL _|MMBHND| HNDHIJ 32,500 63% | H:33,100, A:32,700, & H:34,100, £:33,400
[ JAL JAL | HIJHND [HNDMMB| 33,000 63% |4 H:34,600, £:35,200
iRl =HE ) JAL JAL _|MMBHND] HNDIZO 36,400 58% | /KA £:35,200, £:35,600
)| JAL JAL [ IZOHND [HNDMMB| 35,500 59% |/K:35,200, A:34,600, &t H:36,400
iR =#l ) JAL JAL _|MMBHND| HNDMYJ| 37,600 58% | H:36,900, 7K:34,700, :34,900. £:36,300, +:34,700. H:36,600
)| JAL JAL [ MYJHND [HNDMMB| 39,500 56% | JKZA:35,200.
ESCRIEE=EE ) JAL JAL _|MMBHND] HNDISG 54,100 56% |JKA:51,400, 4
)| JAL JAL [ ISGHND [HNDMMB| 56,100 55% | JKAK:51,400, 4
FEI=/1Mg Y[ JAL JAL | AKJHND [HNDKMQ| 23,200 69% | 4:23,500, %:
)| JAL JAL _|KMQHND [ HNDAKJ [ 23,100 70% | B:24,000. %:25.300. :I:. 4,900, F:24.200
Bl =it EE ) JAL JAL | AKJHND [HNDSHM| 24,400 71% |7K7K:24,700, #:25,200, £:24,600, H:27,200
[ JAL JAL [ SHMHND [ HNDAKJ [ 31,000 63% | B 1:32,400, 7k A:31,200. £:32,200, H:33,800
JENN=FE0 Y[ JAL JAL | AKJHND [ HNDOKJ| 30,400 65% | 1:30,600, H:31,200
[ JAL JAL | OKJHND [ HNDAKJ [ 30,300 65% | 31,200, £:33,700. £:33,300. H:31,400
TBINI=HZE ) JAL JAL | AKJHND | HNDIZO 34,800 50% | JK7K:29,200. £:29,600. £:29,400, H:35,800
[ JAL JAL | IZOHND [ HNDAKJ [ 34,700 59% | H.34,800. 7K:34,500. A:33,900. £:36,200. T:36,400. H:35,300
JENI=4210 Y[ JAL JAL | AKJHND [HNDMYJ| 37,400 58% H:ss 700, 7K A %:34,500, +:34,700, H:35.200
)| JAL JAL [ MYJHND [ HNDAKJ [ 38,200 57% 1] . %:38,500. £:38,100. H:36,200
JEN=%1E ) JAL JAL | AKJHND | HNDISG 53,900 56% 17K50,300. A.51.200. %:52,000. £:53.000
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RG% [ERCHE)| JAL JAL | NGSHND | HNDGAJ| 26,400 61% | H:26,900, A+:26,500, %:27,700, H:28,000
KB (D] JAL JAL [ NGSITM [ ITMGAJ 25,100 65% | H:24,300, +:25,800. H:24,600
If=FEA WLfs % [RECRE)|[  JAL JAL | GAJHND [ HNDKMJ | 24,000 63% | 424,400, £:24,200
KB (D] JAL JAL | GAJITM | ITMKMJ 25,900 62% | H:26,300
A% [EZECHE)| JAL JAL | KMJHND [ HNDGAJ 24,000 63% |£:24,600, H:25,200
KBR(FFD [ JAL JAL | KMJITM | ITMGAJ 23,800 65% | H:24,300, +:24,500. H:24,700
=2k W% [RECRE)|[  JAL JAL | GAJHND | HNDKMI 22,400 66% &
ABR(FD | JAL JAL [ GAJITM [ ITMKMI 23,200 66% | H-
EEFE  [EERCHE)| JAL JAL | KMIHND | HNDGAJ 22,400 66% & :23,600
KB (D] JAL JAL [ KMITM [ ITMGAJ 23,800 65% | A- 126,200, H:24,700
W =ERS W% [RECRE)|[  JAL JAL | GAJHND [ HNDKOJ| 22,000 68% |1 $:24,500, H:25,100
KB (D] JAL JAL [ GAJITM [ ITMKOJ 26,000 64% | A- +:26,100, H:26,400
BRER |[RR(BHA)| JAL JAL | KOJHND | HNDGAJ 22,000 68% | H: x: £:25,100, £:24,400, H:25,500
BRFEFD[ JAL JAL | KOJITM | ITMGAJ 26,200 64% | HB. . H:27,100
E=HZE e  [KERAEF] JAL JAL | SDJITM | ITMIZO 24,100 61% |B: ,700, B:21,100
HER [XREFEFD[ JAL JAL [ 1ZOITM [ ITMSDJ 22,700 63% [H:22,400. kAR#£ £:23,200. H:24,000
B =#xl Es [ XEREFD]  JAL JAL | SDJITM [ ITMMYJ 20,300 66% | B A%+ H:20,500
WL [KRED] JAL JAL | MYJITM | ITMSDJ 21,600 63% | 1:21,800




=K% A JAL JAL | SDJITM | ITMOIT 22,600 63% |H:23,100
R JAL JAL | OITITM | ITMSDJ 22,100 64%  |7K:23,100, £ +:23,600. H:25,500
& =R = JAL JAL | SDJITM [ ITMNGS 23,400 66% | H:22,100, 7k:22,700, H:22,000
] JAL JAL | NGSITM | ITMSDJ 24,300 65% | B:23,000, £:25,800, £:24,700. H:22.900
e =%x = JAL JAL | SDJITM [ ITMKMJ 24,800 63%
A JAL JAL | KMJITM | ITMSDJ 22,900 66% | B /KA%:23,100, £:23,400, H:22,600
& =52k = JAL JAL | SDJITM | ITMKMI 22,100 67% | 1:26,500
A JAL JAL | KMITM | ITMSDJ 22,500 66% | H:22,200, 7k A+ H:23,000, £:25,100
WeE=ERS = JAL JAL | SDJITM [ ITMKOJ 24,900 65% | H:24,500, +:25,000
A JAL JAL | KOJITM | ITMSDJ 26,100 63% | H:25,800, 7k A +£:26,600. £:27,300, H:27,000
FR=HE = JAL JAL | KIJITM | ITMIZO 24,300 59% |H:22,600
R JAL JAL | 1ZOITM | ITMKIJ 21,200 64% | H:.22,200
FR=Hl = JAL JAL | KIJITM [ ITMMYJ 20,400 64% B A%+ H:20.600
A JAL JAL | MYJITM | ITMKIJ 21,700 62% | 1:21,900. H:22,700
FR=K% = JAL JAL | KIJITM | ITMOIT 21,800 63% |H:23,200
R JAL JAL | OITITM | ITMKIJ 21,300 64% & +:22,100, H:24,700
FR=R&K = JAL JAL | KIJITM [ ITMNGS 20,800 69% | H:19,500, 7k:20,100, H:19.400
R JAL JAL | NGSITM | ITMKIJ 22,100 67% | H:20,800, £:23,600. H:21,900
FR=RX = JAL JAL | KIJITM [ ITMKMJ 24,000 63%
A JAL JAL | KMJITM | ITMKIJ 21,900 66%
FR=5K = JAL JAL | KIJITM | ITMKMI 19,500 70% |H:19.600
A JAL JAL | KMITM | ITMKIJ 20,800 68% | £:23,600. H:22,000
3 JAL JAL | KIJITM | ITMKOJ 23,700 66%
A JAL JAL | KOJITM | ITMKIJ 23,300 66% | H.23,200. H:25,800
INR=TE L PRl JAL JAL | KMQHND| HNDOKJ| 23,000 64% | H:23,400
JAL JAL | OKJHND [HNDKMQ[ 23,900 63% 2,800
ME=TRE B JAL JAL | KMQHND| HNDHIJ 24,900 62% 6,000
JAL JAL | HIJHND [HNDKMQ[ 25,800 60% 4,900
MA=INOFH B JAL JAL | KMQHND| HNDUBJ| 21,000 70% 1,400
BE: JAL JAL | UBJHND [HNDKMQ| 21,400 69% | B.22,800. H:20,200
ME=HE B JAL JAL | KMQHND| HNDIZO 26,400 58% |7K:24,600, A#£:25,000, F:24,600
JAL JAL | IZOHND [HNDKMQ| 26,400 58%
INR=TEH B JAL JAL | KMQHND| HNDTAK| 24,900 61%
JAL JAL | TAKHND [HNDKMQ| 24,900 61%
INR=TERMW B JAL JAL | KMQHND| HNDKKJ | 23,100 68% | 4::25400, H:25,900
BE: JAL JAL | KKJHND [HNDKMQ[ 22,100 69% |%::25,300. £ H:23,500
ME=K5 B JAL JAL | KMQHND| HNDOIT 25,400 64% | H:25,300, A+:26,300. £:27,500, H:27,000
PR JAL JAL | OITHND [HNDKMQ[ 24,900 65% 6,300, T:26,400. H:25,900
M= RIG B JAL JAL | KMQHND|HNDNGS| 25,500 66% . £:26,500
B JAL JAL | NGSHND [HNDKMQ| 25,400 66% :25,500. £:27,600. H:27,000
IME=FER B JAL JAL | KMQHND| HNDKMJ| 23,000 68% 24,200, H:25,200
BE: JAL JAL | KMJHND [HNDKMQ[ 23,900 67% | H:25,000, £:25,900, £:27,400
IME=TEIF B JAL JAL | KMQHND| HNDKMI | 21,400 70% 1800, H:23,000
BE: JAL JAL | KMIHND [HNDKMQ[ 21,400 70% 00, H:24,200
IM=ERE JAL JAL | KMQHND | HNDKOJ 17,500 77% 119,700
JAL JAL | KOJHND [HNDKMQ| 18,500 75% :20,500
ME=EH JTA _[JTA/RAC|KMQOKA|OKAMMY| 31,800 56% | /K7%:30,600, & 1:34,200, H:35,100
JTA/RAC|  JTA |MMYOKA|OKAKMQ| 31,800 56% |/K:30,600, A:30,900, % £:34,200, H:35,100
IMNR=F1E JTA _[JTA/RAC|KMQOKA| OKAISG 32,000 59% |J 1,900, #:34,100, +:34,000. H:35,300
JTA/RAC| JTA | ISGOKA |OKAKMQ| 31,900 59% £ B:35,000
fEIl==% JTA__|JTA/RAC| OKJOKA [OKAMMY| 31,600 51% |/K:30,200, K:30,600, &+ H:34,900
JTA/RAC|  JTA |[MMYOKA| OKAOKJ| 31,000 51% | H:33,900. 7K:30,200, A% +:30,600, H:34,900
fEL=R1E E JTA _[JTA/RAC| OKJOKA | OKAISG 31,800 55% |/K7K:31.700, £ 1:35.200, H:36.300
GiE% |48 (B#) [JTA/RAC| JTA | ISGOKA | OKAOKJ| 34,000 52% | H.34,700. H:36,100
BH== FErES F=iE] JAL JAL | KCZFUK | FUKKMI 22,500 58% |4:22,600, H:23,200
G FE ] JAL JAL | KMIFUK | FUKKCZ | 22,500 58% 3,200, £:23,500. H:23,000
SRR (IRE) =F & PR GRE) R (CRE) | JAL JAL | OKAHND [ HNDAOJ 29,600 66% 9,800, £::30,600, H:32,800
x [ JAL JAL [ OKAITM [ ITMAOJ 21,600 75% _|AKAZ£ L H:22,000
)| JAL JAL | AOJHND [ HNDOKA| 29,400 66% | 4::36,800, +:32,000, H:29,200
[ JAL JAL [ AOJITM [ ITMOKA [ 21,600 75% |HKAZ+ H:22,000
R (RE) ==iR ) JAL JAL | OKAHND [ HNDMSJ 26,600 69% | H A% 1:29.200. H:31,600
R%E )| JAL JAL | MSJHND [HNDOKA| 26,500 69% |£:35,600, +:27,600. H:24,600
ShEE(GIRE) =FA [P (RER) R E ) JAL JAL | OKAHND | HNDAXT | 28,900 64% | K:29,500, £:31,100, H:28,000
)| JAL JAL | OKAITM | ITMAXT 24,400 71% | H:25,700
EFE [ERCEHE)| JAL JAL | AXTHND [ HNDOKA| 30,900 62% | K:31,300, £:36,200. H:25.300
| | [RERU@EFH| JAL JAL | AXTITM [ ITMOKA [ 24,400 71%
SRR () =7E% | PR RER) R AIR(BFD | AL JAL | OKAITM [ ITMHNA 33,100 61% | H:31,600, H:32,500
=l JTA JAL | OKAFUK | FUKHNA | 38,400 57% |H:33,100, 7K:38,000. H:34,000
BR[| REREFD] JAL JAL | HNAITM [ ITMOKA | 33,100 61% | A H:30,300
=l JAL JTA_ | HNAFUK | FUKOKA | 38,400 57% |H:34,400. 7k A:38,000. H:35,300
SR (IR =1Lz | AR GRER) R (CRE) | JAL JAL | OKAHND [ HNDGAJ 25,200 64% | AK#£:25400, H:27,600
KBR(FFD[  JAL JAL | OKAITM | ITMGAJ 26,900 67% | A:27,400. H:27,800
W% [RECRE)|[  JAL JAL | GAJHND [ HNDOKA| 26,200 63% | 1:27,600, H:25,100
K (FFD] JAL JAL | GAJITM [ ITMOKA [ 26,300 68% | H:26,700
SRR (BRE) =(LE [HREGRE) | EE JTA JAL | OKAFUK | FUKSDJ 31,500 64% | A JK:31,000, AK:31,400. %:31,600, + H:32,100
KBR(FFD[  JAL JAL | OKAITM | ITMSDJ 24,700 69% |7K:25,700, £:25,500, + H:25,700
&5 2k JAL JTA | SDJFUK | FUKOKA| 32,000 64% | B JKA:31,500, £:33,600, +:32,400, H:34,100
JAL JAL | SDJITM | ITMOKA | 25,200 69%
PR IR E) =/Ma JAL JAL | OKAHND [HNDKMQ| 25,600 67% | 7:25,900, £:26,800. H:26,900
JAL JAL _|KMQHND[HNDOKA| 25,200 67% |%:31,500, 1:25,400. H:24,900
IR (R ==& JTA JAL | OKAFUK | FUKKCZ 26,400 58%
JAL JTA_| KCZFUK | FUKOKA| 26,300 58% | B A% 1:26.400
PR IR E) =4l JTA JAL | OKAFUK | FUKMYJ 24,500 59% kA%t H:24600
JAL JTA__| MYJFUK | FUKOKA | 24,500 59%
RR(CHE) =EZXB[(RR (AR %[ ERS JAL JAL | HNDKOJ | KOJASJ | 27,900 64% | H:27,600, A:28,000, £:29.200, F:33,000, H:29,900
BR(FEFD|  JAL JAL | HNDITM | ITMASJ 25,500 65% | +:26,700, H:25,000
BEXER | BRB JAL JAL | ASJUKOJ | KOJHND 27,100 65% | H:30,300, A:29,600, £:31,200, 1:29,500, H:32,400
KR (FEFD]  JAL JAL | ASJITM | ITMHND 27,100 63% |JK:26,800. H:26,800
RRCPAE) =EfB(RRCHE) | ERS JAL JAL | HNDKOJ | KOJKKX 28,200 64% | A:29,100. £:30,300, £:33,100, H:29,000
BEAS [ JAL JAL | HNDASJ | ASUKKX | 28,600 58% 9,000
ERER ERE JAL JAL | KKXKOJ | KOJHND 27,700 64% 0,900, AK:30,200, +:31,000, H:33,000
BEAS [ JAL JAL | KKXASJ | ASJHND | 28,600 58% | A H:29.000
RRCPE) =@zB(RRCHE)%| ERS JAL JAL | HNDKOJ | KOJTKN 28,300 65% | H A:30,000, £:31,200, 1:32,400, H:32,300
BEKRS | JAL JAL | HNDASJ [ ASJTKN | 31,000 58% |&1:31,400
BERS JAL JAL | TKNKOJ [ KOJHND | 29,100 64% | H:32,300, A&:31,600, £:32,700, +:31,500, H:34.400
R (FH) =k BE ERS JAL JAL | HNDKOJ | KOJOKE | 30,300 64% | B 7A:31,200, £:32,400. £:35,200, H:32,600
ERS JAL JAL | OKEKOJ [ KOJHND | 30,300 64% | H:33,500, A:32,800, £:33,900, +:32,700, H:35,600




RRCRE) =5 BERE JAL JAL | HNDKOJ | KOJRNJ 30,400 65% K:31,300, £:32,500, 1:35,300, H:31,200
& ERS JAL JAL | RNJKOJ [ KOJHND | 30,400 65% | 4::34,000, H:34,400
AR (R =BEZXB(XR(FEME| BES JAL JAL [ ITMKOJ | KOJASJ 23,500 62% 4,000, H:23.100
BEEAGR | BRS JAL JAL [ ASJKOJ [ KOJITM 23,800 61% | A:24,700. £:25400. 124,200, H:24.900
KR () =B B[ KIR(BHR|_ERS JAL JAL | ITMKOJ | KOJKKX 24,600 61%
BEKRS | JAL JAL | ITMASJ | ASUKKX | 23,500 58%
ERER BERS JAL JAL | KKXKOJ | KOJITM 25,300 60% |%::26,000, + H:25,700
BEKRS | JAL JAL | KKXASJ | ASJITM 23,500 58%
KR (B =@eB [ KRN | BERES JAL JAL | ITMKOJ | KOJTKN 25,900 61% | H:25,500, & +:26,000
AT ERS JAL JAL [ TKNKOJ [ KOJITM 26,700 60% |5:25,500, £+ H:27,100
EERE [ JAL JAL | TKNASJ | ASJITM 25,900 58%
KR () =k BB AR (%] BRS JAL JAL | ITMKOJ | KOJOKE | 27,100 61% | H.26,700. £:27,200
PKBREE | BRE JAL JAL | OKEKOJ | KOJITM 27,900 60% |£:28,600, + H:28,300
KR () =58 |[KIREFDF| BRES JAL JAL [ ITMKOJ | KOJRNJ 26,800 62%
i BERS JAL JAL | RNJKOJ | KOJITM 28,000 61% |%::28,700, + H:28,400
BR=EXXE FERES ERS JAL JAL | FUKKOJ | KOJASJ 18,400 64% |H:19,300
BEAER | BERB JAL JAL | ASJKOJ | KOJFUK 20,200 61% |£:21,100, H:19,700
BE=ERS FEEES |WEXS | JAL JAL | FUKASJ [ ASUKKX 19,800 61%
ERER | ®EXE | JAL JAL | KKXASJ | ASJFUK 19,800 61%
wE=EZE E=ES ERE JAL JAL | FUKKOJ | KOJTKN 22,200 60% |H:21,700
EERE [ JAL JAL | FUKASJ | ASJTKN 22,200 60%
AT ERS JAL JAL [ TKNKOJ [ KOJFUK 22,200 60% |H:21,700
EERE [ JAL JAL | TKNASJ | ASJFUK 22,200 60%
RR(CPH) =5PE|RRCAB) F| A\ JAL RAC | HNDISG | ISGOGN 50,000 42% |JK7K:47.600. £:48,700. £:49,600
ShEB (RER) | JAL RAC | HNDOKA [ OKAOGN| 32,600 62% |7K:33,300, A£:32,800. H:35.000
SMEFE 48 FEHE)| RAC JAL | OGNOKA| OKAHND | 32,600 62% |7K:33,300, A#£:32,800. H:35,000
RiE RAC JAL | OGNISG [ ISGHND | 43,000 50%
KR () =5E| SHEFK [ 4GB RAC JAL | OGNOKA| OKAITM 39,400 50%
KBR () F[iP#E GRER) | JAL RAC [ ITMOKA [OKAOGN] 39,400 50%
KBz (BAF8) =538 | KR (BdE) | HiE JTA RAC | KIXISG | ISGOGN 39,300 46% | B /KA %:35,800, £:36,400. H:36,300
SRAR (BB [ JTA RAC [ KIXOKA [OKAOGN]| 39,400 50%
SHEFE [H#EGRE) | RAC JTA [ OGNOKA| OKAKIX 39,400 50%
RiE RAC JTA | OGNISG | ISGKIX 39,300 46% | B KA %:35,800, £:36,400. H:36,300
ZEE(RE) =5ME_SPERK [HFHEEEHE)| RAC JTA [ OGNOKA[OKANGO| 40,400 52%
AHE (PE) R [P GRE) | JTA RAC [ NGOOKA[OKAOGN| 40,400 52%
&L= 53E BT [ JTA RAC | OKJOKA | OKAOGN| 37,600 52% |JK:38,200, %+ H:39,300
#&(FF;) [ RAC JTA | OGNOKA| OKAOKJ| 37,600 52% | B H:39,300, 7k:38,200
& =58E P48 (IBFR) | RAC JTA [ OGNOKA[ OKAFUK 32,500 53%  |7/K:33,200, £:32,700. £:33,300. H:33,800
P GRER) | JTA RAC | FUKOKA |OKAOGN| 32,500 53% |/K:33,200, £:32,700, £:33,300, H:33,800
SRR (R E) =5 3R E [ GiE  |JTA/RAC| RAC | OKAISG | ISGOGN 13,800 67% kA% £:12,900, H:14,000
| w\iE RAC _|UTA/RAC| OGNISG | ISGOKA 13,400 68% | B A%+ H:13,800, 7k:13,500
ERCHE) =AXE i JAL _|JTA/RAC| HNDOKA [ OKAUEO| 25,000 61% |7/K:25,200, £:28,300, £:26,500, H:23,300
sauutaRac]  JAL | UEOOKA | OKAHND | 25,100 61% |7K:25,200, A:25,400, £:25500, +:25,000, H:26.500
AR (EH =AKE JAL _|JTA/RAC| ITMOKA [ OKAUEO| 22,900 59%  |7K:23,100. £ 1:23,900. H:22,500
wautarac]  JAL | UEOOKA | OKAITM 23,000 59% 123,100, K:22,900. % H:24,700
AR (EFE) =AKE JTA _[JTA/RAC| KIXOKA | OKAUEO| 32,800 41% /:31,700, 7K:31,900, % +:32,300. H:31,800
sautarac]  JTA | UEOOKA | OKAKIX 31,600 43% | A:30,900, 7k:31,400. % +:31,000
ZHE (FH) =AKE JTA_|JTA/RAG|NGOOKA| OKAUEO | 35,300 42% |[H:32,200, 7k:33,100. £:32,900. £:33,300, + H:32,700
sauutaRac]  JTA | UEOOKA | OKANGO| 35,600 42% | B #:33,700, 7k K:33,600. + H:34,100
BHE=A%XE JTA _|[JTA/RAC| FUKOKA | OKAUEO | 27,900 41% | B 1:27.800
B sauutaRac]  JTA | UEOOKA | OKAFUK | 26,900 43% _[A#:25900. 7K:26,000, A:25,800, F:26,100, H:26,200
R CRE) =[RK 3R CHIE) [ XREFFD|  JAL JAL | HNDITM | ITMOKI 21,000 62% | A%:21,900, +:21,100, H:19,700
HE JAL JAL | HNDIZO [ 1ZOOKI 26,200 48% |7K:22,500, A:23,600, %:24,100, £:22,500
REFE [XER(FEFD|[ JAL JAL | OKITM [ ITMHND 20,400 63% |JK:20,100, B:20,100
HE JAL JAL | OKIIZO [ 1ZOHND 27,300 46% | KAK% £:21,700
AR () =3B JAL JAL [ OKAITM [ ITMKIJ 23,900 69% | H:24,900
JAL JAL | KIJITM | ITMOKA [ 22,600 71%
12k = LI G F i) JAL JAL | FUKHND | HNDSPK | 33,800 61% |7K:35,000, #:34,000, £:35,300, +:37,500, H:35,400
A JAL JAL | SPKHND | HNDFUK | 35,600 59% | A:36,000, £:41,300, £:37,500, H:37,400
A E(PE) =F/A JAL JAL | NGOHND[HNDOBO| 22,000 68% | B JKA%:22,500, £:22,900, H:23,300
JAL JAL | OBOHND|[HNDNGO| 20,200 71% | H:20,300, £:21,600, £:21,400. H:22,200
A E (PER) =Rl JAL JAL | NGOHND | HNDAKJ | 21,700 69% | 522,600, 124,900, H:22,800
JAL JAL | AKJHND [HNDNGO| 20,200 72% | H:20,400, 7k*:20,800, % +:20,900, H:22,400
BR=%E JAL JAL | TAKHND [HNDMMB| 33,000 62% | JK7K:32,600. £:34,000, £:35,400, H:35,300
JAL JAL _|MMBHND| HNDTAK | 35,000 60% | H:34,000, 7K:33,300, :33,500, £:34,900, *:33,200, H:34,800
EE=2E5 JAL JAL | TKSHND [HNDMMB| 37,200 57% | JK7:33,500. £:35,100. £:35,200, H:37,500
JAL JAL _|MMBHND| HNDTKS | 36,000 59% 5,400, 7K:31,500, A:31,700, £:33,100, £:31,600, H:33.300]
KA =%l JAL JAL | OITHND [HNDMMB| 23,400 75%
JAL JAL | MMBHND| HNDOIT 23,400 75%
RIG =25 JAL JAL | NGSHND [HNDMMB| 23,900 76%
JAL JAL _|MMBHND| HNDNGS| 23,900 76%
REAR =25l JAL JAL | KMJHND [HNDMMB| 23,900 75%
JAL JAL | MMBHND| HNDKMJ | 23,900 75%
B =25l JAL JAL | KMIHND [HNDMMB| 23,900 75%
JAL JAL _|MMBHND| HNDKMI | 23,900 75%
BRE=%iH5 JAL JAL | KOJHND [HNDMMB| 23,900 76%
JAL JAL _|MMBHND| HNDKOJ| 23,900 76%
EHR=-B.EXE JAL JAL [ AOJHND [ HNDASJ[ 35,000 63%
JAL JAL | ASJHND [ HNDAOJ| 36,000 62% |A: 6,800, H:37,200
RE=EXXE JAL JAL | AXTHND | HNDASJ| 36,900 58% | & 6,200, H:32,000
JAL JAL | ASJHND | HNDAXT | 35,300 60% A $:37,300, H:32,400
INA=TBEKRE JAL JAL | KMQHND | HNDASJ 30,600 64% |4 +:29,900. H:29,400
JAL JAL | ASJHND [HNDKMQ| 30,600 64% | F:31,000, H:29,800
En =2 JAL JAL | TAKHND [ HNDKUH| 34,000 60% | B:33,700. 7K7A:33,600. £:34,100. H:33,500
JAL JAL | KUHHND [ HNDTAK | 34,100 60% | H:33,500, kK: 34,000, F:34,400. H:33,400
BE=1I% JAL JAL | TKSHND | HNDKUH| 36,500 57% 32,600, H:36,400
JAL JAL | KUHHND [ HNDTKS | 35,700 58% K:31,500. £:32,300, £:32,800, H:32,200
R 